BERTRERNS

Change especially electriciancutstanding supplier

TERZAEERAN™mFiH

Transformer bushing and assembly product manual

AL XRERSIERAFRLF]

HEBEI TIANHUA ELECTRIC TECHNOLOGY CO.LTD

PE#AERMIS

WEBEITRhEHNGS
Changn espesially eloctriciancutstanding suppler

TEFZAEERANH™mFH

Transformer bushing and assembly product manual

AILXERSIERFIRADF

HEBEI TIANHUA ELECTRIC TECHNOLOGY CO.LTD

PE#AER M



I.E:
M
-
‘.

wu vrre ey

i

]

&

ENAE (ED EHEA

ERTAERLEED

AL A ERAS RNLE W ARAS
MRk RIS ’ B AN R L 15

AEEEgSHEARER | HERgquupARER HEiXsasuuaman HERSEHENMLR
B oAl e m——— LR —— L‘. LR LIEREEES
s —— | . B WAEEEE = A1 sigassemppeaEepy o

T | [LTELT LLTEET LLTEE T

STV LI DR S R
aEEdEn

HEBEI TIANHUA ELECTRIC TECHNOLOGY CO.,LTD
I XREBSHRRBRAE

BHETHRRAXEESHATRAINTRFER, NESFEZLAEDHNBRLE24/00H
AIFFEIE: 13703332099, F{)WHBRAERS.

FERIDA TiRARXERSEETRATINS R . BAREERNNESE, BISBEHHTH
SRR, BRGT. BRBNTMEES. LUEEPEHC. 8. SiRHEAR, FHESPRNTHE
FHER.

Bil, BAGAESEAI0EREERLTNUTRPNSEXR, SER10S1TERALSE
¥, FREFTHRERISOWIRRTEEARER, RISHTRESIEE . LIE "TlRE,

BERE" HLINEEES, HEHESEESERESHESIERR.
EMEEREFRERSPHEE R, ‘EIH‘HFE&!EIEEEE‘J ESSBHERGEGE.

o

- _u-_._n— E

e = K
- .-s"..":'.. TG -
—r -r,- ' wf %
£ o FL %, -
. | " e
. " e 5
.
¥

g = T
. P’f

b - B

'.kc -



%@E WIS : 0317-3628666 {£I:. 0317-3626666 HARFH . 13703332099 Mik: www.cnthdg.cn BB#i: th5689@163.com
TIANHUA BLECTRIC

METHEIEREMBEN Change eupecially lectricianouistanding supplier

N ZIHEMhIPEEE

| . RAIHEEH, GHIZL201220248835.5, FHENHPREFREEREN. E E
I: RMFREH, €HSZL201922359916.7, —HEHFR PN, Catalogue
e ERIPER: , : e
it i 7+ W% IS 3% PRI iR B 5% it ] SR 3 0B U
BERER. EHEHARGN, AABLERERTREE,

» BiRSh e, EHENEES, BRMAXAERN, AnTHEERNS.
Bl EREFEEERENR, SOTHEMMS, NNER G,

R, EHESEEERAN, SoEHEMRG, RO EHEER.
AT, BEEHEEN, ERAMEMES, HEFHRAREL.

L R

"‘ﬂﬁ ﬁé

15-16

FATIEW 10-35kV FAHFAEW 1-35kV

5 i 3—25 i Z 25 4? * ’ 48- 63 & # B§?5

BT BEERT 10-35kV

100-107 3“5 108-109 T* '_# 110-115
ANSIEHFER 1-2TkV ASEBRER 1-36kV #iE TR BFD

%é 116-117 i ; fﬁié "rl.”"

118-121 122-123  FE4 124-132

RERFERESERTEAMONEIRENMESRARAAOBREEGE.

02 TIANHUA TIANHUA 03



MBI . 0317-3628666 {53. 0317-3626666 HAER. 13703332099 Mik: www.cnthdg.cn BB#i: th5689@ 163.com

FEE

METHETWEEEN Change sypecially eloctricianoutstanding supplies

B XDEIIMAGLT B XDL-4ilfit
HEFERRAFETREDF X
FRiE: (1) $EEHUNEN, AEdSHEERATELENBRARY, BMESFHFEWMEHTER
XDORARR M RLTHEEREAER, 278 REFRERP.
EARFRTRATME, REDEHRS, FS=HEX, (2) YEEHRGSMTTHBRSMEM, Tl 7R T R i e #Eh 7 2 R ki
| R AP i 3 B IF 2% i) 0B XY 0 ED 26 B8 AR BRI # R DY) S VIR IR AP,
TiEsrtt: - 1
: | EARRK
1. FRRE: -35C - 55C; | | s W O S ’ HIBRRE:
2, MR, NGB H25TH, =90% : : =k o ——
3. Mt RSN, ] ERHEE | i e ' <
R TR T —— | s
1. it At hRF. . W%, QiET _ _ N _ _ L e = B IEE
oy XDL=2 ¥DL-3  XDL-3C XDL-3D XDL-3K #8. TH.ZKC.001 : _“; <0~
2, TEMM: SEESHOMIH TR EREA &S XDL-35 R —— B
WAFHER , AT FRUBRERE S A BBREE, N o e T 1
THELLIE ARG M, IMREIE TR R, K Bl e e 3 W — |
BFMTER, OaETRITEE. . o aevage i | - maw_[ 1[0
ERWE: ﬁ'l—’ff—q Lol o e R e & . BT
. MR Pl T, BT ! s I
2, MULHHEAFAREA DI G B IR, = L J miaca - O o | e RFN
L . 11 *.1,l=_‘-'.'l_.1||. LI, (W1 " e =
el ;..] T - $ = 2y o 2% X4 i'-EEH's__ |
1, REBETHN, KETESHL EF— 06007, R e = — 1] =
B REAS SHATIHE, QUK RS q A ; s i t8  the =T o ‘
HEE, TSR, . - —1 H‘-‘,!*.Ei".!- O ffEs Al RHES B BRES
2, At R TS F2ommidmi A ES, SHme i e i Rt O-Aili: ER O-B#l: BRFRELENR
S RHET SRR, bty 961 B, 4 K o : ——
1 (& | —kx | . 1 e BB o S
= RESIRNR: | T 63 —b [ o U RS ‘ *_;]-z & "
R —TT ]  —— 1 - = -
XD 0O — 0O 2—aEFsEDERE wml | 90 1] - : o5 | | g __ G2 _
I—EEEEHENE iy 53 & _ #¥ aner —1 W , I
IC—4R R E AR L | e £ TH.ZLC.001 g s - S A -
ID—EE R E NN NRTERTT | #45 | e RS, XDL-5S . I . 3 | sartem |
IK—FE AR AR AN S N 86T NN T - S o e
35—aWH E NI A gt | "W i , o
SS—{A M FE N FE MR AT G P —r—1 i I | s EREZRT
. L—f AT = i A | G Mounting flange dimensions
oo AL L B % LA

04 TIANHUA TIANHUA 05



SRS

TIANHUA ELECTRIG
METHEITEREMBEN Change eypecially leciricianouistanding supplier

B UHZ-018%h 4% it

FRidk:

iR (i i i A T oh o B el R 2 TE T BE Al e 48 R 9 0 o X il il R i R i 9
A, TR TREMAFNRES RGBT 0 U 58 5
i, AREREe, AR, T, S,

T{EFH:

1, TREQBHF. -35C -557TC: 2, 8B, YINEBERHISTH, =
90%; 3. MEE: =2000m; 4, REMETHRARGHRES; 5.
0Ty o T

1l

SR T{ERE:

1. dtritEd . MmataFEF. . BE. BN, WItNEs. dF
S REREME THF0mE, WMEIE TR ERATRE.

2, T{ERIR: SiflR4Em e b TR0 R B A mpRe), i
HEYFF R E A R, AmGEshiit R, SR ARIR.

ERRE:

1. BRI AR 258 0h il ;
2, MEVEERARADARERTHRIER, ERANMIEAREERES;
3, REAPHEHESAREH, RERTASER, LRRRSEHE

RS TR.
U
1. it eles TR ERTA S SRR, SEREMERIETMHh
iE 0 it B U i o ) AE R R
2, At (s ) BAXIAMBREES100mm, EHEXECER, AR
AEREN.
1-Ml6
i 1-86.5 8 Eﬂ.tlﬂ
i i
o i
=2 t-—-H 2= 3f'
i ! == 235
I__ ‘ﬁ -t lE|
b - 60 |
.
06 TIANHUA

g . 0317-3628666 {5H. 0317-3626666

UHZ-=01 type oil level gauge

£15
ra I
f
-

| W =

-

o— i
5 _ FREERT (BPES)
Eﬂ Nounting flange dimensions

(Equipped by wser)

FARIEF: 13703332099 Mik: www.cnthdg.cn  BB#i: th5689@ 163.com

B YZF1-60KE&h{iit

Fid

A G118 A T o o B i B SR B AR R R RS o e AR AR, o] B F R ER LR pah G, BT il
Mimirit, RAERE. AN, T, BEiKEHNA.

TirFE:
1. TRUEEBME: -35C-~55C;
3., BEEE: =2000m;

5. MEHEENERE.
7. MESER: 1000V;

ISR T{EmE:

1. AN mdtlFF. 2. RE. 2R, SHNal, dTRERERERE TR, AMGIE TR EREn TR,

2. THEGE: SthiRERMEL s FRENNANAFMMEEEN, BOTHORFRRRDESFROER, AmEhRRESE, Hxbi
FIR{E.

3. AEETUREEER, St AETFERNHERESFSHFRASES, IR0 N AR DS LR EEe .,

FERAIRIR
1. BEEFRESBEE D,

2. MACTEER A GE A i IR s TR, (R RSP E A RE A SRR AR
3. REAMMHEHESARETH, RESITATHRR, ARERSTHMERLETER.

R=ER:

1. B2 THREER AT SRR, iR ER EH TR R 4 i 6
o] e 6 1 0 5
2. BT (RS ) BAHHMMIERD100mm, ERREERK, APEREY.

2. 1R SHMMEBENH25TH, =90%;

4, BEGERTMASHEEG,;

6. T{EBE: DC24V;

8. FRESRENHLE: 24, ACI120V/DC24V, BEI: =100m0O .,

gt o0 1] e 5
il A AR
REN 62 5.5 - = |
te L|3 7 —y 77 i E=H bl !
. i “ g’gillg ™1 25 L T
I i 1 = : ] v B | e —
E;‘l_:l = "r-.-" | 1 : i
MV 5 i T #23 i 45
S, ) H % W
::-. _ .l:.“ - - -

FREERT (RPE4)

47 Weunting flange dimensions
{Equipped by user)

TIANHUA 07




Bks

- HIH $ﬂmﬁ%

&
L

B
fili il B B {5

08 TIANHUA

HTMTRBHER change erpocially electricianautstanding Lupplier

A

I EIE: 0317-3628666 f§¥H: 0317-3626666

N ke

MESZATEESMBEN—REVMERE, ERREMBDERNOL, (il 6k
BRI ESNE RSN, AR R RRinaks, LUy E il i iE s
M. FaERHEER., BN, HREZR. AXBRSYEANEEGRR. RREZATN
MmFl (0.2kg~10kgR)30 B = ( 0.2kg~1.0kgR)E .,

AL 13703332099 Mik: www.cnthdg.cn EBfi: th5689@&163.com

f ! 0
: .."L,';Ir’:i R 10
. -
&t __: | T
£l | 4 . N8 )
HEEEr @
L : mm
TH.ZFB.001 | TH.ZFB.002 | TH.ZFB.003 | TH.ZFB.004 | TH.ZFB.005 | TH.ZFC.001
110 120 140 170 190 210
180 200 220 230 270 300
= A i
al EL o
L
ag b @
(BT | TS “=
L mm
TH.ZGD.001 | TH.2GD.002 | TH.ZGF.001 | TH.ZGG.001 | TH.ZGJ.001 | TH.ZGM.001
365 390 535 685 845 1165
345 370 515 665 825 1145
440 610 800 1000 1200 1600

ERENBIERTE

S £8(Code)

1 TH.SAA 001 0.2 75 | 150 | &0

2 TH.SAB.001 0.5 100 | 170 | 100

3 TH.SAC.001 1.0 100 | 250 | 180

4 |mHsaoo01| 15 [140] 265|170 . | =
s |THsago01| 3 | 165|280 1e0| B | &
6 |THsaFoo1| 5 | 165380 260

i TH.SAH.001 T 200 | 565 | 400

8 |THsaso01| 10 |200] 725|590

9 TH.SBA.001 0.2 7S | 165 | 80

10 TH.SBE.001 0.5 90 | 195 | 100

11 TH.SBC.001 1.0 120 | 260 | 130

12 |TH.sep.oo1| 1.5 | 120300 | 170

13 [THseeco1| 3 | 165[345| 180 B E
14 TH.SBF.001 5 165 | 425 | 260

15 TH.SBG.001 G 200 | 510 | 300

16 TH.SBH.001 T 200 | 610 | 400

17 TH.SBJ.001 10 200 | 790 | 540

18 TH.SCB.001 0.5 102 | 210 | 100

19 TH.SCC.00 1.0 140 | 390 | 130

20 |THsceoo1| 20 | 140|437 | 75| B E
21 TH.ZCE.002 3.0 170 | 500 | 205

22 | TH.SCF.001| 5.0 | 170 | 555 | 260

F: TRIBEAREEVNRERE @M. . mm

B #4 AY

| | o
L]
1
%9 112
i 0 e
. :..‘:_'_.
[yt [ FFu i '
== W ,
7 1 .1
e b o
mARER
( 0.2kg~10kg)
26()
. »
) o )
&
PG,
Y
3-M8
SHRER

{ 0.2kg~1.0kgH)

TIANHUA 09



FBES

BEMTERBIMES Change epecially electricianoutatanding Lupplier

B YSF6. YSF8. YSFOR% [ENEIR

—. FiEEntERe:

EHAENREAFREREHTER. AHERBENESEFEE, A
FEPEE, HRAATESEETRHRNAEN, & TREE, -8
TEadd S, FHEMEEAPEDRRRM, SHERFRAEZsHREEH

£, SPRATHTRGEHE, BAANENBASTARNTFEENM, B . # .
RAMM TR, NBRAANENSIELE, @ FEHRNADESE o
TR, BRI S RN RN, TESANBFRLTANTH, =
=, Beaw: 1 |1 N
YsF-O-0/0 000000 | : T
WHAERE "B i ' kB
HRIF LS - L -
R E
HREEEIFRE K ; :
B G BFE "SK” N
WE @G D" bt R
e bt XA -
FEEH [
@itye - >
& h i Hm o A #
RSN WTA: TEHE BTH: 2EieE BT T enssE B
EEFLRT A

Dimensions of opening of tank (1)

I EIE: 0317-3628666 f§¥H: 0317-3626666

i

YSF6RM YSFERM YEFORT et

10 TIANHUA

AL 13703332099 Mik: www.cnthdg.cn EBfi: th5689@&163.com

=, RERTRAE Wi
M '“—n"‘l L apiggn oS5 (B91) «ROEEDY MEDE  BEE) BRAID) RAEH FREH S (T)
1 TH.XDB.005 | ¥S5F9-25M8THB B $42 M3gx2 18 &0 #55 19 255 <1.5
2 | TH.XDC.001 | YSF9-35/25THBE B 55 Magx3 25 80 &75 19 | 35:5 <1.8
3 | THXDC.002 | ¥SF9-35/50THB B $93 MEDx3 50 100 $105 19 355 1.5-4.5
4 | TH.XDC.003 | ¥YSF9-35/25KJTHB| B $55 Magx3 25 130 480 19 |3525| <15
5 |TH.XDC.004 | ySFa-35/50KJTHB| B $93 MBOx 3 50 140 #1115 19 5:5| 1.5-4.5
[ TH.XCC.001 | YESFE-35/25THE B 40 Ma3x2 25 78 + 68 19 A5=5 <1.5
7 | THXCC.002 | YSF8-35/50JTHB B 67 MEO =2 50 105 $05 19  |35:5| 1.5-4.5
8 | TH.XCC.003 | ¥SF8-35/25KJTHB| B $40 M33x2 25 135 & 68 19 | 35:25 <1.5
9 | TH.XCC.004 | ¥SF8-35/50KJTHB| B 67 MB0 x 2 50 150 105 19 3525 1.5-4.5
10 | TH.XBC.001 | YSF§-35/25.THE B 40 M3Gx2 25 80 +82 18 A5 5 <1.5
11 | THXBC.002 | ySF6-35/25KJTHR| B $40 M3Gx2 25 125 82 19 4525 <1.5
12 | TH.XBE.OO1 | ¥SF6-55/80KJTHB| A 90 E=M12x170 80 160 %200 29.5 |s55:5| 1.5-11.5
13 | TH.XBE.0OD2 | ¥SFE-55/130KJTHBE Iy & 140 G=M16x 235 130 170 & 260 29.5 sG5| 11.5-23
14 | TH.XCC.005 | YSF8-35/50JTHE | A $55 4-M12x130 50 120 495 19  |35:5| 1.5-4.5
15 | TH.XCC.006 | YSFE-35/50KJTHB| A $55 4=M12x130 50 155 4105 19 35+5| 1.5-45
M, f2mikeA: . L L 68
244 ven g EER T\ RER g4 FeR , , REA ,ﬁ%%ﬁ?
RS vl 3 zeal  wes ¢ Re% | EéK BiT 0
b e k ¥ . i ; ﬁ 4 1 3= 1 :;;';I.:. ‘E';_:.-i . !
~HEF (FHA) AHEF (HRR) LTIRE (Z48) RI#E (RR&)
2. 5 akiEa; 1. 4: WHES; 3. 6: WHES;
1—2. 4—5HE AR ER; 2—3, 5—6EHEil: WERIPERURE®R,

7. BESER:
1. EOWEHE—NEEETEES RN ),
2, HEBENNENENM, NREESRE;
3. MLEEATR, ETFESSEEFILRTLEER T,
4, BEAFSHREESE, CENRETRAEHTERS
EHEHTEMER, ESTWSSEENT.

TIANHUA 11

. I#ﬁ#:
1. BHEHEE: P=0.025MPa. 0.035MPa=k0.055MPa
(THIEARERES ) ;
2. RHGEM: -35C-~55TC;
3. EXEE: HIFIBMEAH25TH, =90%;
4, FRESKAE: AC220V SADCI10V 0.3A,



Bks

HTMTRBHER change erpocially electricianautstanding Lupplier

YSF-0.03MPa
W VSF-0.06MPa E/IRFRIR
— . FEiEENEGE:

FRARNEERTREEANSKENFBEREN, SE
AEFREED (P) B, ABEMTH, BN, SEME
FREEN (P) 6, MEzhkA. Bk, BPRERMEHTNE
R, IFWIIERAREN.

—. FEREREH:

1. BMENHEM: P=0.03MPasiP=0.06MPa (7T}
MAEREM )
2. WML ERWHE/4-18NPT (FMEAAER

EW )
3. (EMRERE. -35C~55C;

=. EREEEI:

1. BMARASQ ALY, SENEERSLE SR
SRR AEHEEE, RIESSNEH;

2, BHAESEEERNSETSERT A KT E,
FESALAEORE, BEAEE, DRSS,

3, HEhEEN, EERETEFLAFEER, T i
HERJFER—H&E LB, S, EEEENRINRE,
FIENMAGEE B, AN RREANSS D,

 EE-SH

EH¥ A B M2
8TH.030.012 8TH.055.018
o8
L4 _
| LB NT #13
:‘ il l i | EI’.‘:‘ o | ) 4 I_' E:'I
__ .: v . ' — — lI||'| |
4 Nl

BN L i -

AP E %

ML o 18 - -

12 TIANHUA

I EIE: 0317-3628666 f§¥H: 0317-3626666

B YZ-T0FEHEE%

— ﬁﬁﬂgﬁ .

YE-TOEDHZERETHFHNRHIEEHNREARERR, EFTHE
Fr bRt iU SE IR RS P TR R B R L A MY M EREE e, R EE R iE
frikas.

=. Ehey
1. PWEE: -0.08-0.08MPa (FIEAPERES ) ;
2, MWW 2540,
3. M. BEF-35T ~55T;
4, BEEL. M27 %2,

=. (BB

1. MREENTE, BUREMRETHAENRE:

2, (MRMMBEEFEET EAN TR :

3. REMEREMREEFRREES, R RN ELHETNE
o, el R e,

4, MRESERESPEEEREN, FTHEDNSANES, HEM
Wk,

5. EEREANA TEGEsTBEE—R;

6. EENMERIHAE RS, TITHFEAN, BEREEihn
WEmeeT, EHMAE,

7!

1 @
-
.2
- |
g |
ul = i | e
[ERER B b vo| it 1T 3 B
WEFALe3s ¢ L
TH.RAA.001 iz -

AL 13703332099 Mik: www.cnthdg.cn EBfi: th5689@&163.com

B BWS-70igEit

—. Bix:

BWS-708 25 [F #58 B 30 v il P T 32 5 78 50 1 O 8 1 i B
MR, RURRARERNE. WRE. SH0N., FTRIETH
el WRMERATHESE, SRERBEMEEE.

=. EEFEASH:
1, EEMNEEE: -10T-130T
2, HiTNEEE: 258
3, (EMIRLEEAF, -35T~55T
4, BEHPEREEDN: 1.6MPa
5. L, M27x2

=. (ERmap

1. ARIEEENEOERE, BETHREHE RN RNPED
f 4% BE 25552 FF 100mm,

2, BEHNABEEARRRESS, HliRml. TanEE,

3. TREARIEICREFRERES, FHaETRRSiRF
A, plekniRndnit.

4, EERERMNAT, BETESRI2TARE—N.

g7y MITHZ

&6 =T

|
T

¢l

- 1
o >,
AR A ¥
MBHFL 033 S LA
TH.TCA.202

B BWS-108i2Eit

== HE:

BWS-108RI T EHEEMTITIER TREET ERETIMERE
MEHOR, ERRAARERE. HURINES. SR, TR
W, (URMRERBNAEEEE, SMREREARR NS,

=, EEEAREa:
1, BEREEE: 10T -~120T
2, HTWBE: 258
3, (EREFEMN. -35C~55T
4. ERHEREEN: 1.6MPa

=. (ERHd4HP

1, HEIEEENRNARE, BETEIENERNTANPE
oh 46 BE 4 TR F60mm,
2, BEVNELERARZEREND, AR, FlMERL,
3. HRMEAMERNGITRERES, AHEETRRESIR
FEM, BleimiiRainit.
4, EEMERNNRAT, BEITEEM2TARE—N.
TH.TBC.108

#07

.I""r_ II| .
W oW 4 &0

——y—- W s e BESHEAS

I

ol —

no B B B

' "apﬂ'l _#0

NSO
i [ =
=3 -
Eoar "-.I:-L ..;i ;r... 1
Ll _ Ll wox)s .
' L0
3338

Connectica sleeve dimensions

TIANHUA 13

|t

100
ik fg]




B EER. BETERE

TH.TCA.203-140mm

g . 0317-3628666 {5H. 0317-3626666

METHEITEREMBEN Change eypecially leciricianouistanding supplier

W R

TH.T(‘.‘-.&.E{.I-I-Emmm 3 u'mx I. i
L .. 216
i
=
& i EE I -
i = TR
N e o TH.VBA.006
i* |
- TH.VBA.OO2
.f_-'.hi l._."'a.\, i
: s Ii_.-:": E
¢l = 20 Punl 2
i ! ol SEe
% = | B —=
o N T r 1
. ]'] 5 '.!d B —_ m -
— o B gDl |
it = ot I < Loy
() ] 1 . / Y Hﬂh
E;i_‘:;j'g,-ﬂ _I"‘-q-:} _,.-'-.- -t:h=l1
$REERY (APER) NS
Younting flange disension.
(Equipped by user) - 5 -
'm iy
E+ f£8(Code) T E(Model) L1 L L2 3 ' D  $D1  Md
¥ :
g 1 TH.TCA.OD1 210 245 195 20 | 10 40 40 27Tx2 27
2 TH.TBA.0D1 140 175 | 125 | 20 | 10 40 40 | 27x2 27
3 TH.TCB.0O1 210 255 195 25 | 15 45 42 130x1.5| 30
4 TH.TBB.0oD1 140 185 | 125 | 25 | 15 45 42 |30x1.5| 30

iE: THEEPARREWRERHR 6.

14 TIANHUA

FARFF: 13703332099 [il: www.cnthdg.cn BF#Hi: th5689@ 163.com

N &R
Fi

HbERTFEESSA L, B3Nk
fEM. EERIS, RIEEEREST HXER
WE, REAFERTTHRE. SWiENZE
EEESTHREN, MmBREREEN,

i 5.': I U_
aal el = I:?E |
o b B [l =5 gl
1 T+ 3 i
I )
- H - -
B~ o)
! |
1 | [
|1 By @)
Al LA

{EFIRER:

1. I{EBHEE: -35T ~1057C;

2. EHEhE: RENEOS5MPa, 10minFiER;

3, HEEE. ENE3IZKPaT, 10mindi*{ £ F1.33Pal's;
4, BE: WEAFOEFEOEESEHEHAR;

5. BE: FRERIXE: SRAFE,

a8l
S AW
A
L
‘! .r'
| t.
2

1 TH.VEC.001 25 85 60 35 | 150 | 80 40 80 10
2 TH.VBF.001 50 125 | 90 65 | 210 | 120 | 32 | 120 | 16
3 TH.VBH.001 80 160 | 125 | 90 | 260 | 160 | 25 | 160 16
E: TREEFPRRENNCRES &,
TIANHUA 15




g . 0317-3628666 {5H. 0317-3626666

METHEITEREMBEN Change eypecially leciricianouistanding supplier

i
W R bl /g B2
It . —_— = 3 :-'-:...Ll :":.I: ; | . '
_,-" - - "'\-\,\. I _: .I
..._.-' b I;'m ]
- ' i ]
- | ) ] ==l
1 i | W oo
il ’ A ! 1
) ' Tk e L '
o | = ]
P . '“L 3
" A - B

EEERE AEAERSNEMER TR

£ E(Code) H!S{Model)DN D1

1 TH.VAF.001 50 63 83 125 125 14 26 156 12 3
2 TH.VAH.001 80 92 115 150 150 22 35 182 15 31
i

.....

; 803 |
- . i
- AP~/ = - &
— | ol &
~= x | 553
L. It
:' . C’r‘* -1 ’ L
i ; i
i .L‘-"--_'L:#_[.I] #e E 1
LI i s
) \ i _B_
ERSRERARAEASUENMERTER . A -
JEE & 8(Code) #2(Model)DN D1
1 | TH.VAF.002 50 63 83 125 | 125 | 14 12 36 93 31 156
2 TH.VAH.002 a0 92 115 160 160 19 12 S5 135 < 192
16 TIANHUA

FEARZESRF: 13703332099 Mik: www.cnthdg.cn

W EREE=EE

BA2:

1. 28BEHD: 1.6MPa:

2. T{FArEE: . k. JERiRieEce, JEMRiedEaritsi, WNES
3. TiFaE: -35C~110C

|

il

5o

ER#i: th5689@ 163.com

{£ 8 (Code) 78 (Model) DN D
1 TH.VCC.001 25 72 85 108 89 98.5 4 14
2 TH.VCF.001 50 108 125 151 112 134.5 4 18
3 TH.VCH.001 80 145 160 188 140 198 8 18

TIANHUA 17




FEETHEKBHREN Trandormer industry outstanding supplier

B SEE=ER
S

1, &BEH: 1.6MPa:

2, THESri: . K. dERpideEmk,
B hiEdERT I EE, AN ;

3. T{EBE: =357 ~1107C;

4, FEEiR#E: GB/T 9113,

)l

g . 0317-3628666 {5H. 0317-3626666

T L 7 _MF
;,.f‘ : -h“..\l
S 4 7N\ &
|IIr \ H"i"d
f i .IrJll
% by

ance 18 ®(Code) & -S(Model)DN
i TH.VDC.001 25 130 107 85 72 &7 4 14
2 TH.VDF.001 50 202 151 125 94 105 4 18
3 TH.VDH.001 80 220 189 160 119 135 8 18

18 TIANHUA

FEARZESRF: 13703332099 Mik: www.cnthdg.cn

¢[12 . Iﬁl:'l. —
) A L
S et o DN
A i '
s, oY)
Fig' \ "L-
Kd. L@ \n#d

A 1 BABREH: 1.6MPa:

af

0

2-.. Iﬁﬁﬁ: EE'!- $‘\. *EH:

gl -

Ei#i: th5689@ 163.com

=

3. EZHM: GBT 9113,

el £ €(Code) & E(Model)DN

1 TH.VEC.001 285 a0 98.5 T2 110 85 4 14
2 TH.VEF.001 &80 172 183 108 155 125 4 18
3 TH.VEH.001 B0 272 275 200 195 160 8 18

W e

£ €(Code) #-E(Model)DN
1 TH.VEA. 101 i5 113 a2 56 80 56 4 12
2 TH.VEC.101 25 126 98.5 72 110 85 4 14
TIANHUA 19




MBI . 0317-3628666 {53. 0317-3626666 HAER. 13703332099 Mik: www.cnthdg.cn BB#i: th5689@ 163.com

R -
R
= = .
TIANHUA ELECTRIG
METHEITEREMBEN Change eypecially leciricianouistanding supplier

B EfAiRF(

" Bl :
m+——t B b
i I
\ ?::‘h jl:E I ""-‘-\ l"I]:“
ol Lalsll ) k-4l
| i
I ! 1 ]
L= E
L ! ] ] 7 ¥
bl
! :“.
t n2-gd2 ]
B _ J .
B Jdl 14 NINE
it i8]

E}l’) E‘El'ﬁ Qutline din'rensh-ns )

s,  1£8(Code)
1 TH.WWB.001| Dw-80 160 160 160 160 80 19 150 150 80 22 12
2 TH.WWB.002| w-801 160 160 150 150 80 22 150 150 80 22 12
3 TH.WWEB.003| wW-80 160 160 160 160 80 19 160 160 80 19 12
4 TH.WWE.004| W-50 150 150 125 125 50 14 125 125 50 14 10
5 TH.WZE.001 DZ-80 - 500 160 160 80 19 150 150 80 22 12
6 TH.WZE.002| Z-801 - 500 150 150 80 22 150 150 80 22 12
T TH.WZE.003 Z-80 - 500 160 160 80 19 160 160 80 19 12
8 TH.WZE.004 Z-50 - 500 125 125 50 14 125 125 50 14 10

i HSRMURLNES, WRETE. ZHERR;

20 TIANHUA

WA R R—REEEE—REHEL, NEITHEHIN,

ice L% (Code) rﬁ; Etl-l ni-Gd1
1 BTH.003.074 | 315A a9 T4 6 |M12x1.75| 22 | 30 | = |2-210.5| 33 | 63 | 30 2-P13 16
2 8TH.003.075 | 400A | 108 | &1 6 M16x2 26 | 30 | =— |2-»10.5| 38 | 68 | 30 2-013 16
3 BTH.003.076 | 630A | 114 | 83 T M20=25| 30 | 30 | — |2-©10.5| 38 | 68 | 30 2-®13 18
4 8TH.003.077 | 315A | &8 63 6 |M12x1.75) 22 | 30 | = |2-¢#10.5| 50 | 50 | 25 4-Pp13 16
5 8TH.003.078 | 400A | 103 | 76 G M1G=2 | 26 | 30 | — |2-910.5]| 60 | 60 | 30 4-013 16
(] 8TH.003.079 | 630A | 111 | 80 T M20x2.5| 30 | 30 | — |2-®»10.5| 60 | 60 | 30 4-Pp13 18
7 8TH.003.035 | B800A | 138 |97.5| 10 | M24x15| 35 | 58 | 30 | 4-13 | 80 | &80 | 40 4-P15 25
8 8TH.003.036 | 1000A | 146 | 101 | 11 o227 42 | 58 | 30 | 4-»13 | B0 | 80 | 40 4-015 25
a 8TH.003.037 | 1250A | 148 |102.5] 12 P30 45 | 58 | 30 | 4-213 80 | 80 [ 40 4-@15 25
10 B8TH.003.038 | 1600A | 185 |126.5| 14 ©33 53 | 73 | 35 | 4-913 | 100 | 100 | 50 4-018 30
11 8TH.003.039 | 2000A | 185 | 129 | 15 D38 58 [ 73 | 35 | 4-13 | 100 | 100 | 50 4-P18 30
12 8TH.003.040 | 3150A | 185 | 131 | 186 P42 62 | 73 | 35 | 4-213 | 100 | 100 | S50 4-018 30
iE: 315~B30AH 2 HEIA, B00-3150A4 KL WM., TIANHUA 21



FARFF: 13703332099 [il: www.cnthdg.cn BF#Hi: th5689@ 163.com

R
ﬁ@ fifMmi%: 0317-3628666 f{EF: 0317-3626666

TIANRUA ELEGTRIG :
WERTHKEMEN Chonge especially eleciricianoutsianding supplier B - o= Bl ~f

- - - - - i

 4f

[]
i
o 35

1
1

o

5004

1. nl=t]

=650

i

28 n1-bd1
1| 8TH.003.002| 315A | 99 | & | 30 |— | 2.010.5 33 | 63 | 30 2.®13 M12x1.75 22 | 16
2 | 8TH.003.003| 400A |102| 6 | 30 |— | 20105 | 38 | 64 | 30 | 2-013 | M16x2 | 26 | 186
3 8TH.003.094| 630A 102 7 | 30 |—— | 2-0105 | 38 | 64 | 30 | 2-013  M20x2.5| 30 | 18
4 BTH.QOD3.095 315A a0 [ 30 |7/ | 2-010.5 | 50 50 25 4-013 |M12x1.75| 22 16 .
5 | 8TH.003.096| 400A | 102 | 6 | 30 |— | 2-010.5 | 60 | 60 | 30 | 4-013 | M16x2 | 26 | 16
& | 8TH.003.097 | 630A | 102| 7 | 30 — | 2-0105 | 60 | 60 | 30 | 4-©13 | M20%2.5| 30 | 18
7 | 8TH.003.053 | 800A | 146 | 10 | 55 | 30 | 4-013 | 80 | 80 | 40 | 4-015 | M24x1.5 35 | 25
& | 8TH.003.054 | 1000A | 146 | 11 | 55 | 30 | 4-013 | 80 | 80 | 40 | 4-015 | @27 | 42 | 25
9 | 8TH.003.055| 1250A | 146 | 12 | 55 | 30 | 4-013 | 80 | 80 | 40  4-015  ®30 | 45 25
10 | 8TH.003.056 | 1600A | 180 | 14 | 75 | 35 | 4-®13 | 100|100 | 50 | 4-018 | ®33 | 53 | 30
11 | 8TH.003.057 | 2000A | 180 | 15 | 75 | 35 | 4-®13 | 100 | 100| 50 4-®18 @ ®38 | 58 | 30
12 | 8TH.003.058 | 3150A | 180 | 16 | 75 | 35 | 4-013 | 100  100| 50 | 4018 | @42 | 62 | 30
13 ETH.003.059 4000A @ 215 18 B0 35 4-P13 120 | 120 &0 4-P18 D48 Kk 35
14 ]aTH.uua.uEu] 5000A | 270 | 20 ] 105 | 30 | 6-013 | 150 | 150 50 @ 9-®18 | ®52 | 76 | 35

| E: 315~630AH R AR, 800~-5000A% A M.
22 TIANHUA

fh = (Gode)

LModel)

H

r1::-:|p| t nl-0d1
1 E_T_H_F?“““ 315A | 90.5| 30 | 6 | 33 | 63 | 30 | 2-913 | M12x1.75 | 22 | 16
a2 BTH.003.084 4004 93 30 & 38 &4 30 2-013 Mi1G=2 26 16
3 8TH.003.085 BI0A 93 30 7 38 G 30 2-013 M20x2.5 30 18 .
4 ETH.OD3.086 3154 B3 30 G 50 50 25 4-P13 M12=1.75 22 16
= 8TH.003.087 4004 975 30 6 60 60 30 4-013 M16x2 26 16
_ (5] 8TH.003.088 630A ar.5 | 30 T 60 60 30 4-b13 M20=x2.5 30 18
E: 315-630AK B0 0. *:x_‘ TARLERSRES
A _ bl
Al 3 LN
s LT o-a)
PEER
bl__
l.'1l [ .-'.... E-ﬂ'dl
f
AR

M1-Pd MO

1 5TH.003.061 315A 1.5 | 30 E_ 50 30 32 | 4-210.5 | M12x1.75 | 22 16
5TH.003.062 4004 a1 .5_ 30 [ 50 52 30 32 | 4-P10.5 [ M1Gx=2 26 16
3 | 5TH.003.063 630A | 95 | 30 | 7 | 60 | 60 | 35 | 32 | 4-10.5 | M20x2.5 | 30 | 18

#: 315-630A8 R AR,

TIANHUA 23




SRIEES

TIANHUA ELECTRIC

g . 0317-3628666 {5H. 0317-3626666

METHEITEREMBEN Change eypecially leciricianouistanding supplier

i FIPERER

FOREMPE | FTEEMPE

BTH.048.031- & 100-115 BTH.04B.048-3154A
BTH.048,.057- 4 135-155 BTH.048.051-630A

8TH.048.054-800-1250A

FiITEAERET FITOILERET FITEILBRET

ol

B8TH.003.053-800A
8TH.003.054-1000A
8TH.003.055-1250A

EITRIIERET

BTH.O03.088-315A
8TH.003.090-4004
BTH.003.001-630A

»

8TH.048.060-1600-4000A

L

T

8TH.003.056-1600A
8TH.003.057-2000A
8TH.003.058-3150A
8TH.003.059-4000A

FIT=IERRT

BTH.003.082-315A
8TH.003.093-4004A
BTH.O03.084-630A

TR E M E FTREMPE FiTREMIFE

ETEILERET

BTH.003.085-315A
8TH.003.096-4004
BTH.003.007-630A

8TH.048.010-5000~7000A

8TH.003.060-5000A
BTH.003.110-6300A
8TH.003.111=-7000A

E: A LE@MaEEnRTSIPEREERN.

24 TIANHUA

FEARZESRF: 13703332099 Mik: www.cnthdg.cn

NiEFIFERER

90° HANEMIPE

8TH.048.033-¢100~115
8TH.048.059-4135~155

30° ERREMPE

8TH.048.032- ¢ 100~115

90° HAEEMPE

8TH.048.050-315A
8TH.048.053-630A

30° Him—ILIEERT

8TH.003.083=-315A
8TH.003.084-400A

8TH.048.058~- ¢ 135~155

8TH.003.085-630A

30" EmEEMNPE 30° fEmiaF

8TH.048.049-315A
BTH.048.052-630A

5TH.003.061-315A
5TH.003.062-400A
5TH.003.063-630A

90° HAZIESRF

8TH.003.074-315A
8TH.003.075-400A
8TH.003.076-630A

1 i B Y

8TH.003.086-315A
8TH.003.087-400A
8TH.003.088-630A

3O R IR R 30° {5 b 48 5 i N 4%

5TH.003.098-315A
5TH.003.099-400A
5TH.003.103-630A

Ei#i: th5689@ 163.com

90° MAMMIERETF

BTH.003.077-315A
8TH.003.078-400A
BTH.003.079-630A

4P 3

| o

8TH.048.017

SLG1EIEBRRFRE

om 5

8TH.003.104-315A

30° miEREE

5TH.003.107-315A
5TH.003.108-400A
5TH.003.109-630A

E: FALANBEENRTSIPERERER.

TIANHUA 25



R
%E% Wit i 0317-3628666 {EH: 0317-3626666
TANHUA ELEGTRIG

W IEREMES changes ospecially slectricianoutstanding supplisr

N EE#R

BER overview

EEREREGEESANRS. MBS MM NNARER, FEEHIIEMIRRER, HAEANEEIENER, E
ERERAEESRELHEZ—, EEESETS, KIGATHEER, SEEHMELEEEeldERER. Bk, MEES

EWHLLTEX:
1. SHHRATREMNREENESHNGRE.
2, SHARTRAFAHRIBESE, 02 E i8R E) k.
3. FhREA . R, BEHEREN. @RERWETRE.

The transformer bushing is an insulating bushing that leads the high and low voltage conductor inside the transformer to
the outside of the oil tank, not only as a insulation from the conductor to the ground, but also assume the role of fixed lead.
Transformer bushing is one of the current carrying components of transformer. In the operation of transformer, it passes
through the load current for a long time, and the shorl-circuit current when the external short circuit of the transformer occurs.
Therefore, there are the following requirements for transformer bushing:

1 Must have specified electrical strength and sufficient mechanical strength .

2 Itis necessary o have good Lhermal stability and can wilhstand the instantaneous overheating in the short circuit.

3.5mall shape, small quality, good sealing performance, strong versatility and easy maintenance.

({EEEEBMERE Use conditions and performance
1. HREEEE. -35C ~55C;

2. RN ERATESEHE, WREERATHESEPRE,
3. BREAHE: EHNAFRE.

1. Ambient temperature: -35C ~ 55 C:

2. The common lype is suitable for the area of light pollution,

and the antifouling type is suitable for the area of heavy pollution.
J.Installation method: vertical or horizontal installation.

EEHSHESE Electrical performance parameters of bushing MEE(Unit) : KV
¥R ¥R E nominal voltage 1 3 6 10 20 = a5
#ERE Rated voltage 1.2 3.6 7.2 12 24 36 4.5
ISR =+ dry 8 11 22 42 55 rirs a5
FPowear=frequency
withstand voltage 2 wet = 10 20 30 50 70 80
MEAEHEOE o EE 24 40 60 75 125 170 200
Lightning impulse i
withstand voltage chopned wave = 44 66 83 138 187 220
B H R Sealing test 0.3MPa’20minX @8 0.3MPa/20min with no leaks
$5 2 fI-Er{t!.JEr"lﬂ‘,' 20=-60Hz

26 TIANHUA

FARZE: 13703332099

ik www.cnthdg.cn BBif: th5689@& 163.com

TWHBHISHE Cantilever load tolerance e (URID = N
ERAE 7 L MERR Rated current
pOMDa e 1ane Hatedvoliage 1000~1600 2000~2500
1~20 1.2-36 1000 1250 2000 3150
a5 40.5 1600 1600 2500 3150
BIEWESEFEFNAME Table of comparison between altitude and arcing distance (NIt : mm

FIWER arcing distance

ERRE WERE
nominal voltage Rated voltage - = - - e
1000m 1500m  2000m  2500m  3000m  3500m  4000m  S5000m
1 1.2 30 3z 34 37 39 41 44 49
3 3.6 &0 64 68 73 77T 82 87 98
6 7.2 ap 96 102 109 116 123 131 147
10 12 110 117 125 133 141 150 159 180
20 24 210 224 238 253 269 286 304 343
== 36 280 298 317 337 358 381 405 458
35 40.5 340 ag2 385 409 435 463 492 556

E: ERIBRNBE, Qfte,

Mote: the above table is theoretical data for reference only.

iTBiiRBE Order description
1, #EPRIHTESHREANNT A, HIBAPEYR, ENh RS0 R T ITER;

2, KFEREMNBURBERFHEE;

3. BEEENERERGERERETRER;
4, iITHEAFEAFGKES, NHSRERINEN.
1. Only the basic and common types of bushing are listed in the sample. According to the needs of users, the size of some parts

of the bushing can be modified.
2. When installing horizontally, it is suggested to choose platen assembling struclure installation;

3. The actual porcelain shield of some bushing may be different in shape with outline drawing.
4, Please indicate the product code when ordering, if you have special requirements, please indicate.

TIANHUA 27




R
%% THMRIA: 0317-3628666 fXI1: 0317-3626666 #HAEH: 13703332099 Fit: www.cnthdg.cn EB#i: th5689@ 163.com
TIANHUA ELEGTRIG

METHEITEREMBEN Change eypecially leciricianouistanding supplier

B SMERT(1~3kV/I315~630A)
Qutline dimensions
o '
i -

8TH.048.048-3156A 8TH.048.049-315A 8TH.048.050-315A 8TH.048.028-315A
8TH.048.051-630A 8TH.048.052-630A 8TH.048.053-630A 8TH.048.030-630A

EEPEE Silicone shield sleeve

B ITENEERTE (1~3kV/315~630A [ZLEEEE)

7 *f ; ; Wafer type bushing outline dimensions(1~3kV/315~630A screw connected bushing)
i ] k'....: :'.-‘, .
TR g | FA
gt o "‘MI o I.T el = B2 Rt (Dimensions) FFL  arcing |33
= — Sequence 'd_ fl.lli. | opening distante creep
% I Number Eoas g : .-. distance
ﬁ"“m 5 ~_ IUEIHF*'E. lﬂ}ill]?fi? h3 hid d1 ! : di h1
o £ PR 1 TH.AAA.101 |BF-1/3155 | 195 | 60 | 30 | M12x1.75 | 56 | — | S5 | 30 | 53 | 65 |1%%«| 0.6
1 e square steel square steel
i ik | i 2 TH.AAB.101 | BF-1/400S | 215 | 65 | 35 | M16x2 76 | — | 80 | S0 53 | 75 |1%K| 1.4
- V—— ¢do T - $d0 3 | TH.AAD.101 [BF-1/630S | 215 | 65 | 35 | M20x25 | 76 | — | 80 | 50 | 53 | 75 |1#f| 1.7
=2 4 | o B Ty ol v 4 | TH.AAA.821 |BFJ-1/315S| 225 | 90 | 30 | M12x1.75| 56 | 65 | 55 | 30 | 53 | 65 |18#%| 0.9
= T 8| 3 - o - - 5 | TH.AAB.821 [BFJ-1/4005| 245 | 95 | 35 | Mi6x2 76 | 95 | 80 | 50 | 53 | 75 |1Mmf| 1.8
i T g, I;I
P N | Pl 6 | TH.AAD.821 [BFJ-1/630S| 245 | 95 | 35 | M20x25 | 76 | 95 | 80 | 50 | 53 | 75 |1#%| 2.3
NN ! ' 7 | TH.ABA.821 |BFJ-3/3158| 245 | 90 | 20 | M12x1.75 | 62 | 65 | 55 | 30 | 73 | 110 |2%%| 1.1
R R APREY Bl=1xY SahwAH BEJ-1~3kV 8 | TH.ABB.821 [BFJ-3/400S| 265 | 95 | 35 | M16x2 86 | 95 | 80 | 50 | 73 | 130 |28%%| 2
[, II: E5E4h#E gaflRT
gign ¢ e ; 9 | THABD.821 |BFJ-3/630S| 265 | 95 | 35 | M20%25 | 86 | 95 | 80 | S50 | 73 | 130 |28k | 25
Full protection of sealing ring Dimensions of opening of tank

E: HKSEM "DZ" R/KRWF, "T" KERPE. THEEXAELXEWURERRE™ .
BElEm "s" AREHEBHPEER.

28 TIANHUA TIANHUA 29



3
ANEIEEI=
TIANHUA ELECTRIG
METHEITEREMBEN Change eypecially leciricianouistanding supplier

iM% 0317-3628666 f&J1: 0317-3626666 #AEH. 13703332099 FHk: www.cnthdg.cn  BB#i: th5689@ 163.com

B SR (1~3kV/800~1250A)

QOutline dimensions

~ il
b 40
i I =l
‘-\‘_l___ -
A . g
oD =
1
dd
! 8TH.048.054-800~1250A 8TH.048.055-800~1250A 8TH.048.056-800~1250A
1 A B EEEHPE  Silicone shield sleeve
A i]ii":"':[iﬂﬂ E % -
]
| B ITENEBERIE (1~3kV/800~1250A 12415 1EHERE)
- Md Wafer type bushing outline dimensions(1~3kV/800~1250A screw connected bushing)
= 7 BRI 7 1l 2 EI{ TR o~
..f"{ f.h'-“'.ui--._ o 1'{_.::.- ﬂt K = (Dimensions) Cﬁ'_‘l:-':fr‘qd:;t’:;:& t:;.:] {;:;:f, »'.-11- -i:hl
l Le ;—-\.-: -\.-l;.- HIJ"I‘]I]F'[ cﬂdh" MudEﬂ dlslanm:_.. hhll-;"l'lj I'.}!'q':
e ,,f e Md dd  di 3 do h1
— L ‘.':' . ) ¢d| Iﬂ:{ ].Dj:;f ll}:’{lﬂfﬁl 1 TH.AAE. 101 | BF-1/3005 353 | 80 45 | M24=x1.5 | — ga | — [100] 10 G0 63 &80 1ipg | 5.1
I ! 4 Hi A
6~10 / I Square steel Suare steel 2 | THAAR101 [BF-1/10005 | 363 |85 | 50 | M3ox1.5]| 27 | so | — [100| 11 | 60 | 63 | 75 |1m%| 52
: I 3 | THAAG.101|BF-112505 | 363 |85 | 50 | M33x1.5[ 30 | aa | — [100| 12| 60 | 63 | 75 |12 &
: i pd0 I~ 8d0 4 | THAAE821|BF)-1800s | 378 | 105 | 45 | M24x1.5 | — [ a9 [120{100| 10 | 60 [ 63 | 80 |1m| 5.7
s i e e . # 5 | TH.AAF.821 |BFJ-1/10005| 388 | 110 | 50 | M30x1.5| 27 | 89 |120|100| 11 | 60 | 63 | 75 |1#$| 5.9
= 1) %‘% 3| = 6 | TH.AAG.821|BFJ-1/12505| 388 | 110 | 50 | M33=1.5| 30 | 89 |120|100| 12 | 60 | 63 | 75 [1@4| 6.2
s " -«
RN | 1+ ' 1 S o0 7 | TH.ABE.B21|BFJ-3/8005 | 398 | 105 | 45 | M24x15| — | a9 |120|100]| 10 | 60 | 83 | 130 2| 6
Md g g 8 |TH.ABF.821 |BFJ-3/1000S| 408 | 110 | 50 | M30x1.5 | 27 | 99 |120|100| 11 | 60 | 83 | 130 |28 | 6.7
[ 1l: BHEAG#H BF- 1KY . BFJ-1~3kV 9 |TH.ABG.821|BFJ-3/12505| 408 | 110 | 50 | M33=x1.5| 30 | 99 (120|100 12 | 60 | 83 | 130 |2mg| 7
D mEEETTRE c i =
#=TLR .
\ , N #. REER TN RARPE. THERPERRUNTARAL,
Full protection of sealing ring Dimensions of opening of tank HEER 5" RATHRLBHIUER.
30 TIANHUA TIANHUA 31



R
ﬁ%% WM RIS : 0317-3628666 {EF:. 0317-3626666 HARFH . 13703332099 Mik: www.cnthdg.cn BB#i: th5689@163.com

TIANHUA ELECTRIG
METHEITEREMBEN Change eypecially leciricianouistanding supplier

B SMZRT(1kV/800~1250A)

QOutline dimensions

%
L 0
l lﬂ.l : 1 "1_'?15
S8
A =l = 5
P
s A
A Direction R 8TH.048.054-800~1250A 8TH.048.055-800~1250A 8TH.048.056-800~1250A
ik
Square 5‘“_,{,] BEEHPE  Silicone shield sleeve
T =
= 8 EONLERNG T d0
g —— TH II % | -~
/. =z s g3
g e S1%e¢ B X EBERTE (1kV/800~1250A FEEEESR)
el —— [Eeh, ol 1 _ Wafer type bushing outline dimensions(1kV/800~1250A T type connected bushing)
sy N by
1T 1 o H 7 Dimensions of it of tank - ¥ e 2 FsF(Dimensions) - arcing e 5 iz i &
| Al Wi, Sequence Code Aode Opening  distance creep  cpialg  weight
[ ) 191 _ 290 Mumbear distance I'k;: )
- ¥ i v I o Md L d1 d0 hi e
' ::_.':'5'.'. . - .:_- ' i | -.- .
1 | | = El (1 11 1 TH.AAE.102 | BF-1/8005 |318 | M24x1.5| — 89 10 60 63 80 1 | 4.8
l‘i’i 1 1 A\ -‘“‘;H 2 | TH.AAF.102 | BF-1/1000S | 323 | M30x1.5| 27 | 89 | 11 B0 63 75 140 5
B ! [ <410 3 TH.AAG.102 | BF-1/12505 | 323 | M33x1.5| 30 89 12 60 63 75 140 4§ 5.8
Al BARERTE BB HEEM 'S" RASHELHPEER,
Full protection of sealing ring B Direction

32 TIANHUA TIANHUA 33



3

ﬁ% % i BiE: 0317-3628666 fEIL: 0317-3626666
TIANRUA ELEGCTRIG
METHEITEREMBEN Change eypecially leciricianouistanding supplier

B MEZRT(1~3kV/1600~4000A)

QOutline dimensions

FEARZESRF: 13703332099 Mik: www.cnthdg.cn

Ei#i: th5689@ 163.com

&

8TH.048.060-1600~-4000A
E{TEEPE Parallel silicone shield sleeve

mIFEREERIE (1~3kV/1600~4000A L EIEEZEE)

Wafer type bushing outline dimensions(1~3kV/1600~4000A T type connected bushing)

- H L
-t b
I i 1 {-918
(T
i -
A ol o
- 1
1
. td B
A Direction
10X 107 4 10X 107%
| Square steel Muare steel
= T d I = 8 & .
! [ [
7 I rbe 2 o
— I 33 &
. R ks . L {
I s o ey P I N 9
fiey —|— g ddl | | o
— e { SRTAT bl I TR
8~16 II‘ | ..... ] Hl' ||5.||| A BE"J] EUI
L1 S | R HAATA
— % | SS| A Dimensions of opening of tank
= el | | [k . .
: i v
L) I'Eﬂj | - ) 1 g
I L\ 5 ™
b ISR SRR AT
[, II: E5ELHFE Lol
Full protection of sealing ring B #

B Direction

34 TIANHUA

MiE F51
ST R F(Dimensions) FA g RiE
e rl—.m: ;ﬂr_ld = opining distance 3
4d d1 d2 d3 B b d0  hi
1 | THAAH.102 | BF-116005 | 377| 51 | 16 |M36x2| 33 |103 110|100| 50 | 14 [100| 90 | 45| 70 | 63 | 75 [1f| 9
2 | THAAJ102 | BR-1/20005 | 377 | 51 | 16 |ma2x2| 38 | 103 110|100| 50 | 15 |100| 90 | 45| 70 | 63 | 75 |14 | 9.5
3 | THAAKA02 | BF-1/25005 [377| 51 | 16 |M45=2| 38 | 114 140|100| 50 | 15 [120| 90 | 45| 85 | 63 | 80 |14 11
4 | THAAL102 | BF-1/3150S | 382 | 51 | 16 |M48x2| 42 | 114 140|100| 50 | 16 [120| 90 | 45 | 85 | 63 | 80 [14 | 12
5 | THAAM102 | BF-140005 | 437 | 60 | 20 |M52x2| 48 |130 150|120| 60 | 18 [135(120| 55| 95 | 65 | 85 14| 18
6 | THAAHE22 |BF16005(402| 76 | 16 |M36x2| 33 |103|130|110|100| 50 | 14 |100| 90 | 45| 70 | 63 | 75 14| 10
7 | THARIEZ E!FH&EOJSIdGE 76 | 16 |M42x2| 38 [103|130|110|100| S0 | 15 [100| 90 | 45| 70 | 63 | 75 [1@%[10.5
8 | THaaKe2 |eri1esoos|402| 76 | 16 |masx2| 38 |114|150( 140 100| 50 | 15 [120[ 90| 45| 85 | 63 | 80 [1me| 12
9 | THAALSZZ |BFJB1S0G| 407 | 76 | 16 |M48x2| 42 | 114|150|140|100| 50 | 16 |120| 90 | 45| 85 | 63 | 80 |1 | 13
10| THAAMES2 |BFM000S| 457 | 80 | 20 [M52=2| 48 [130 150|120 €0 | 18 |135{120]| 55| 95 | 65 | 85 |18 4| 20
11 | THABHEZ EFJ-BHGCOQI-IEE 76 | 16 |M36x2| 33 [113]|130(110]|100| 50 | 14 [100| 90 | 45| 70 | 83 | 125 [290 42| 12
12| THABIE2 |Brramonos]422| 76 | 16 |M42x2| 38 |113|130]110]100| 50 | 15 [100| 90 | 45| 70 | 83 | 125 o 2| 14
13| THABK 822 |BFJA25005( 422| 76 | 16 |M45x2| 38 |124|150|140|100| 50 | 15 (120 90 | 45| 85 | 83 | 130 2t | 18
14| THABLE22 |BF¥3150S| 427 | 76 | 16 |M48=2| 42 [124|150(140|100| 50 | 16 |120| 90 | 45 | 85 | 83 | 130 [28i | 21
15| THABMS22|BF ai40008{ 477 | 80 | 20 [ms2x2| 48 | 140 150|120| 60 | 18 [135|120| 55| 95 | 85 | 140 [22 2| 23
E: REEM T RARPE, TREEARREURERETE.
MELnh “S" KAAFHEFZHPRER, TIANHUA 35



g . 0317-3628666 {5H. 0317-3626666 th5689 @ 163.com

AR

13703332099 Rk RBHi :

3

ﬁ% ﬂ www.cnthdqg.cn
TIANRUA ELEGCTRIG
METHEITEREMBEN Change eypecially leciricianouistanding supplier

B SMERT(1~3kV/5000~7000A)

QOutline dimensions

t . 150) 5
* 0,50
i:‘:’:‘; ™ . 1 g":'l.g
*_ —___r""
%i
\ = I
- E .
—
Ly
¢d - 1 : £2. TH.ABQ.807 HEE Siicone shield sleeve
' A F B=. BFJ-3/8000 8TH.048.010-5000~80004A
A Direction s -
b B Y L1 . =i
10X 107 4 B HEILEERTE (1~3kV/5000~7000A EEEZEE)
Square steel Wafer type bushing outline dimensions(1~3kV/5000~7000A T type connected bushing)
e M ' = .!,!Id[ll e THES
™ LA = < f <f{Dimensions) GED arcing RE &g WE
J LN :‘lﬂ | opening  distancé  creap ....-mghr.
E : " 5 Eu{—_; distance Shield (kqg)
j = od d1  d3 S S1 d0  h1 G
£ ety
I LR d - 1 |TH.AAN.102|BF-1/5000S |497| 60 | 20 | M56x2 | 52 | 130|150| 20 |135|120| 55| 95 | 65 | 85 |144| 20
feid g d]
= ot | B2 pd 2 |TH.AAP.102|BF-1/63008 |512| 62 | 22 | Me0x2 | 56 | 155|180 | 22 |150|130| 62 | 105 | 75 | 110 |144| 23
HE
r Dimensions of opening of tank 3 |TH.AAQ.102|BF-1/70008 |517| 62 | 22 [ Me5=2 | 60 [155|160| 24 [150|130| 62 | 105 | 75 | 110 [144| 28
1 I . o0 4 |TH.AAN.822|BFJ-1/50005|517| 80 | 20 | MS6x2 | 52 | 130| 150| 20 |135|120| 55| 95 | 65 | 85 |1m%| 22
g3 | i | b b+ & 5 | TH.AAP.822|BFJ-1/63008]532| 82 | 22 [ M60=2 | 56 [155|160] 22 [150)130| 62 | 105 | 75 | 110 |19 | 25
LI . w3 om - = ] 6 |TH.AAQ.822|BFJ-1/70008|537| 82 | 22 | MB5=2 | 60 | 155|160 24 | 150|130 62 | 105 | 75 | 110 [1%| 28
1\ e 1 %
n Ip ! < 'Y’**- 4112 7 |TH.ABN.822|BFJ-3/50008]537| 80 | 20 [ MS6x2 | 52 [140|150] 20 [135)120| 55| o5 | 85 | 140 |2m4| 26
.;'1 | 8 |TH.ABP.822|BFJ-2/63005|552| 82 | 22 | M60x2 | 56 | 165 | 160| 22 |150|130| 62 | 105 | 95 | 180 |2m%| 28
. ll: 8B45PE ,_H ; 9 |TH.ABO.822|8FJ-3/70005] 557 | 82 | 22 | Mesx2 | 60 | 165|160 24 [ 150|130 62 | 105 | 95 | 180 |2m%| 30
Full protection of sealing ring B Divectios i REEM “T" RERPE, TRREARREURTIRES S .
HeRh "S" ARTHEEHPIER.
36 TIANHUA TIANHUA 37



R %%ﬁ SRR, 0317-3628666 fE3. 0317-3626666

TIANHUA ELECTRIC

METHEITEREMBEN Change eypecially leciricianouistanding supplier

B R (1~3kV/315~630A)

QOutline dimensions

i
|| | |
f ’_’.:?. A
| :" Ty f’
s __E'dl
a EL-
6~10 I
I Wi
] ] |
10X 107 % 10X 10% 5
2 Square steel Square steel
3 i i/
- ] #d0 Lo ' #d0
t ' s
E i 1 iy L . e -
el] =517 b %E A '::_;__': = i) — |- BRET
r 1 1 ! = o Pt iy il ‘.. oil terminal
| . 01l terminal | 4
Hl ! = . ! = 'z'lﬂ
[ \ Il Ef%%%—ﬁﬂ BE-1k LE T - BFJ-1~ 3k
Full protection of sealing ring Disensions of opening of tank

38 TIANHUA

FARFF: 13703332099 [il: www.cnthdg.cn BF#Hi: th5689@ 163.com

(€ e=(

8TH.048.048-315A 8TH.048.049-315A 8TH.048.050-315A 8TH.048.028-315A
8TH.048.051-630A 8TH.048.052-630A 8TH.048.053~-630A 8TH.048.020-630A

HEPE Silicone shield sleeve

B YENEERIE (1~3kV/315~630A i IEEZEE)

Wafer type bushing outline dimensions(1~3kV/315~630A Plate connected bushing)

& S R st{Dimensions) FFL  arcing
Sequence L : opening dislance ©
Mumber Lode . OIS
Md d1 ‘ d3 o d0 h1

1 |TH.AAA.103[BF-1/3155 | 205 | 70 | 40 |M12x1.75| 56 | — | 55 | 25=25| 4 | 30 53 | 65 |18 4| 0.7
2 TH.AAE.'IG-E!BFJHDDE 225| 75 | 45 | M16x2 | 76 | — | 80 | 30=x30| 6 | 50 53 | 75 |184| 1.4
3 TH.EHU.1U3!BF-1IE3DS 225 | TS5 | 45 | M20=25 | 76 | — | BO | 35x30| 7 50 53 TS5 |18 1.7
4 TH-ABA.EEEIEFJ—EJ’31ES| 255 | 100 | 40 [M12x1.75]| 62 | 65 | 55 | 25%x25| 4 | 30 73 | 110 |28 5] 1.2
5 TH.AEIEI.HEEIBFJ-EMUUSI 275 | 105 | 45 | M16x2 | 86 | 95 | 8o | 20%30| & | 50 | 73 | 130 |2 4| 1.0
6 TH.AED-BE?-IBFJ—:!!EEDS' 275 | 105 | 45 | M20x2.5 | g6 | 95 | a0 | 3sx30| 7 | s0 | 73 | 130 |28%| 2.4

F: K25 “DZ" KERET, "T" KREPFE. THEZPFPEREHNERE~ &,
BEEN “S" AREHGEHPRER.

TIANHUA 39




(13
ﬁ%ﬁ Mm% 0317-3628666 {E¥: 0317-3626666

TIANHUA ELECTRIG
METHEITEREMBEN Change eypecially leciricianouistanding supplier

B SR (1~3kV/800~1250A)

Outline dimensions a0
40
t P s s e B ]
s I 7‘.'[ ! L
Ca
i = =
A I
— -' .
AR
-0 | A Direction
Fra - 10X 107 5
1 Square steel
Pl d ...:r““: } * I - + ; ﬁl'_"]
i r__!Iullil . .
....... = -
=~ ’ -”;_:_%:H ]I E 5 - : | e o 7
| L = - HAs]
e Ry i ' oil terminal
) Pt :?*n 11 a
. TR A T] edl -
S oe~10 L5 B BE-1kY
I o) §55 10X 1074
e | | | B 1. - < 80
= I e o i g LD
Ll -
:g ‘ =] r JREE T Rt il
A Al ea 28— e BEET
. SR I | 1 ) ; L oi] terminal
2-211/ | p b | > ¢
Bl '
BFJ=1~ZkY
[, I §xE2H#E AEFIRT
Full protection of sealing ring Dimensions of opening of tank

40 TIANHUA

FARFF: 13703332099 [il: www.cnthdg.cn BF#Hi: th5689@ 163.com

I 4

8TH.048.054-B00~1250A  8TH.048.055-800~1250A 8TH.048.056-800~12504
HEHE Silicone shield sleeve

B YENEERIE (1~3kV/800~1250A 2 IEEEE )

Wafer type bushing outline dimensions(1~3kV/800~1250A Plate connected bushing)

_ Hith Fu
R st {Dimensions) HFL  arcing

Dpaning Gestanca

Md dd di “E2 di h1

1 [TH.AAE.103BF-1/8005 |363| 90 [M24x1.5| — | 89| — |10 [s0x30| 25| 7| 60 | 63 | 80 |1me| 5.3
2 |TH.AAF.103BF-1/10008 [ 368 [ 90 [M30x1.5| 27 | 89 | — [ 11 |e0xa0| 30| 7| 60 | 63 [ 75 [1:4| 55
3 [TH.AAG.103BF-1/12508 [ 368 | 90 [M33x1.5| 30 | 89 | — [ 12 |e0xa0| 30| 8 | 60 | 63 | 75 [12%| 63
4 |TH.ABE.823BFJ-3/800S | 408 | 115 | M24x1.5| — [ 09 [120| 10 [50x30| 25| 7| 60 | 83 | 130 [204 6.6
5 |TH.ABF.823BFJ-3/10008 413 [ 115 [ M30x1.5| 27 | 99 |120[ 11 |60x30| 30| 7 | 60 | 83 | 130 |2:%| 6.0
6 [TH.ABG.823BFJ-3/12505 413 [ 115 [ M33x1.5| 30 | 99 | 120 12 |60x30| 30| & | 60 | 83 [ 130 |20 2| 77

iE: KEEM “T" ARRPE. THELZFARRZURT R G&.
BHeln "s" KREHEEMPHER.

TIANHUA 41




R

ﬁ@ ﬁ i BiE: 0317-3628666 fEIL: 0317-3626666
TIANRAVA ELECTRIG
HEHEIEKBHEEMN Chongo especially elociricianoutstanding supplier

B SMERT(1~3kV/1600~4000A) ;
QOutline dimensions ™ b "1
| ——+—t—1 4918
i)
i i Iy
‘ == =
T
"1, |
NS e
| A Direction
10X 10758
Square steel
1 80
Nl . -
.
o+, | N
= A | b S T EERT
) P B Py " ! oil terminal
I AT | o |
11 *’ e BF-1kV
: ] 10X 107 5
{l & Square stee]
e | — i |
E 1. i Fin | i ] —— ';-"'d.ﬂ
1 1 * . )
1-¢D ] = # T
[t 1 el / _ MAEHT
T 11 e 1 = - | oil terminal
15 i i
: " .
" 11 ~ 2
Tm ! #d
BEJ-1~3kY
. ll: E5E&E#3 AEFLR
Full protection of sealing ring Dimensions of opening of tank

42 TIANHUA

Ei#i: th5689@ 163.com

3l

FEARZESRF: 13703332099 Mik: www.cnthdg.cn
8TH.048.060-1600~4000A

FTERPE Parallel silicone shield sleeve

B ITENEERIE (1~3kV/1600~4000A - ZI=EEE)

Wafer type bushing outline dimensions(1~3kV/1600~4000A Plate connected bushing)

FE f R = ({Dimensions) BE ¢ £F

Code

LMD

TH.AAH.103

-

BF-1116005

482

155

120

M3IG=2

dd di

33

103

dz

d3

110

B
100

1]
20

t

14

80x85

14

63 | 75

shiald 'rrl'_-u;h',

184

kgl

10

TH.AAJ 103

BF-1/20005

482

155

120

Mda2x2

38

103

110

100

| 50

15

80=85

14

63 | 75

1804 11

TH AKE, 103

BF-1/25003

482

155

120

M45=2

38

114

140

100

50

1D

80=85

14

63 | 80

180

11

TH.AAL 103

BF-1/31505

487

155

120

MaBx2

42

114

140

{100

| 50

16

80=85

14

63 | 80

18412.5

TH.AAM 103BF-1/40005

562

195

155

M52x2

48

130

150

(120

60

18

100=100

18

65 | 85

184

13

m.ﬂsn-azmam-mﬁmq 527

180

{120

M3gx=2

33

113

130

110

100

50

14

80x85

14

83 | 125

2 g12.5

TH.AB.LB23

BF.J- BJE‘EIII}DSI 527

180

120

M42=2

38

113

130

110

100

50

15

80x85

14

83 | 125

28 5

13.5

TH.ABE. 823

BFJ-3/25008] 527

180

120

Ma5=2

38

124

150

140

(100

| 50

15

80x85

14

83 | 130

282421135

w ol | =@ e ) | kD

TH.ABL.823

BFJ-3/31505

532

180

120

Mag=2

42

124

150

140

(100

50

16

80=x85

14

83 | 130

2 i

15

-
=]

THAHHHJﬂBFJﬁHﬂDUﬁEﬂE

215

155

M52x2

48

140

150| 120

60

18

[100=100

18

85 | 140

24 16

EL 'H:ﬂ"ﬁm “TH ‘H'.-ﬁﬁﬁ"ﬁq EHEEFE#EEHEEEHFEIQ-

HelEh "S" ARTHHLHPTEEN,

TIANHUA 43



(13
%%ﬁ Mm% 0317-3628666 {E¥: 0317-3626666

TIANRAVA ELECTRIG
HEHEIEKBHEEMN Chongo especially elociricianoutstanding supplier

B SMERT(1~3kV/5000~7000A)

QOutline dimensions

-— 1 -
i
| ~ 150 _
A || M8
B == PP B - i g-@18
Leh— ¢ —y
==
. .
= |
b
1 |
I
1 AF
=1 Tt A Direction
i * Bl 10X 1075
— e o L Square steel
= 10~30 fe e |
- i _ _
: *
I 5 £ E
k-
s 38 35 7.
:E [] i Fd :‘E"ﬂ"f: {
= A ey 1 % oil terminal
1-918 = 1
o0 T e W R | e .
t 14 Py | fEFLRA
5 Dimensions of opening of tank
Bl
100

— —-—

[, II: ExE2K¥

Full protection of sealing ring

=
him

44 TIANHUA

FARFF: 13703332099 [il: www.cnthdg.cn BF#Hi: th5689@ 163.com

#S. TH.ABQ.808 HEHPE  Silicone shield sleeve
8E. BFJ-3r8000 8TH.048.010-5000~8000A

B ITENEERIE (1~3kV/5000~7000A FHZIEEZEE)

Wafer type bushing outline dimensions(1~3kV/5000~7000A Plate connected bushing)

wE JFu s -
e g R =f(Dimensions) HiL  arcing ™ 2 e i

- - I -
opening distance Ccreep hiald weight

Sequence  Code Model distance S (kg)

SULS! H h2 Md ¢d d1  d3 do h

1 TH.AAN.103 [BF-1/50005 | 622 | 185 | MS6=2 | 52 | 130|150 20 | 18 | 85 65 85 |[1ies| 20

TH.AAP.103 |[BF-1/6300S | 637 | 185 | ME0=2 | 56 | 155 | 160 | 22 | 22 105 75 110 | 18| 23

TH.AAQ.103 [BF-1/70005 | 642 | 185 | MB5%2 | 60 | 155 | 160 | 24 | 26 105 75 110 [ 154 | 25
TH.ABN.823 [BFJ-3/50005| 662 | 205 | MS56x2 | 52 | 140 | 150 | 20 | 18 95 85 140 | 28 | 23
TH.ABP.823 (BFJ-3/63005| 677 | 205 | MB0=2 | 56 | 165 | 160 | 22 | 22 105 95 180 | 284 | 26

L= I N T - S - 5

TH.ABQ.823 [BFJ-3/7000S| 682 | 205 | M65x2 | 60 | 165 | 160 | 24 | 26 105 95 180 |28 | 28

E: KEEM "T" AREPE. TRIESPHREVUNRTRE™ 6.
BElEm "S" KEEHFZMHPHER.

TIANHUA 45




SROIEE

TIANHUA ELECTRIC

METHEITEREMBEN Change eypecially leciricianouistanding supplier

B SERT(1kV/I630~5000A)

QOutline dimensions

=

] []
11 ) 84 ZZ:J....
23t ~H 7]
= T et e
- i ¥

i - S

o3 -.1. - .-.H':.

i

it

2200~ 30004

46 TIANHUA

B630~15004

g . 0317-3628666 {5H. 0317-3626666

- E:I - ~ LE HI -1
bl ; -l bl -
| ' i
F & F =
)3 |71 ey
1
il 2
- il -
- bl = i hl .
I -
¢ -
P! 17 i - ]
&2l =& el =&
1 I i
I
1
. "
Iy 1
i rection
i i i
=, [t
i 5 AERNCe
= 3-213 = 2 2213
it 1
n l__ tl
s 1 . |
| Lt L
! - | - 220031503
B |
10003 ~ 50004 L.
B Direction

FEARZESRF: 13703332099 Mik: www.cnthdg.cn

Ei#i: th5689@ 163.com

B IJEIVEERYZE (1kV/630~5000A )

Wafer type bushing outline dimensions(1kV/630~5000A )

LJ;.-:J.*. £ 8Cods  HEModel Rt (Dimensions)
Nusbar
ha Md di d3 [ B1B2 bi
1 |masosol| BFc-1/630 |170] 73 | 53 |M20<2.5/62 (435 A1 [ 6033 30| 8| — | —| —| 20 | 48 | 55 [18e] 2.1
2 |THAADS0z| BFC-1/630 |244| 73 | 53 [M20x2.5|62[43.5 A3 [ 400 [a0[ 8 | — | —[ —] 29 [ 48[ 55 |19e]2.3
3  |THAAGS0M| BFC-1/1100|195| 88 | 68 |M3D=1.5 TO|S8.5 A1 | 60=43 | 30 |14 — — | — | 38 | 48 | 55 |1ip:]| 2.4
4 |mancsozBrc-1/1100|259| 88 | 68 |M30x1.5|70(58.5) Ae | s0xe0 [40 10| — | —| —| 38| 48] 55 [1ne]27
5 |01 BFC-1/1500( 195 88 | 68 [M3ax1.575[615 A1 | 60was[30{16| — | —| —| 42 | 48 | s5 |1se|26
6 |maansoz|erc-1/1500(259| 88 | 68 |M33<1.5{75615| A4 |soxe0 [ 40 [12] — | —| =] 42 | 48| 55 | 18] 2.9
7 |THAAKS01| BFC-1/2200|225|116| 96 | M42x2 | 82| 70 | A2 | 80=43 | 25 |20 | 25«70 | 30 [ 30 | 50 | 48 | 55 |1qf:]| 3.4
8 |mHaaksoz|BFC-1/2200]309|116| 96 | Ma2x2 [82] 70 | A4 |100x100] 50 [ 12| 2570 | 30 | 30 | 50 | 48 | 55 |18e] 3.9
9 |THAAK903|BFC-1/2500(225(116| 96 | Masx2 [87| 74 | A2 | s0x43 | 25 |22 | 20x70| 30 | 30| 54 | 48 | 55 |184] 3.6
10 |[THAaKo04| BFC-1/2500|309| 116| 96 | Masx2 | 87| 74 | A4 |100<100] 50 | 14| 29x70| 30 | 30 | 54 | 48 | 55 |1pe| 4.1
11 [T™HAAL901|BFC-1/3150|315]|120| 100 | M48x2 |94 | 82 | A4 |100<100| 50 |16 |34=70| 30 | 30 | 62 | 50 | 55 |19 7.5
12 [THAAM901| BFC-1/4000| 380|155 135 | M52x2 | 94| 82 | A4 |120<125] 60 | 18 [38x100] 30 | 30 | 62 | 50 | 55 [18%| 10
13 [THAANS01| BFC-1/5000|395|163| 143 | Msex2 [110{103| e |120x125| 60 | 20 [43x100| 30 | 30 | 76 | 49 | 55 |18 12

TIANHUA 47




(2]
%ﬁ% M BiE: 0317-3628666 fE¥: 0317-3626666
TIANRUA ELECTRIG

WMERITERBMEEN Change especially electricianoutstanding supplier

B SMERT(10kV/50~315A)
Qutline dimensions
_IZXLT5
i M
T
o6 ool
! J1 s
il R .\.l_ : ‘
== hiib =
= ket
- L—r\_ B | e ﬁ.'l gdl]
P I, Fow
: L | ¥ 0
JEST TSqIER ] _ £ BN -
* : .ﬂ_% o S T JLE U
I ; gl : g 5
2 6~12 : & 2
¢ IR < 1MI2NE
. i m ot nE
& Fin?
o B0 L
B ¥
1. 1I: #5E+B7E coemend Alte tion
Full protection of sealing ring i { sk

wERLEH P) WMRBEER (H) [E B L 44
Aluminum Iate Butterfly aluminum Presser fool assembling
structure(P tablet (H) structure

48 TIANHUA

FARFF: 13703332099 [il: www.cnthdg.cn BF#Hi: th5689@ 163.com

8TH.048.031-¢100~115
8TH.048.057- ¢ 135~155

8TH.048.032- ¢ 100~115
8TH.048.058- ¢ 135~155

BEEHPE  Silicone shield sleeve

B FRIlEERIE (10kV/50~315A)

Draw—-lead type bushing outline dimensions(10kV/50~315A)

8TH.048.033- 4 100~-115
8TH.048.059- ¢ 135~155

mg TA

E,f, ?:E:ff B Code # BModel Rt (Dimensions) jfj-ir'w ;t‘giL;r':E-' d'::i%# o= f;’d ?:: i:;:fn
d1 do h1 )
1 TH.BDA.001 | BJL-10/50 | 305 208 65 115 B 65 119 320 | 3Mpd | 2.5
2 | THBDAOO2 | BJL-10/100 | 305 208 65 115 g B85 119 320 | g | 25
3 | TH.BDA.0O3 | BJL-10/250 | 305 208 65 115 12 65 119 320 | g4 | 2.5
4 | THBDAOO4 | BJL-10/315 | 305 208 65 115 16 65 119 320 | g | 25
5 | TH.BDA.OOS | BJL-10/50 | 315 218 60 100 & 65 134 390 | 54 | 25
6 | TH.BDAOOE | BJL-10/100 | 315 218 60 100 g 65 134 390 | 544 | 2.5
7 | THEDAOO? | BJL-10/250 | 315 218 60 100 12 65 134 390 | S | 2.5
8 | THBDAOOS | BJL-10/315 | 315 218 60 100 16 65 134 390 | 5@ | 25
9 | TH.BDA.O09 | BJLW-10/50 | 340 243 65 115 6 65 154 390 |3%k2h| 3
10 | TH.BDA.010 | BJLW-10/100 | 340 243 65 115 g 65 154 390 |3k2dh| 3
11 TH.BOA.O11 | BJLW-10/250 | 340 243 65 115 12 65 154 390 | 3K 3
12 | TH.BDA.O12 | BJLW-10/315 | 340 243 65 115 16 65 154 390 | 3K 34
¥ EAREESHNERNSEN P, EAYSEGAELFHERNSEM “"H”
fEE5m “DZ" {LEREF, "T" H‘.ﬂﬂ#ﬁﬁ RATHIEEFASKENRE RG> M.
TIANHUA 49



=3
i
zt
B
4

WMERITERBMEEN Change especially electricianoutstanding supplier

B 2R (20kV/50~315A)

QOutline dimensions

_ MIZXLT5

hl

|
T
==

vy
v
-
. v - Il
1 N
oy o e
£ S
| e -;.TI
e Y Y
T o e T
oK AT g st A A
- . ey P I
ST ekl [ g
Pt RS P W
-.. -_..\_ ﬁd?
s I S e
L o
L ] b e ) 5
Eei : <y
T S e
sl R S %
e Wiy 5
T L .
I---.-.-. --.-. -I
g R w! il

g . 0317-3628666 {5H. 0317-3626666

= £ &5 Platen assenbling structure = AR Pressor fool asseabling structure
!
1 = PR e
@ o . 8127+0.5
A e I W~y o B $120~¢116
| HES, A ' od) < ”
I 'l_'-ei;;"z R [ i .
| s ) i > =,
oo fi~12 b i
1o | 1 $ -NI2X58 , 4, JM2K5S
i e 1 P
i ik " - 7]

- - i

1. Il: E5E2E7E

&1t 77 Alternativetion

v

e i X FF, Recommendation
Full protection of sealing ring

a & F T AT Dimensions of opening of tank

BIERSH (P) WMRBEER (H) [ER G4
Aluminum plate Butterfly aluminum Presser fool assembling
structure(P) lablet (H) structure

50 TIANHUA

FARIEHF: 13703332099 RMik: www.cnthdg.cn

B SR EERIE (20kV/50~315A)

Draw-lead type bushing outline dimensions(20kV/50~315A)

ER#i: th5689@ 163.com

ﬂlﬂr:n' £ ECode & SModel ARSI Eﬁl ;’i“}ﬂ ';EEE' £ f -.-E:igén
HiRher * aslance distance  chield Et'l'.-'i )
do h1

1 TH.BFA.001 BJL-20/50 365 268 65 115 & 65 179 380 | app 2.8
2 TH.BFA.002 BJL-20/100 | 35 268 65 115 9 65 179 380 | 3fp g 2.8
3 TH.BFA.003 BJL-20/250 | 365 268 65 115 12 65 179 380 | g 2.8
4 TH.BFA.004 | BJL-20/315 | 385 | 268 65 115 16 65 179 380 | 3fes: | 29
5 THBFA.005 | BJL-20/50 | 375 | 278 65 115 6 65 189 430 | 4 | 3.2
6 TH.BFA.006 | BJL-20/100 | 375 | 278 65 115 g 65 189 430 | 4 | 3.2
7 TH.BFA.007 | BJL-20/250 | 375 | 278 65 115 12 65 189 430 | 4fps | 3.2
8 TH.BFA.008 BJL-20/315 | 375 278 65 115 16 65 189 430 | 49 4 3.3
9 TH.BFAD58 | BJL-20/50 | 425 328 65 125 6 65 239 610 | s | 3.8
10 TH.BFA_059 BJL-20/100 | 425 328 65 125 9 65 239 610 | &fp 3.8
1 TH.BFA.060 | BJL-20/250 | 425 | 328 65 125 12 65 239 610 | ot | 3.8
12 TH.BFA.061 BJL-20/315 | 425 328 65 125 16 65 239 610 | efp 3.9
13 TH.BFA.013 | BJLW-20/50 | 375 | 278 65 115 6 65 189 430 | akah | 3.5
14 TH.BFA.014 |BJLW-20/100| 375 | 278 65 115 9 65 189 430 | 3k2d| 3.5
15 TH.BFA.015 |BJLW-20/250| 375 | 278 65 115 12 65 189 430 | 3Xk2ds | 3.5
16 TH.BFA.016 |BJLW-20/315| 375 278 65 115 16 65 189 430 |3k | 3.6
17 TH.BFA.029 BJL-20/50 ar1 274 &0 100 & 65 190 470 | TR 3.1
18 TH.BFA.030 BJL-20/100 | 371 274 60 100 9 65 190 470 | 7 3.1
19 THBFA D031 | BJL-20/250 | 371 274 60 100 12 65 190 470 | 7id | 3.4
20 TH.BFA.032 | BJL-20/315 | 371 274 60 100 16 65 190 AT0 | 78 | 3.2

F: RAGERSEHAMENESEN P, EAYMSRRKERMERESEEM “H"
HEEm "DZ" fERREF, "T" KERPE. SATHEE,PSRKEHRERHT R,

TIANHUA 51

i
9
i,
=
-



MBI . 0317-3628666 {53. 0317-3626666 HAER. 13703332099 Mik: www.cnthdg.cn BB#i: th5689@ 163.com

FEES

METHEITEREMBEN Change eypecially leciricianouistanding supplier

B EFHIIEERYE (20kV/50~630A)

Draw-lead type bushing outline dimensions(20kV/50~630A)
B SMERY(20kV/50~630A)

R (Dimensions)

=3
i
zt
B
4

QOutline dimensions

hl

H

h R
) 8 abling siruc wi hlisg sire 12 | THBFA.020 |BJLw-20i315| 375 | 278 |mMi2x1.75| 125 | 16 | 0o | 46 | 85 | 189 | 4%0 | aked| 3
| _'—E:M 315 h. A 10.; o b i Sl 13 | TH.BFB.001 | BJLW-20/400| 406 | 262 | M16=2 | 135 | 16 65 | 59 70 | 189 | 490 | 3k2p | 45
. - ., . . 14 | TH.BFD.001 | BJLW-20/630| 406 262 | M20=2.5 135 20 65 89 70 189 490 X2 4.5
- D & o ki % i I~ & s 15 | TH.BFA.025 | BJL-20/50 | 505 | 408 |M12x1.75| 135 | 6 65 | 48 70 | 319 | 810 | 7% | 7.2
e ! i, I II!;'..":.L ) Yy : ) 5 16 | TH.BFA.02G | BJL-20/100 | 505 | 408 [MI2=1.75 | 135 9 65 46 70 319 &10 T 7.2
o -d_;.s-ﬁldS ai /™~ @ ) \ - 17 | THBFA.027 | BJL-20/250 | 505 | 408 |Mi2x1.75| 135 | 12 | 85 | 48 70 | 319 | 810 | 7% | 72
L :':il.;f:- ?1‘:;;{:;':‘1 of sealine ring “'-*.'- e : - r : ' f 18 | TH.EFA.028 | BJL-20/315 205 | 408 | M12x1.75 | 135 16 65 46 70 319 810 T 7.3

52 TIANHUA

--:-r cce  fRBCode
!I[d Nuahar

1 | TH.BFA.021
[-3-1 2 | TH.BFA.022
] F%-—%F Il 3 | TH.BFA.023
i g f'g - 4 | TH.BFA.024
R "ﬂ ﬂ—j’ I 5 | TH.BFA.041
e | BRiRbh 7 | TH.BFA.043
e [l .a' 8 | TH.BFA.044
:_-:;:;:f:i_:r-_-._i- ‘:_31:_?:5:;:-_-.-_: ’ 9 | TH.BFA.017

= 7] : '
%:'Eﬂ'“m ol ﬂmﬂ%ﬁﬁ, (H) EMEE ) 24 | TH.BFA.O57 | BJLW-20/315| 425 | 328 | M12=1.75 | 155 16 70 46 75 238 760 4R34 5
Aluminum plate Butterfly aluminum Prazsser foot assembling

siructurerfﬁ'} tablet (H) structure

B Modal

md d1
BJL-20/50 505 408 | MI2x1.75 | 115 &

63 46 70 319

250 afp 5

BJL-20/100 o505 408 | M12=1.75 115 9

65 46 i) 319

£50 48 5 5

BJL-20/250 | 505 | 408 | M12=1.75 | 115 12

65 46 70 319

250 A g 5

BJL-20/315 505 408 | M12=1.75 115 16

65 46 70 319

550 48 5 5

BJLW-20/50 | 425 328 [ M12x1.75 | 135 G

60 46 65 239

G680 a3 5.3

BJLW-20/100| 425 328 | M12=1.75 135 9

60 46 65 239

680 434 53

BJLW-20/250| 425 328 | M12x1.75 | 135 12

60 46 65 239

G680 43 5.3

BJLW-20/315] 425 328 | M12%1.75 135 16

60 46 65 239

G680 434 5.3

BJLW-20/30 | 375 278 | MM2x1.75 | 135 G

] 46 G5 189

490 X 3.7

10 | TH.BFA.018

BJLW-20/100| 375 278 | M12x1.75 | 135 8

60 46 65 189

490 33X 24 3.7

11 TH.BFA.019

BJLW-20/250| 375 278 | M12=1.75 135 12

G0 L1 65 189

490 A2 3.7

19 | TH.BFB.003

BJL-20/400 536 302 M1G=2 135 16

65 59 70 319

810 TR 8

20 | TH.BFD.003

BJL-20/630 | 536 | 392 | M20=2.5 135 20

65 59 70 319

810 g 8

21 TH.BFA.OG4

BJLW-20i50 | 425 328 | M12=1.75 155 G

7o A6 75 238

760 4K 3 5

22 | TH.BFA.055

BJLW-20/100) 425 | 328 | M12x1.75| 155 9

7o 46 75 238

760 43 5

23 | TH.BFA.O56

BJLW-200/250| 4235 328 | M12=1.T5 135 12

70 46 75 238

760 | 4K 5

TIANHUA 53

i
9
i,
=
-




AL 13703332099 Mik: www.cnthdg.cn EBfi: th5689@&163.com

%ﬁ% I EIE: 0317-3628666 f§¥H: 0317-3626666

TIANHUA BLEGTTRIG

HTMTRBHER change erpocially electricianautstanding Lupplier

B MR T(35kV/50~630A)

Outline dimensions
W
B SFHIlEERY% (35kV/50~630A)
W Draw-lead type bushing outline dimensions(35kV/50~630A)
: . k3
| Bl #if FA -
..... pedscrew BEASH (P) e T E——— A arcing MEE . m
b Aluminum  platestructure(P) Sequence {2 A Dimane 00 Gl ol creep g weight
841 % 5~ ][ Humber QSaNce chiald ﬁt-.;j]
: ; ﬁ h2 h3 hd . : d0 hi
o el " 1 | THBHAD01 | BJL-35/50 | 550 | 453 | 100 | Mi2x175| 6 | 46 | 105 | 325 | 930 | 7G| 15
& el ) . | i ! I 2 THBHA00Z | BJL-35/100 550 | 453 | 100 | M12=1.75 9 46 105 325 930 | T4 15
¢ e P Bt ";F 3 | THEeHA003 | BuL-35/250 | 550 | 453 | 100 [mizazs | 12 | a6 | 105 | 225 | 930 [7me| 1s
o]+ et | | O» 4 |THBHAo04| BuL-35/315 | 550 | 453 [ 100 |mz<175 | 16 | 46 [ 105 | 325 | 930 [ 7| 15
= <@ e, S 800 ﬁ' % 5 | THEHB.OO1 | BJL-35/400 | 581 | 437 | 100 | M1&x2 | 16 | 59 | 105 | 325 | 930 | 7@ | 15
= R i L b 6 |THBHDo01| BuL-3s/630 | 581 | 437 | 100 | Mmeoes | 20 | so | 105 | 325 | 930 |7 15
i e 9115 B | ERH
TN = e o el 8175 prassar foot assembling T TH.BHA.005 BJL-35/100 756 | 571 120 Mi1Gx2 12 69 105 444 1160 | 90t = 17
e . o= et i I RIINg
EEosa 4 Biadd- = = R - o # 8 | THEBHA006 | BJL-35/250 | 756 | 571 | 120 | Mie2 | 16 | 69 | 105 | 444 | 1160 | 9@k | 17
: Sk 1 pocn > <3 B170+0.5 9 | THBHB.002 | BJL-35/400 | 756 | 571 | 120 | M1ex2 | 20 | 69 | 105 | 444 | 1160 | 9w | 17
v qd | 4 - i #d0 -~ ’ 10 | THBHD002 | BJL-35/630 | 756 | 571 | 120 | Meo2s | 24 | 69 | 105 | 44a [ 1160 | 0w | 17
= e 1 . -
[[| tess S ;‘-'TT 5 RN 11 | THBHAO49 | BJL-35/100 | 846 | 661 | 120 | MIBx2 | 12 | 69 | 105 | 534 | 1410 [11@%| 20
T o, ool l = . -
L I?l Voot ~ 6-M12X 65 12 | THBHA050 | BUL-35/250 | 846 | 661 | 120 | M2 | 16 | 69 | 105 | 534 | 1410 [118%] 20
_— o i it R i e = . oA
= R 7 23 g 1 13 | THEHB.O16 | BJL-35/400 | 846 | 661 | 120 | Mi6x2 | 20 | g9 | 105 | 534 | 1410 |18 | 20
. it 1 1 1 TIE 14 | THBHD.016 | BJL-35/630 | 846 | 661 | 120 | M20=25 | 24 69 | 105 | 534 | 1410 | 1184 2¢
100 2100 Dimensions of opening of tank
= = pening F: EPBELSHMERSEM “PT , REEM “DZ" RERMT, T RERPE.
I E£4BLR#H FHATHEREPBREHR TSR,
Full protection of sealing ring
54 TIANHUA TIANHUA 55



g . 0317-3628666 {5H. 0317-3626666

FARFF: 13703332099 [il: www.cnthdg.cn BF#Hi: th5689@ 163.com

FEES

METHEITEREMBEN Change eypecially leciricianouistanding supplier

B 2R (35kV/100~630A)

Outline dimensions

B SFTIEERYE (35kV/100~630A)

HEER Draw-lead type bushing outline dimensions(35kV/100~630A)

3 s (Dimensions) T arcine 236 & T B
Sequence  {£ ECode B EModel ik 9 s ,__-:.:- ‘Eld weight
Humber =ne .

Bleedscrew

opening distance creep

Md
it
él?
09 S0/ 1
i Pl
TR RO,
5 — B — |

distancea

(kg)

2 do h1 s
i L
= 1 TH.BHA.007 BJL-35/100 651 | 468 | M16x2 | 210 | 12 | 150 | 339 | 650 | sipde | 16 =
B B
i 2 TH.BHA.008 BJL-35/250 651 | 466 | M16x2 | 210 | 16 | 150 | 339 | 650 | s | 16 i@
3 TH.BHB.003 BJL-35/400 651 | 466 | M16x2 | 210 | 20 | 150 | 2339 | 650 | sipde | 16
e 4 TH.BHD.003 BJL-35/630 651 | 466 |M20x2.5| 210 | 24 | 150 | 339 | 650 | sig | 16
— % = =y 5 THBHAO009 | BJLW-35/100 651 | 466 | M16x2 | 225 | 12 | 150 | 339 | 900 |5ksp| 21
T I = _f F ?\ &7 f‘ e 6 THBHA010 | BJLW-35/250 | 651 | 466 | M16x2 | 225 | 16 | 150 | 339 | 900 |s5ksh| 21
o r el - - .
Jrmsy, el ('< S T _\_/f/ 7 THBHB.004 | BJLW-35/400 | 651 | 466 | M16x2 | 225 | 20 | 150 | 339 | 900 |s5AkS)h| 21
SRt porss 3 M . 8 | THBHD.OO4 | BJLW-35630 | 651 | 466 |M20%2.5| 225 | 24 | 150 [ 339 | 900 |sksm| 21
[ ] = B 4548 (P) FEMPaK
THRA o Aluminum The flange is equipped 2] THEHA013 BJL-35/100 756 871 M16x2 210 12 150 444 875 7o 4 18
L. | . " platestructure(P) by user
10 TH.BHA.014 BJL-35/250 756 | 571 | M16x2 | 210 16 150 | 444 875 | 7o | 18
i ” ' ” 1 @l00.5 11 TH.BHB.006 BJL-35/400 756 | 571 | M16x2 | 210 | 20 | 150 | 444 | 875 | 79§ | 18
_ a==u T 0 P s ® 4 12 | THBHD.006 | BJL-35/630 | 756 | 571 |M20x2.5] 210 | 24 | 150 | 444 | 875 | 7% | 18
B : e \ o g 13 | THBHAO015 | BJLW-35/100 | 756 | 571 | M16x2 | 225 | 12 | 150 | 444 | 1200 | 7kedh | 24
P — T 1 LN s &, D 14 | THBHAOIG | BJLW-351250 | 756 | 571 | M16x2 | 225 | 16 | 150 | 444 | 1200 | 7kein| 24
¢140 o o % ‘7 % 15 | THBHB.OOT | BJLW-351400 | 756 | 571 | M16x2 | 225 | 20 | 150 | 444 | 1200 | 7Xked | 24
— .f" A
o T T E et 16 TH.BHD.007 BJLW-35/630 756 | 571 | M20=2.5| 225 24 150 | 444 | 1200 | 7&kéh | 24
I #5ELH#E ; assambing Sinstture
P U RETVT = 8 -
: L o ERTAS #: EAGERGHHNERSEN P" , £2EN “DZ° RERETF, “T" KERHPE.
Full protection of sealing ring Dimensions of opening of tank EHAHMEEAE R TN TS ES.,
56 TIANHUA TIANHUA 57



=3
i
zt
B
4

WMERITERBMEEN Change especially electricianoutstanding supplier

B 2R (35kV/100~630A)

g . 0317-3628666 {5H. 0317-3626666

Outline dimensions

Md
: Gk 403
ﬂ Bleedscrew
TI
B ‘Fil-*_
I 2l [
: T B :
HiB "od?
= 1% }'ﬁ
i > - lo-
______ 5 K_ ..,"'}
Tty o
i ol = BERLEN (P)
pralyals g | Aluminum
1 1 platestructure(P)
L & o
== =i
'1:_];:;;- | _:-j-] i 22100,
| Rt | :
=2 1 6~12 ", ~ '
2 4 ; Y
11 ' 1 L 8-N12%65
- 'E'Ilﬂ - : ..f o b
Full protection of sealing ring Dimensions of opening of tank

58 TIANHUA

Z=RPE&
The flange is equipped
by user

m}ﬁﬂ

<
VS
T B2 4

Presser foot
assembling structure

FARIEHF: 13703332099 RMik: www.cnthdg.cn

B FHIEERIE (35kV/100~630A)

Draw-lead type bushing outline dimensions(35kV/100~630A)

ER#i: th5689@ 163.com

L Rt (Dimensions) J;:Ip;gi: :rfc:ﬁ g JEE i
d d1
1 TH.EHA.011 BJLW-35/100 56 | 571 120 M1Gx2 250 12 150 444 1120 | Sx4d4)s 24
2 TH.BHAO01Z | BJLW-35/250 a6 | 571 120 M1G6x2 250 16 150 444 1120 | 5X44 24
3 TH.BHB.O0S | BJLW-35/400 756 | 571 120 | M16=2 | 250 20 150 444 1120 | 5k 24
4 | THBHD.005 | BJLW-35/630 | 756 | 571 | 120 |M20x25| 250 | 24 | 150 | 444 | 1120 | 5k4d | 24
5 TH.BHAD1T | BJLW-35/100 841 GoG 120 M1Gx2 250 12 150 529 1380 | 65 29
5] TH.BHA.018 | BJLW-35/250 | 841 | 656 | 120 | MiG6=2 | 250 16 150 529 1380 | 65 29
7 TH.BHB.O08 | BJLW-35/400 841 G56 120 | M16=2 | 250 20 150 529 1380 | 6A54 29
8 THEHD.O08 | BJLW-35/630 841 656 120 | M20x2.5]| 250 24 150 529 1380 | 654 29
] TH.EHA Q1S | BJLW-35/M100 926 T41 120 M1Gx2 250 12 150 514 1550 | ¥XB 34
10 TH.BHAQ20 | BJLW-35/250 926 | 741 120 | M16=2 | 250 16 150 614 1550 | 7X60 34
11 TH.BHB.O0S | BJLW-35/400 926 | T41 120 | M16=2 | 250 20 150 614 1550 | 764 34
12 TH.BHD.009 | BJLW-35/630 926 | 741 120 | M20x2.5| 250 24 150 614 1550 | 764 34
13 TH.BHA.D21 BJLW-35M100 1011 | 826 120 hiG=2 250 12 150 699 1860 | &7 39
14 TH.BHA Q22 | BJLW-35/250 | 1011 | 826 120 | M16=2 | 250 16 150 699 1860 | 8X7 39
15 TH.EHB.O10 | BJLW-35/400 | 1011 | 826 120 | M16=x2 | 250 20 150 699 1860 | BX7) a9
16 TH.BHD.010 | BJLW-35/630 | 1011 | 826 120 | M20=2.5| 250 24 150 699 1860 | BT a9
17 TH.BHAD02Z | BJLW-35/100 1141 | 956 250 Mig=2 250 12 150 599 2150 | 9&8) 46
18 TH.BHA.024 | BJLW-35/250 1141 | 956 250 MiG=2 250 16 150 G99 21850 | 984 46
19 TH.BHB.0O11 | BJLW-35/400 | 1141 | 956 | 250 | M16=2 | 250 | 20 150 699 | 2150 | 9%kB | 48
20 TH.BHD.O11 | BJLW-35/630 | 1141 | 956 | 250 |M20=x25| 250 24 150 699 2150 | 9:X84 46
H: ARRESSZHMNERESEN "P" , £EE5h "DZ" KERE-TF, "T" KREPE.
HMREEPREENNERART&.
TIANHUA 59

i
9
i,
=
-




n
RIEEH —
TIANHUA BLEETRIG
PBEMIESMHERS Change otpecially electricianoutstanding supplior
B MER<(20~35kV/800~1250A)
Qutline dimensions
o
o
— I N
- i o
) .
il = =
i . P,
.'||_
#d i
o5 T \H
t:-h['!'l- M4 Blecdscren A Direction
i o
Lk ‘;I:_g;_ :%1 [l | |
i T ] I W o o
L BT o7, KU
TR gl
L fi:f ot |
(| s
i .:;EiL - e i i #d -
= Sl 1B~12 EpEl ! =
= £ o = B B oD Pt
1 ¥ . [ too . '
8140 p100 o
3ok 20KV 4

e ALY A B py B
”. o o s W 5 T
+ -l i e ¥

Full protection of sealing ring

60 TIANHUA

0317-3628666 %3 : 0317-3626666

wﬁﬁﬂ
di&\g?a

L

——
wmERSH (P) B i
Aluminum Presser fool
platestructure(P) assembling structure
o L0205 #1700.5
’
S M 2l 2 e
6 1
= "F Lt " " " F
£ ax !
8-MI2 X6 : .z
~ ok x| G-UIZXES
c ke o S 0%
v BkV
13k W= s L
o BT

Dimensions of opening of tank

FAZH: 13703332099

Fa4k: www.cnthdg.cn BB#f: th5689@163.com

B F4TIEERY%E (20~35kV/800~1250A )

Draw-lead type bushing outline dimensions(20~35kV/800~1250A)

S Rt (Dimensions) 3 jmq ¥ 3 i
Numbey [eSCode  ESModel opening dstance creep %M  weight
distance shield (kg)
Md dd D1 Do H1
1 |TH.BHE.001| BJLW-35/800 | 863 | 565 |M24x1.5| — | 250 | 30 | 10 | 150 | 444 | 1120 | S5kah| 27
2 | TH.BHF.001| BJLW-35/1000 | 868 | 565 |M30x1.5| 27 | 250 | 35 | 11 | 150 | 444 | 1120 | Skah| 27
3 |TH.BHG.001| BJLW-35/1250 | 868 | 565 |M33x1.5| 30 | 250 | 40 | 12 | 150 | 444 | 1120 |Skah| 27
4 |TH.BHE.002| BJLW-35/800 | 948 | 650 [M24x1.5| — | 250 | 30 | 10 | 150 | 529 | 1380 |6kSh| 32
5 |TH.BHF.002| BJLW-35/1000 | 953 | 650 |M30x1.5| 27 | 250 | 35 | 11 | 150 | 529 | 1380 |6AS/)h| 32
6 |TH.BHG.002| BJLW-35/1250 | 953 | 650 |M33x1.5| 30 | 250 | 40 | 12 | 150 | 528 | 1380 |6A5| 32
7  |TH.BHE.003| BJLW-35/800 [1033| 735 |M24x1.5| — | 250 | 30 | 10 | 150 | 614 | 1550 | 7Ae/h| 37
8 |TH.BHF.003| BJLW-35/1000 | 1038 735 |M30x1.5| 27 | 250 | 35 | 11 | 150 | 614 | 1550 | 7A6/h| 37
9  |TH.BHG.003| BJLW-35/1250 | 1038 | 735 |M33=1.5| 30 | 250 | 40 | 12 | 150 | 614 | 1550 | 7kep| 37
10 |TH.BHE.004| BJLW-35/800 |1118| 820 ([M24x1.5| — | 250 | 30 | 10 | 150 | 699 | 1860 | 8K7/| 42
11 |TH.BHF.004 | BJLW-35/1000 | 1123 | 820 [M30=1.5| 27 | 250 | 35 | 11 | 150 | 699 | 1860 |8KW| 42
12 |TH.BHG.004| BJLW-35/1250 [ 1123 | 820 ([M33x1.5| 30 | 250 | 40 | 12 | 150 | 699 | 1860 | 8Kk7/| 42
13 |TH.BFE.001| BJLW-20/800 | 657 | 365 [M24x1.5] — |195| 30 | 10 | 105 279 B10 | 4X3| 9
14 | TH.BFF.001 | BJLW-20/1000 | 662 | 365 [M30=1.5] 27 | 195 | 35 | 11 | 105 | 279 | 810 |[4X34| 10
15 |TH.BFG.001| BJLW-20/1250 | 662 | 365 [M33x1.5] 30 | 195 | 40 | 12 | 105 279 810 | 4k3 | M
I ZRGERSFHNHENSER "P" , REEM "T" KRRIPE.
BHATHEEPEREHIN NG~ &,
TIANHUA 61




MBI . 0317-3628666 {53. 0317-3626666 HAER. 13703332099 Mik: www.cnthdg.cn BB#i: th5689@ 163.com

WMERITERBMEEN Change especially electricianoutstanding supplier

B FRILESRIE (10~20kVINIEET)

Draw-lead type bushing outline dimensions(10~20kV with a welded rod)

B MERT(10~20kVIlIEE) W% FA _

Outline dimensions - a,?u:,t,, IEE g Clnarslons: afnﬁw ;:Q:i ::I:Eeiﬁp 4 i uﬂu

e MEXL T Number distance SN€ld  (kg)

i [ i h2 h3 d1 : d0 h1

56 I.:': I i TH.BDA.801 BJD=10/100 305 345 65 115 G0 ] 119 320 ]| LEH 2.7

':[ %’ 2 TH.BDA806 | BJD-10/100 | 315 | 345 | 60 | 100 | 60 | 65 | 134 | 390 | sy | 27

i _ q 3 TH.BDA. 808 BJD-10/100 375 | 400 120 100 60 65 134 | 390 | sipg 3

= e L - 4 | THBDAB11 | BJDW-10/100 | 340 | 345 | 65 | 115 | 60 | 65 | 154 | 390 |sxzp| 3.3

% _ 5 TH.BFA.861 BJD-20/100 425 | 459 65 125 | 60 65 | 239 | 610 | sipf | 4.1

i = ' 6 | THBFAS71 | BJOW-20/1100 | 425 | 450 | 65 | 155 | 70 | 75 | 238 | 760 |akam| 5.5

= ::::- _::' : = 7 TH.BFA.806 BJD-20/100 371 | 400 60 100 | 60 65 | 190 | 470 | 74| 3.4

* = ' h i 8 TH.BFA.811 BJD-20/100 375 | 400 B5 115 | &0 65 189 | 430 | 4% | 34

: ' B ) 9 THBFA812 | BJD-201100 | 410 | 450 | 100 | 115 | 60 | 65 | 189 | 430 | athse | 3.3

i‘ S22 | B *1 :j"; | w . emHs L s o 10 | THBFA813 | BJD-20/100 | 430 | 459 | 120 | 115 | 60 | 65 | 189 | 430 | 4% | 3.4

gt (| RS | AR, \ \ ; “ D A=) 11 THBFA814 | BJD-201100 | 460 | 4590 | 150 | 115 | 60 | 65 | 189 | 430 | a4 | 3.5

- | i~ ljl | ; N { :,E': ; :,:‘ 12 TH.EFA.B16 BJDW-20/100 375 A00 65 135 (210 65 189 490 [ 3X2p| 3.6

| y XSS LK . *'{f:“ 13 TH.BFA817 | BJDOW-20/100 | 410 | 459 100 135 | 60 65 189 | 490 |3k2/| 3.9

" | o ' vl . P 14 TH.BFA.819 | BJOW-20/100 | 460 | 459 | 150 | 135 | &0 65 | 189 | 490 |3k2)| 4.2

3, o 1

e 40=T5 e . 15 | THBFAB21 | BJOW-20/100 | 425 | asa | 65 | 135 | 60 | 65 | 230 | 680 |akan| a8

1. Il: $8ELBSR i b 16 THEFA 822 | BJOW-20/100 | 460 | 450 | 100 | 135 | 60 65 | 239 | 680 |4xan| 5.1

Full protection of sealing ring 17 | THBFA824 | BJDW-20/1100 | 510 | 535 | 150 | 135 | 60 | 65 | 239 | 680 |akap| 5.3

18 TH.EFA.B26 BJD=-20/100 505 535 65 115 65 70 3149 550 A1 g 5.5

19 | THBFAS29 | BJD-20/100 | 590 | 535 | 150 | 115 | 65 | 70 | 319 | 550 |44 | 5.8

20 | THBFA831 BJD-20/100 | 505 | 535 | 65 | 135 | 65 | 70 | 319 | 810 |74 | 7.8

21 THBFA834 | BJD-20/100 | 590 | 535 | 150 | 135 | 65 | 70 | 319 | 810 |74 | 8.2

RERLSH (P) BRBRER (H) [E s ¥ AAEELHENMENSEN P, BAMKNAELMENSEN “H"
Aluminum r!J-Iallvz.t Butterfly aluminum Presser foot assembling REEM "DZ" #BREF, “T" RRRHE. BSATHEEAREEHTTNEES.
structure(P) tablet (H) structure :

62 TIANHUA

TIANHUA 63




R
ﬁ%ﬁ WM RIS : 0317-3628666 {EF:. 0317-3626666 HARFH . 13703332099 Mik: www.cnthdg.cn BB#i: th5689@163.com

TIANHUA ELECTRIG
METHEITEREMBEN Change eypecially leciricianouistanding supplier

B SMERT(1~3kV/2000~7000A) ]
Qutline dimensions
-— B - B -
i 818 i 491

I 1 - - - 1 | L » It -.l. [ .._II._.

-—1_. T ..r"' | o - i
! [] o= = I
, H 1P NEPS :.:I:;I..:. & —b A [
+ ! - L ooyv— iy — gd 11
- T 2000~ 4004 T i ) =

=T L 5000~ 70004 o — . ' -

i A Direction L
) M X107 R o W
L e : . o
smmre sleel
o e - O, B FHFHEER % (1~3kV/2000~7000A )
‘e A 1 & T 45405 é Rod type bushing outline dimensions(1~3kW/2000~7000A )
‘ ’.. - L .\-_. " i .r. e = . s 4., :\:L
_ e | R L o \ .:i o e e ddl e Fu
= = ety | | v > & 3 # T ! BB | :__, 2 - s (Dimensions) FFE arcing RE
1, .-f,,.i gt ke R K58 Ei L i » (£ BCode B EModal cpening distonce
1 X f 2 | | ez %, v I
. F 20 || Coaeletl oo ] | 1D
iz tl =X, R 5:-:@-1-I r
s — bl i ! 1 |TH.CAJ.S02 |BDF-1/2000 [407| 51| 16 |[M42=2| 38 [120] — [140[140[100{ 50| 15| — |—|—|120|90|45| 85 | 38 | 125 |iipd| 85
I | X0 =2 , | r B~16 2 |TH.CAL.90Z |[BDF-1/3150 [412| 51| 16 [M48=2| 42 |[120| — [140{140(100{ 50| 16| — |—|—[120{90]| 45| 85 | 38 | 125 |14| 10
55 5 - Square stee] rr . : 3 |TH.CAM.902|8DF-1/4000 |467| 60| 20 |Ms2x2| 48 |130| — |150{150{120 60| 18| — |—|—|135|120| 55| 95 | 38 | 125 1| 135
P T — — = 5t mua'us h3 Ly 4 |TH.CAN.902 |BDF-1/5000 [527] 60| 20 [MsBx2| 52 [130] — 15n1sn|15n saf20| — |—|—|13s|120| 55| o5 | 38 | 125 [144| 145
= L i 5 —F ¢l 5 |TH.CAP.90Z |[BDF-1/6300 [532| 62| 22 |M60x=2| 56 150 — 1601?01150 50022 = |—=|—=|150|130| 62| 105 | 38 | 140 [1fnsk]| 16
=8 4&1':_‘-.,5' oS 3 _ ! < 6 |TH.CAQ.902|BDF-1/7000 |537| 62| 22 [M65=2| 60 [150] — |160{170[150 50| 24| — |—|—|150/130 105 | 38 | 140 [1004| 17
5 3 = 612X | A
{4} I ' | }r,. em| = | L=l 7 |TH.CBJ.903 |BDFJ-3/2000|567|180{120{M42x2| 38 [120|150(140[140(100{ S0 [ 15| 8085 [14 | 14| —| —| — | 85 | 68 | 180 |18 9
L C R - ] .
p | | ; | 1 pra Bl s 8 |TH.CBL.903 |BDFJ-3/3150{572{180/120|Ma8x2| 42 120 ﬁuuuuulmu 5016|6085 |14 15| —]|—| —| 85 | 68 | 180 |14 105
B &w:'n:mn 3 ' 9 |TH.CBM.903 snw-mmun]wzmslwa M52x2| 48 [130] — 15n15cr|12n 60|18 (100100 18| 16| —| — | — | 95 | 68 | 180 [1ing| 15
I: E4EARRS L B 10 |TH.CBN.903 snm-mamrnzmsh&s Msex2| 52 [130] — 15015L'I|15l} 50|20 oo 18| 18| —| —| —| 95 | 68 | 180 [1insk| 16
R L .;_-Eﬂ'.ﬂ -;I "
Full protection of sealing ring Dimensicns of opening of task B Direction 11 |TH.CBPS03 |BDFJ-3/6300 ?0?254195 MB0=2| 56 [150] — 160 1ru[150 s0(2z [w0oxto0 18| 22| —| = | —| 105 | 68 | 200 [19nsk| 18
12 |TH.CBO.903 |BDFJ-3/70 ?12:5419& MB5x2| 60 [150| — 1501?0[150 50|24 [100=100 18 | 26 | — | — | — | 105 | 68 | 200 |14<| 195
H: RESEM "T" KERPE. AHATHESEPARAENRTERET&.
64 TIANHUA TIANHUA 65



R
%@ﬁ WM RIS : 0317-3628666 {EF:. 0317-3626666 HARFH . 13703332099 Mik: www.cnthdg.cn BB#i: th5689@163.com

| € ™=

HEHEIEKBHEEMN Chongo especially elociricianoutstanding supplier EERspE
Silicone shield sleeve

B MERT(6~20kV/315~630A)

QOutline dimensions

oM
[} ’_‘|
—r iR 8TH.048.066-315~630A 8TH.048.067-315~630A 8TH.048.068-315~630A
o B ST EERTE (6~20kV/315~630AIZL LI ZEE )
o | B f:ﬁ:r_r e i Rod type bushing outline dimensions(6~20kV/315~630A screw connected bushing)
P :“. Y o 'ﬁ'lf'rr'grf: L =Code £ S Model pening  distance df;;:j:fe shield  (kg)
W ““ " . ; h2 h3 N . ( h1
! 'y ¥ | %, 1 TH.CCAQ02 BD-6/315 330 9 30 |MI2=1TH 115 70 83 230 2004 2.8
= -G o el \ i XSS Ay, 2K 2 TH.CCB.002 | BD-6/400 | 350 | 96 | 35 | me=2 | 115 | 70 83 230 | 24 3
= Htaes :L;'x'»- 8dl ’ - P 3 TH.CCD.00Z | BD-6/630 | 350 | 96 | 35 [M2x25| 115 | 70 83 230 | 2m4: | 3.2
,. ::-_?:n_. | nm BTN o * sl 4 TH.CDA.004 | BD-10/315 | 440 | 131 | 30 |Mi2x175 115 | 70 143 320 | 3m4 | 3.4
e : vu e 5 TH.CDB.O04 | BD-10/400 | 460 | 136 | 35 | Mie2 [ 115 | 70 143 320 | 3ng | 3.8
= gn | 6 TH.CDD.004 | BD-10/630 | 460 | 136 | 35 [M20<25| 115 | 70 143 | 320 | a4 | 4.4
| H k ﬁ\]F’ I 7 TH.CFA.007 BD-20/315 | 480 | 131 30 [M12175 115 70 183 360 IMmg | 3.7
g, R 8 TH.CFB.007 | BD-20/400 | 500 | 136 | 35 | MiG<2 | 115 | 70 183 | 360 | 3m4=| 4
| 610 AluminmeE :ﬁiﬁ;;ﬂr}e ) %ﬁ;ﬂ;ﬁ Eu":; in{uz ) F,Eﬁf E:t 9 TH.CFD.007 | BD-20/630 | 500 | 136 | 35 [M20x25| 115 | 70 183 360 | 3Mm4 | 4.7
. o | o5 tablet (H) SESNTRRNG ERUCYI 10 | THCFA008 | BDW-20/315 | 480 | 131 | 30 [miz<i7sl 125 | 70 | 183 | 420 | 3k2n| 4.4
_ ; — :‘ﬁ“ - o mfﬁua - 11 TH.CFB.008 | BOW-20/400 | 500 | 136 | 35 [mie2 | 125 | 70 | 183 | 420 | snzd| a7
E‘ Faanel 8% | [ e . g% | [ e _ 312 12 TH.CFD.008 | BOW-20/630 | 500 | 136 | 35 |M20<25| 125 | 70 183 | 420 | 3k24| 5.7
110 T 1 B e I it ] o e ! 13 TH.CFA.009 | BOW-20/315 | 530 | 131 | 30 |wm2x175 135 | 70 233 610 | 3A3) 5
1l W || L e 14 TH.CFB.009 | BDW-20/400 | 550 | 136 | 35 | miex2 | 135 | 70 233 610 | 3k34| 5.8
. I: ExEeEPE 116, S12THREERE (AP EE) Installation flange for velding (Equipped by user) 15 TH.CFD.009 | BOW-20/630 | 550 | 136 | 35 |mM20=25( 135 | 70 233 610 | 3N3| 6.7

X ERRESFAMERNSEM P, ARAYKEKERFHERSEM “H"
fEEm “DZ" KERETF, "T" ARRHPE. BHTREFFPBREVNECREH G,

66 TIANHUA TIANHUA 67



 SRIEES

TIANHUA ELECTRIC

g . 0317-3628666 {5H. 0317-3626666

METHEITEREMBEN Change eypecially leciricianouistanding supplier

B SMERT(6~20kV/800~1250A)

QOutline dimensions

ekt

Bleedscrew

.ﬁ._.- .-:5_..
= S o e,
= i
& ¥1. od
e ! i
1 b mE
]
- : **Hr
= fi~10
=
L (| b o100
i e
2l = iy =
il = T -
1 1 ! =i
oL
|: #xE2h7E
Full protection of sealing ring

68 TIANHUA

i
| -2l
Fo
I oy
=2 F
1
1
A
A Direction
e 21700, 3
o0 X I P,
LA "
e | ; L
] oy _
4 B-12 %63
5L ik
@ & s
EEFIE+
Dimensions of opening of tank
. #2135 _
- @170 =)
s #146 =
8105
- p— 6-18
1 L} el —1
) e M
4 = - 3 l
| R3
MIAETEEE (FEPES)

Installation flange for welding
(Equipped by user)

<

égm

ERiEE

Presser foot assembling
struciure

REREH (P)
Aluminumm
platestructure(P)

FEARZESRF: 13703332099 Mik: www.cnthdg.cn

Ei#i: th5689@ 163.com

B ST EERIE (6~20kV/800~1250AZ4 EIZEE)

Rod type bushing outline dimensions(6~20kV/800~1250A screw connected bushing)

i Rt (Dimensions) %{; ﬁ a?c |r? g MR iﬂﬂ
sequence  {£ BCode & §Model opening  ciistance I:;Izﬂrlr:j ° Ee "L.LI_;'S_:I'
Md bd  di do h1

1 THCCEOD01 | BD-6/800 | 493|106 | 45 | M24x15 160 | 10 | 108 98 265 | 204 8
2 TH.CCF001 | BD-6/1000 | 503 | 111 | 50 | M30=15 | 27 |160| 11 | 105 96 265 | 20p 9
3 | THCCG.O01 | BD-6/1250 | 503 | 111 | 50 | M33=15 | 30 |160| 12 | 105 96 265 | 244 10
4 | TH.CDE001 | BD-10/800 | 603 | 166 | 45 | M24x15 | — | 160| 10 | 105 139 | 320 | 3m< | 10
5 TH.COFO004 | BD-10/1000 [ 613 [ 171| 50 | M30x15 | 27 | 160 11 | 105 139 320 | 344 | 12
6 TH.CDG.004 | BD-10/1250 | 613 [ 171 | 50 | M33x15 | 30 |160| 12 | 105 139 320 | 3 13
7 THCFEOO | BD-20/800 | 643 | 166 | 45 | M24x15 — | 160 | 10 105 179 380 30ph 12
8 TH.CFF013 | BD-20/1000 | 653 | 171 | S50 | M30<15 | 27 |160| 11 | 105 179 | 380 | 3@ | 13
g THCFG.013 | BD-20/1250 | 653 | 171 | 50 | M33=15 | 30 160 12 | 105 179 380 | 3 14
10 TH.CFE.002 | BDW-20/800 | 643 | 166 | 45 | M24=x15 | — |190| 10 | 105 179 530 | 324 14
11 | THCFF014 |BDW-20/1000( 653 | 171 | 50 | M30=15 | 27 |190| 11 | 105 179 530 | 3k2:/4| 15
12 TH.CFG.014 |BDW-20/1250) 653 | 171 | 50 | M33=15 | 30 | 190 | 12 105 179 530 | 3A2: 16
13 | TH.CFE.003 | BOW-20/800 | 693 | 166 | 45 | M24x15 | — |190| 10 | 105 | 220 | &80 |3xah| 15
14 THCFF.015 |[BEDW-20/1000] 703 [ 171 | 50 | M30x15 | 27 | 190 | 11 105 228 680 | 3X3 16
15 | THCFG.015 |BDW-20/1250( 703 | 171 | 50 | M33x15 | 30 |190| 12 | 105 229 GBO | 3k3p| 17
16 | TH.CFE016 | BDW-20/800 | 743 | 166 | 45 | M24x15 | — |190| 10 | 105 | 279 | 810 |4x3| 16
17 | TH.CFF016 |BDW-20/1000| 753 | 171 | 50 | M30x15 | 27 | 190| 11 | 105 279 810 | 4k3p | 17
18 TH.CFG.016 |[BDW-20/1250| 753 | 171 | 50 | M33=15 | 30 | 190 | 12 105 279 810 | 4k34 18
19 | TH.CFE.009 | BOW-20/800 | 843 | 166 | 45 | M24x15 | — |190| 10 | 105 | 379 | 1020 |5%ks5)0| 20
20 TH.CFF007 |[BDW-20/1000| 853 | 171 | 50 | M30=x15 | 27 | 190 | 11 105 379 1020 | 5A&5/) 22
21 | THCFG0O07 [BDW-20/1250| 853 | 171 | 50 | M33<15 | 30 [190| 12 | 105 379 | 1020 | 5Xks| 23

i RARBERSHMENSEM P

REEM "T" KARPE. BATHEEPREEVNNERESS,
TIANHUA 69



i
ﬁﬁ % I EIE: 0317-3628666 {f§¥H: 0317-3626666 FTAESF: 13703332099 MiE: www.cnthdg.cn BB#fi: th5689@163.com

TIANHUA BLEGTRIC
B EFIUEERIER (10~20kV/2000~5000AF 215 EEE )

PBEMIESMHERS Change otpecially electricianoutstanding supplior
Rod type bushing outline dimensions(10~20kV/2000~5000A plate connected bushing)

Mg TH
FHsr (Dimensions) 5l arcing g
1 EModel opaning distance

B SMERY(10~20kV/2000~5000A)

Outline dimensions

o=t

df h

1 |TH.CDJ.ODT |BO-102000 | 722 (241|120 [M42] 38 (160 | 100 | 99 | 170 | 100| 50 | 15 | 80=85 | 14 | 14 | 105 | 139 | 320 | 34| 17

2 [TH.COL.001 [BD-10)3150 | 727|241 | 120 (M48| 42 | 160 | 100 99 [ 170 |100| 50 | 16 | 80=85 | 14 | 15 | 105 | 139 | 320 | 34 [ 20

3 |TH.COM.002 |BD-104000 | 802|276 | 155 |[M52| 48 | 180|120 119190 | 120| 60 [ 18 [100=100) 18 | 16 | 130 | 139 | 320 | 3| 27

4 |TH.CON.0OO1 [BD-10/S000 | 862|276 | 155 |[MS56| 52 | 180 120 119 190 | 150 | 50 [ 20 [100=100) 18 | 18 | 130 | 139 | 320 | 3| 29

gede - S |TH.CFJLO0Y [BO-202000 | 762 (241|120 (M42| 38 [ 160 [ 100 99 [ 170|100 SO | 15 | 80=85 | 14 | 14 | 105 | 179 | 380 | 34| 19

Bleedscren = 6 |[TH.CFL.001 |BD-203150 | 767 | 241|120 [Mag| 42 | 160 | 100]| 99 | 170 |100| 50 | 16 | 80=85 | 14 | 15 | 105 | 179 | 380 | 3ms:| 21

7 |TH.CFM.005 |BD-204000 | B42 |276| 155 |M52| 48 | 180 | 120 119|190 | 120| 60 | 18 100!100‘ 18 | 16 | 130 | 179 | 380 | 34k | 33

A :E.'l.l.jl.[l. 11 0004
8 |TH.CFN.001 |BD-205000 | 902|276 155 [MS6| 52 | 180 [ 120 119 ] 180 [ 150 50 | 20 |100=1 18 | 18 | 130 | 179 | 380 | 34| 35

9 [TH.CFL.O0Z |BOMR202000| 762 | 241 | 120 |[M42| 38 | 190 (100 99 [ 170 | 100| 50 [ 15 | BO=BS | 14 | 14 | 105 | 179 | 530 |3x20 21

10 |TH.CFL.00Z |BOW-203150) 767 | 241 120 [M48] 42 | 190 | 100| 99 | 170 | 100| 50 | 16 | 80=85 | 14 | 16 | 105 | 179 | 530 |3X2N 23

o0 A F

11 |TH.CFM.006 | BOW-20:3000 | B42 [ 276 | 155 [M52| 48 | 200 | 120 119|190 | 120| 60 | 18 |100=100{ 18 | 16 | 130 | 179 | 530 [3X2H 35

12 |TH.CFN.002 | BOW-205000) 902 | 276 | 155 [M56] 52 | 200 120| 119 | 190 | 150( 50 | 20 |100=1 18 | 18 | 130 | 179 | 530 |3X2H 37

13 |TH.CFJ.003 |BOW-202000) B12 [241| 120 (M42) 38 (190 100 | 99 | 170 [ 100] 50 [ 15 | 80x85 | 14 | 14 | 105 | 229 | 680 (3X3HN 23

14 |TH.CFL.003 |BOAW-2003150) 817 (241 | 120 (M48] 42 [ 190 100 99 | 170 |100] 50 | 16 | 80=B85 | 14 | 15 | 105 | 228 | 680 (3X3:H 25

- Aluminum
platestructure(F) 15 |TH.CFRLOOT | BOAAN-20S000 | 892 | 276 | 155 |MB2| 48 | 220|120 | 119 | 190 (120 60 | 18 1ﬂﬂ=1ﬂﬂ| 18 | 16 | 130 | 229 | 720 |3k3H 36

-/
.
-
=
A
o= ]
=5
o
L]
—
=
=
=
=
f=
=
o
=
ol

e kgl 1| 185 16 |TH.CFN.003 |BOW-205000| 952 [ 276 | 155 |[Ms6| 52 | 220|120 119|190 |150| 50 | 20 |[100x100| 18 | 18 | 130 | 229 | 720 [3%k3H 38

—— I #215 235 17 |TH.CFJ008 |BOW-2002000) BG2 | 241 120 |Ma2| 38 | 190 | 100 99 1170|100 50 | 15 | 80=85 | 14 | 14 | 105 | 279 | §10 [dX3N 25

2 o [T o170 8190
= i-¢D ‘g sz | N‘;E - e | T $160 = 18 |TH.CFL.008 |BOW-203150| 867 | 241 | 120 |[M48| 42 | 190 | 100 99 | 170 |100| 50 | 16 | 80=85 | 14 | 15 | 105 | 279 | 810 l4x3H 27
I I S Yo ' HE | L 8105 _ - A% L. 130 it 19 |1h.cru.008 [Bow04000| 942 | 276 | 155 [Ms2| 48 | 220 120| 18] 190|120 60 | 18 [100x100]

18 | 16 | 130 | 279 | 850 (4 X3y 38

-1 L - L1t 1 1 | I L L 20 [TH.CFN.004 |Bow-205000 1002 276 | 155 |Ms6| 52 | 220|120 119] 190 | 150| 50 | 20 |100=100{ 18 | 18 | 130 | 279 | 850 4% 40
B 77 s 77 7w w7, =
I i1 B 1 i k5 21 [TH.CFJ.011 |BOW-202000| 962 | 241 120 (M42]| 38 | 190|100 99 | 170 | 100| 50 | 15 | 80=85 | 14 | 14 | 105 | 379 |1020|54K5H 30

Full protection of sealing ring olT0, SINEHEREE (EFEH) Installation flange for welding (Equipped by user) 22 |TH.CFL.O11 |BOW-203150| 967 | 241 | 120 [M48] 42 | 190| 100| 99 | 170 [100| 50 | 16 | 80=85 | 14 | 15 | 105 | 379 |1020|5K5H 33

H: RBBERKHHENSER P
RBEM “T" RARPE. SHTREEATREWNERESR.
70 TIANHUA TIANHUA 71




R
%ﬁ% WM RIS : 0317-3628666 {EF:. 0317-3626666 HARFH . 13703332099 Mik: www.cnthdg.cn BB#i: th5689@163.com
TIANHUA ELEGCTRIC

WMERITERBMEEN Change especially electricianoutstanding supplier

B SMZRY(20kV/6300~8000A)

QOutline dimensions

a2 — 130
i S| E— 50, 50
—i-.!l n 't'“ - E_I.Iﬂ ‘ E' ]3
_$d_ i ) | _dy
mer— — | 'S =
- S = 2
{‘- ' ']
f-4a :
._[I_ - M A54E ' 1
Bleedscrew AR

= = A Direction

#1U g P ]

[ : -
17 0 = 22100,
'H...-'. T - ﬁl:l:l -, " ﬂ_ ’
=| | {eeeex g & . . = EEHRIE Silicone shield sleeve
eSS - 3 il ,F’#"\ 8TH.048.010-6300~8000A
-__-_"'::,". .”-:*-.’: o & . 4 ! 1A 3L
Le B e abr1pt DS B SFHIEER TR (20kV/6300~8000A I EEE)
T | Ziﬁ"i-“'”' T fineasioak af wpeaine of Aask —— Rod type bushing outline dimensions(20kV/6300~8000A plate connected bushing)
ik T e E=H] .
e | S The [|anga is Equped e =
: i fizx Tl P
< ~3 9235 i 2 e TR <
g140 - b, 1~20 = 9 g Sequence {LE5Code B! EModel Egbinenson qﬁﬂ'ﬂm E'IFEEEFI R weigh
b = yia | ocl0 - Number : ~ distance SMield  (kg)
= ) wa—— b2 e85 H h2 h3 Md ®d di d2 do  hi
i ! o l T L. #I0 8-18 ﬁ 1 |TH.CFP.002 |BDW-20/6300| 912 | 316 | 195 | M60=2 | 56 | 250 |120 | 16 | 22 | 150 | 220 | 780 |3k3M 46
RN k= —ppr—t———t | 8 B 2 |TH.CFQ.003 |[BDW-20/7000| 917 | 316 | 195 | M65=2 | 60 | 250 [120 | 18 | 26 | 150 | 229 | 780 [3A3 49
11t "‘ | 99 i B ! K. i v 3 | TH.CFQ.004 [BDW-20/8000| 917 | 316 | 195 | M70x2 | 65 | 250 |120 | 20 | 30 | 150 | 229 | 780 |3k3 53
A3
100 OEEESEE (FFEL) S a ®) . RMRESKHNENSER P, REEM “T" RARPE. SATRARRABTREWLTRESS,
e 4 I8 A B B stallation flange for welding int
I: B#ELBSH Installation flange for welding maéﬁmﬁ;ﬂe{m

Full protection of sealing ring (Equipped by user)

T2 TIANHUA TIANHUA 73



MBI . 0317-3628666 {53. 0317-3626666 HAER. 13703332099 Mik: www.cnthdg.cn BB#i: th5689@ 163.com

3
L=
TIANHUA ELECTRIG
METHEITEREMBEN Change eypecially leciricianouistanding supplier

B ST SEER Y% (35kV/800~3150A)

B SMEZRY(35kV/800~3150A) Rod type bushing outline dimensions(35kV/800~3150A plate connected bushing)

QOutline dimensions
Fil

x

Number distance (kg)
T i h3 Md ©d di 1 d0  hi
I $ ‘_.-". | ! = A B SLSL" 1 TH.CHE.109 | BDW-35/800 | 958 | 216 | 88 |[M24x1.5| — |250| 10 | 8 | 150 | 444 | 1120 [5kdh| 27
& ‘:}.:: ﬁ%i%_ Mr___.fﬁ HEHR i * i 215 2 |TH.CHF.109 | BDW-35/1000 | 963 | 216 | 88 [M30x1.5| 27 | 250 | 11 | 8 | 150 | 444 | 1120 |5Kd4/h| 29.5
Wd E".:;_'.'}. Bleedscrew !.Id;’:;,__,_ Bleedscrew =2 = f 3 |TH.CHG.109 | BDW-35/1250 | 963 | 216 | 88 |M33x1.5| 30 |250| 12 | 8 | 150 | 444 | 1120 |Skdsm| 31
899 _-% Egs I 5% H?‘; I : Ziopgtile 4 |TH.CHJ.101 | BDW-35/2000 | 1037 249 | 111 | M42x2 | 38 | 250 | 15 | 14 | 150 | 444 | 1120 |5K4sh| 37.5
I ':J_ . *:;. | 5‘ o 5 |TH.CHL.101 | BDOW-35/3150 [1042| 249 | 111 | mas=x2 | 42 | 250 | 16 | 15 | 150 | 444 | 1120 |5Kk4a/| 41
s e - 100 _ 6 |TH.CHE.110 | BDW-35/800 |1043| 216 | 88 |M2ax1.5| — |250| 10 | 8 | 150 | 529 | 1380 [6k5h| 34
' | '5-;_'-;.: ; ._:'_1_1]_*__ |-218 7 |TH.CHF.110 | BOW-35/1000 |1048| 216 | 88 [M30x1.5| 27 |250| 11 | 8 | 150 | 529 | 1380 |[6:K5:| 34.5
:"1-:_55' HE::® "' | - "’ o =t 8 |TH.CHG.110 | BDW-35/1250 | 1048| 216 | 88 [M33x1.5| 30 (250 | 12 | 8 | 150 | 529 | 1380 |6Xk5:h| 36
= E 4 L1 f-. - EE e = == . . g |TH.CHJ.102 | BOW-35/2000 [1122| 249 | 111 | M42=2 | 38 | 250 | 15 | 14 | 150 | 529 | 1380 |6Xk5H| 43.5
FZ S 8dl By o e ; el 10 |TH.CHL.102 | BDW-35/3150 |1127| 249 | 111 | M4sx2 | 42 | 250 | 16 | 15 | 150 | 520 [ 1380 65| 47
T - i - ._h 'I _; [ I L 11 |TH.CHE.111 | BDW-36/800 |1128| 216 | 88 |M24x1.5| — |250| 10 | 8 | 150 | 614 | 1550 |76 36
| .: 1 " a A mi_;;“m «'Q. '(‘ 12 |TH.CHF.111 | BOW-35/1000 | 1133| 216 | 88 |M30x1.5| 27 |250| 11 | 8 | 150 | 614 | 1550 |7k6:h| 40.5
"l_ _f__:.f.‘l". ' 1 .:, E_,.I 1 R TT— 13 |TH.CHG.111 | BDW-35/1250 [1133| 216 | 88 |M33x=1.5| 30 [250| 12 | 8 | 150 | 614 | 1550 |7Xk6:h| 42
1 = h"ﬁ‘_i; T i o140 = i G~10 Alurninurm platestructura(P) 14 |[TH.CHJ.103 | BDW-35/2000 |1207| 249 | 111 | Ma2=2 | 38 | 250 15 | 14 | 150 | 614 | 1550 |7k6:h| 49.5
o1 JiH *‘éf-a b~10 = '“il} | [j[-‘ 1} . ] - ) 15 |TH.CHL.103 | BOW-35/3150 [1212| 249 | 111 | M48x2 | 42 |250| 16 | 15 | 150 | 614 | 1550 |7Xk6:h| 54
._.,._.,1 i 58 - = il -.': | glr:gl #d0 h P L. | - :*-1: - 16 |TH.CHE.112 | BOW-35/800 |1213| 216 | 88 |M24x15 — | 250| 10 | 8 150 | 699 | 1860 [8KT7/h| 40
P :r"l_-%‘::'% 1 14}3“ f’i [ T H guioxes 3 L $130 T sas 17 [TH.CHF.112 | BDW-35/1000 | 1218| 216 | 88 |M30=1.5| 27 |250| 11 | 8 | 150 | 699 | 1860 |8K7/h| 45.5
2-eld ]a.m | P RS wt, gt e — | 18 |TH.CHG.112 | BDW-35/1250 |1218| 216 | 88 |M33x1.5| 30 | 250 | 12 | 8 | 150 | 699 | 1860 [8Xk7/h| 47
%4: o 0031504 um”imji:;;; o & _ 5 | :'. - 19 |TH.CHJ.104 | BOW-35/2000 |1292| 249 | 111 | M42x2 | 38 | 250 | 15 | 15 | 150 | 699 | 1860 |8K7h| 55.5
I: 5£ELHRH | I*’”'ﬁ“’"u”“tjl’r 20 |TH.CHL.104 | BDW-35/3150 [1297| 249 | 111 [ M48x2 | 42 | 250 | 16 | 14 | 150 | 699 | 1860 |8:K7:h| 60
Full protection of :‘;ealing ring (Equipped by user) 3 REREESEAMNERESEM “P" , 85N "T" A RRHPE. SATHIEXABRRENXENR™5R.
74 TIANHUA TIANHUA 75




(13
ﬁ%% Mm% 0317-3628666 {E¥: 0317-3626666

TIANHUA ELECTRIG
METHEITEREMBEN Change eypecially leciricianouistanding supplier

B ERI(1kV/315~1250A)

QOutline dimensions

AR
- S -
I - -
———————— -}
A - SF
1 |
+ AR
el Hd A | i 4 Direction
i P - : TR - HE i
ok . 85 _
| I | = M .. B
4L 11 i 413
L L. 1) — 11 ' il
IR [F
g | g |ty g et = =]
JH I == | i I e T Y
1] £ 1 = <4
s e gt X105 __Sedlil0 _
| A : o B e
i it | B a2y dosed] i Zetele X Square steel
. bty I . = Jedl |t edl FRRERS (RPEH)
= r-:_._. _...." @I:I.I . ..... = ) ) --—. .. .I.-.. I
== - T ] Ao ke 1[] Yountin flan e digessions(E ui e b wser)
r:rI '“1' r- T 10 = el 'y é ST 10X 1077 &
S e E]L :'::E}. drtyn | 1 L_f q~_=.'_1.;:_: :_-';_ J"’_‘-'l'l_[ i—1 Squre sleal
L l_l i, e = ]_l i == ] ik, -
- el | BBl s ) (51N, D B m—
.-‘.""r -‘ ....... L i t e 1 b4 [ | -ﬂ-."|]
i <[/ B - A
. L 4 '.'.J E
e ) i 1 : T E I = . = ? -
2 = 7 LI
f i | — 1 I I g - )
Wd \d o *:é":.‘._.’ -
s ) AR, Binensions of openieg of tank
3156304 S00~12304
I: BHEARSE
Full protection of sealing ring

76 TIANHUA

FARFF: 13703332099 [il: www.cnthdg.cn BF#Hi: th5689@ 163.com

ERHPIE Silicone shield sleeve

8TH.048.048-315A 8TH.048.049-315A 8TH.048.050-315A
BTH.048.051-630A 8TH.048.052-630A 8TH.048.053-630A
8TH.048.054-1250A 8TH.048.055-1250A, 8TH.048.056-1250A

i e

niz—meeRdE (1kV/315~1250AE4EEEE)

Aluminum flanged porcelain Bushing outline dimensions(1kV/315~1250A screw connected bushing)

: _ #iE TR
¥ e R 2. Rt(Dimensions) 7l adng RE ¢ ER
i_‘ 2 L"__ = e 'rg destances creap  shield weight
Code Model distancs “(ka)

@od di d3 d4 d0 h1

Sequents

Mumber

1  |TH.LAA.101|FBF-1/3155 |230| 60 | 30 |[M12x175| — | 56 | 55 | 56 | 85 | 10 |110| — | 30 | 40 | g0 |18 1.1

TH.LAB.imlFBF-mws 250| 65 | 35 | M16x2 | — | 76 | 80 | 77 [105] 10 |130| — | S0 | 40 | 60 |18 1.9
TH.LAD.101[FBF-1/6308 | 250 65 | 35 | M20x25 [ — | 76 | 80 [ 77 [105 10 [130[ — [ 50 [ 40 | 60 |1 4] 2.2
TH.LAE.IﬂilFBF-ﬂBﬂDE 378| 80 | 45 | M24x15| — | 90 |100| 87 (120 12 |145| 10 | 60 | 40 | &5 |14 %] 4.5
TH.LAF.101 |Fa|=.muuus 388| 85 | 50 | M30=15| 27 | 90 [100| 87 [120] 12 |145| 11 | 60 | 40 | 60 [10%| 5.5
m.ms.1n1||=m=-1.-1ma|aaa 85 | 50 | M33x15| 30 | 90 [100| 87 [120| 12 [145| 12 | 60 | 40 | 60 [18%| &

E: KESEN "T" AERPE. TREEARRXEZVUXLERKE™ 6.
HeEh "s" KREdtsnirEER.

L= I I T =R LI

TIANHUA 77



g . 0317-3628666 {5H. 0317-3626666 BE# : thS689@ 163.com

FEES

WMERITERBMEEN Change especially electricianoutstanding supplier

FARIEHF: 13703332099 RMik: www.cnthdg.cn

B SMEZRT(1kV/1600~7000A)

Outline dimensions o B i3
— b i -9]8
A h i -
-
\ — 918
A L
1 ' L ! |
1 8TH.048.060-1600~4000A 8TH.048.010-5000~7000A
1600~4000A \ A000~T7000A E{FEEHPEEParallel silicone shield sleeve EEEHPE Silicone shield sleeve
i I=
[ - Md A Direction O v a3 T
== B E=EEERIE (1kV/1600~7000AF EEiEEE)
e Al
I “' N o5 . Aluminum flanged porcelain Bushing outline dimensions(1kV/1600~7000A T type connected bushing)
..-r I ]. = A 5E ——i__ ¢CE _
o BT i -l e e R (Dimensicns)
I ] R JF S | LI N SN N B Code Modal
.-E -q‘ i :._- ¢d] IU —'I :,a:-l-,. [ : 1:';.1 i
_:J w502 oy g~16 | <8d0+10 . 1 |THLAH.102|FRF-1/16005 | 202 | 51 | 16 | ma3s=2 | 33 |105] 110 94 |156|180[100| 50 | 14 |100| 90 | 45| 70 | 40 | &5 |14%| 8.7
.__;__ L ; L 1 r -_.r".: : i'f: T ¥ :.:. ";E:T_ - T ! -
b I M7 BT 1 m._ g 2 |tHLAs102 |FEFa20005 | 402| 51 | 16 | maz=2 | 38 |105|110| 94 |158|180|100| 50 | 15 |100]{ 90 | 45| 70 | 20 | &5 [1m%| 10
H - = K1 Square steel 10X 107
A, N SEEZE (BPEE) ounting flange dinencions(Equipped by user) Square stee] 3 |THLALNZ |Feraz0005] 402 | 51 | 16 | mazxz | 38 [115]140| 111 | 156|180 100| 50 | 15 [120| 90 | &5 | 85 | 40 | G0 |14%| 105
L s e e | [ — ) 4 | THLAL 102 | FBF-1/31505 | 407 | 51 | 18 Mag=2 42 | 51400 111 | 156|180 [ 100 S0 | 186 [120) 90 | 45 | 85 A0 G0 (18] 12
‘ ' e | . i : P y i 5 5 THLAN10Z2] FEF-140005 | 457 | 60 | 20 Me2=2 A8 | 13001500 121|180 | 185 1120 60 | 18 | 135|120 55 a5 a0 7O |18€) 155
hl' 8 L T = == T :; T:'1 6 | THLAM.102 | FEF-1/S0005 | 817 | 60 | 20 MMEE=Z B2 11301500121 | 180 | 185 [ 150 S0 | 20 [135]120]| 55 | 85 A0 7O (184 ) 205
A 1 iy c|=
3 H 1 L "‘H_ 'I'lllli} - T |THLARPIRZ | FEF1MI00S | 522 | 62 | 22 MB0=2 86 | 155160129170 | 195 | 150 50 | 22 150130 &2 | 105 | 40 BO 184 235
‘;' r.1 % £ | THLAQ 102 | FEF-1/T000S | 527 | 62 | 22 MES=Z B0 1851800129170 195|150 50 | 24 150 130| 82 | 105 | 40 a0 (184 ) 255
. BHEAERA &
I: ExE20 = o B EEFTR i RBEM “T" RERPE. THESABREUNTRKZS.
Full protection of sealing ring B Direction Dinensions of opening of tank HEEM " RABHELHPREN.
78 TIANHUA TIANHUA 79




(2]
%ﬁﬁ itk BiE . 0317-3628666 {51 :. 0317-3626666 HAEH: 13703332099 Rik: www.cnthdg.cn  EB#Hi: th5689@ 163.com
TIANHUA ELECTRIG

WMERITERBMEEN Change especially electricianoutstanding supplier

B SMEZRT(1kV/1600~7000A)

Outline dimensions - B -
t — h - h -
TT : ' 9-618
i o H — , e
h i -
"|. - -— =
- i - 1-¢18
od _ - e o
[ o | e
f J
!
' ! 8TH.048.060-1600~40004A 8TH.048.010-5000~7000A
! e . : e :
e i ' FiTiERIFEParallel silicone shield sleeve EEHPE Silicone shield sleeve
- -
T:1 TN It
1600~40004 N 5000~T0004
P e | S in:i-ﬂ-% v 1 LA ?3:
; 7 Ly BinZ=REERY®ER (1kV1600~7000AF I IE=ZEE )
= % % J\ i Aluminum flanged porcelain Bushing outline dimensions(1kV/1600~7000A Plate connected bushing)
= _fed - Rl ddl G2 = e %
} — : ::,_ o ]ﬂ i:_ b #d3 b 4 . . RsHDimensions)
eSS g g M= || aco
)iz N 5 ==K L b3 od d1 d3 d4 d5 d7 B
== SN P, i I
I o BE sl = A-l:---.f d e o | 1 | THLAH.03 | FBF-1/16005 |507|155|120| M36=2 | 33 [105[110| 94 |156|180[100)| 50 | 14 | BO=85 |14 12| 70 | 40 | 65 [18%| 8.7
— " 8~16 <820°10 10X 1055 2 | THLAL103 | FBF-1720005 |507|155|120| Ma2=2 | 38 |105]110| 94 156|180/ 100] 50 | 15 | 80x85 | 14 | 14| 70 | 40 | 65 [144] 10
10X10%5 % 5 = Cauare &
U — i Square steel Squate sleel 3 | THLUNMS | FeRaz000s |507[155|120| Mazxz | 38 (115|140 111 |158| 180|100 50 | 15 | soxas |14 14| 85 | 40 | 60 |14 |10
= 1 | S
= 4 e o x&xEZRT (AFE®) T i 4 | THLAL103 | FBF-1/31508 |512[155|120| Md&x2 | 42 |115(140] 111|156/180]100] 50 | 16 | 80x85 | 14 [ 15| 85 | 40 | 60 [144| 12
4- | S e : tone (Favinoed by us .
T ﬁ-T - seie. f|-ﬂ--|#:' IimEIIHﬂhh':Equmﬁh: user) # b THLAMI03 | FBFIMD00S |582 (195155 MS2=2 | 48 [130(150(121|160]185(120| 60 | 18 [100=100) 18 | 16 | 95 40 O [1Mgx] 155
v 1 35 SRETF 6 | THLAN.103 | FBF-1/50008 |642|195]|155| Ms6x2 | 52 |130{150]121|160|185]150] 50 [ 20 |100x100| 18 | 18 | 95 | 40 | 70 [14%|20.5
E | il teraina
-.4:].- d 1 oil terminal T TH.LAR103 FEF-1G3005 |647 (235|195 ME0=2 | 56 (155|160 1209|1700 195[150| 50 [ 22 |100=100) 18 | 22 | 105 | 40 BO |1Msx] 235
Bl 1
_ = = 8 |THLAQ.103 | FBF-17000S |652|235|195| MeSx2 | 60 |155]160(120|170[195]|150| 50 | 24 |100x100| 18 | 26 | 105 | 40 | 80 [14%]255
”: ‘::'.57-‘&.: i:_'rifr"f‘ SELT B
n Py — S o it LS i REEM T" KRERPE. THREFARRENRERES .
Full protection of sealing ring Disensions of opening of tank BB S G ol e AR

80 TIANHUA TIANHUA 81



{HM IS . 0317-3628666 {53. 0317-3626666 HAER. 13703332099 Mik: www.cnthdg.cn  BB#i: th5689@ 163.com

FEES

MERITERBMBEEN Change especially electricianoutstanding supplier

B MERT(12~24kV/50~630A)

Outline dimensions

\ Lo 30
- 19 5 25 8TH.048.031-¢100~115 8TH.048.032- ¢ 100~115 8TH.048.033- ¢ 100~115
2! S | 8TH.048.057- ¢ 135~155 8TH.048.058- ¢ 135~155 8TH.048.059- ¢ 135~155
bt
[ w Lo 1213 i §-213 ERHPE  Silicone shield sleeve
. — _,{-;_'_
L &4 = =4 = e e} = Ll —i
w1 =S 4 3= , B BEEEEBRYE (12~24KkV/50~630AZ 4Tl EE )
o ' o ! g I p! Aluminum flanged porcelain Bushing outline dimensions(12~24kV/50~630A draw-lead type bushing)
i 1| Pk ol
. . L) K ’ g 1 " ) 1- = Tfl: :F-I"l , =
e . _ Fre e 7 8 R ~H(Dimensions) #?L art?‘ng | -¥:5] 2 L
! i Sequence o . opening distance creep . . weight
. Code Model distance Shield )
JCESeT| add 3154 400~630A pend ' . d1 d2 d0  hi (kg)
A 16l
. 1. H}_'LE‘. 1 TH.LDA.015 | FBJL-12/50 386 (228 | M12x1.75|115| 6 | 46 | & 70 | 127 280 | 34 4
| = ' A Drection
= = 2 | THLDA.016 | FBJL-12/100 |386 228 |M12x1.75|115| 9 | 46 | 6 | 70 | 127 280 | 38k | 4
f i, pdl
- oy 3 | THLDA.017 | FBJL-12/250 | 386|228 |[mMi12x1.75|115| 12 | 46 | 6 | 70 | 127 280 | 3f 4
: = 8140 y 4 |THLDA.018 | FBJL-12/315 | 386|228 | M12x1.75[ 115 | 16 [ 46 [ & | 70 [ 127 | 280 | 3t | 4
- 115 _ 5 | THLFA.019 | FBJL-24750 | 456|298 |mi12x1.75|115| 6 |46 | 6 | 70 | 197 | 240 | 3t | 4.4
I AT Lo 19 1110 zg; = 6 TH.LFA.020 | FBJL-24/100 456 | 298 | M12x1.75| 115 | 9 46 (5] 70 197 340 3 g 4.4
9 4- T
2 il 2 L4 840 - 7 | THLFA.021 | FBJL-24/250 | 456|298 |M12x1.75|115| 12 | 46 | 6 | 70 | 197 340 | 3 | 4.4
= =4 j '- ity ] i B u n it .
1 H:‘: <P ] | 8 | TH.LFA.022 | FBJL-24/315 | 456 (298 |M12x1.75[115| 16 | 46 | 6 | 70 | 197 | 340 | aps | 4.4
i g i . ! 9 | THLFA.023 | FBJLW-24/50 |[456 | 298 |M12=1.75|115| 6 | 46 | 6 | 70 | 197 | 400 | 3k2J| 4.5
= ot NURYT NCH 10 | TH.LFA.024 | FBJLW-24/100 | 456 | 298 | M12x1.75 | 115 | o | 46 | 6 | 70 | 197 | 400 | k2| 4.5
g r 5 . 1 !.. =
6 11}‘ B9 4-13 11 | TH.LFA.025 | FBJLW-24/250 | 456 | 208 | M12x1.75 | 115 | 12 | 46 | & | 70 | 197 400 | 3k2| 4.5
[ { 1 o
w0 O S6d0+10 12 | TH.LFA.026 | FBJLW-24/315 | 456 | 298 | M12x1.75 | 115 | 16 | 46 | 6 | 70 | 197 | 400 | 3k2/| 4.5
B = EEALR S (FEEA) 13 | THLFB.011 | FBJLW-24/400 | 493 | 282| M16x2 |135| 16 |59 | & | 70 | 197 480 | 3xk2| 5.3
. BEEARRE TrE=ZAT (iFES
I M" o . . . 5 : s i 14 TH.LFD.011 | FBJLW-24/630 | 493 | 282 | M20=2.5 | 135| 20 | 59 [ 70 197 490 x| 55
Full protection of sealing ring Mounting flange dimensions(Equipped by user)
F: LEEM "T" KERPE. TREFFRRXEUXNERB~&.
82 TIANHUA TIANHUA 83



R
ﬁ%ﬁ WM RIS : 0317-3628666 {EF:. 0317-3626666 HARFH . 13703332099 Mik: www.cnthdg.cn BB#i: th5689@163.com
TIANHUA ELEGCTRIC

WMERITERBMEEN Change especially electricianoutstanding supplier

B iBE=EEERY% (24~40.5kV/100~630AZ 4T EE)

Aluminum flanged porcelain Bushing outline dimensions(24~40.5kV/100~630A draw-lead type bushing)

B SMZRT(24~40.5kV/100~630A)

Outline dimensions fl)
difg Tl _
ol _.30__ R ~F{Dimensions) FF  arcing JEE
Opening distancs creep
I | i ..l-;.' -']‘3]3 distance
— ey o] 2 Md 1 2 i h1
._ W | #7 d do
o =2 = ~ 1 | TH.LHA.020 |FBJLW-40.5/100|688 | 436 | M16=2 | 265 | 12 | 6 | 148 | 314 | 1160 | 5Kah| 26.1
TR=4 Bleedscrew 1 &
i p. 2 | TH.LHA.029 | FBJLW-40.5/100(753 | 501 | M16x2 | 265 | 12 | 6 148 | 379 | 1420 | g&ks5/v| 30.1
969 *1.%.; Il 3 | TH.LHA.009 |FBJLW-40.5/100 [ 823 | 571 | M16%2 | 250 | 12 | 6 148 | 449 | 1330 | A5/ 28.8
[ : ’"' -1"-' . Al o 4 | TH.LHA.010 |FBJLW-40.5/250(823 | 571 | M16x2 | 250 | 16 | & | 148 | 449 | 1330 | &Xk5/):| 238.8
e IR od | A Direction B 8210 "] 5 | TH.LHB.005 | FBJLW-40.5/400 | 823 | 571 | M16x2 | 250 | 20 | 6 | 148 | 449 | 1330 |&Ks/)v| 28.8
aterenon Wl TR [ B S | 6 TH.LHD.005 | FBJLW-40.5/630| 823 | 571 | M20x25 | 250 | 24 | 7 148 | 449 | 1330 |&Xks/)| 29
§ s . 1 .1I — . . M9
H e 43 Hl - "']ﬁ;' - 7 | TH.LHA.012 | FBJLW-40.5/100 | 908 | 656 | M16x2 | 250 | 12 | 6 148 | 534 | 1570 | 7 K6/ | 32.8
o 4l A% LU, #d -
X T iR Bleedscrew 1 8 | TH.LHA.013 |FBJLW-40.5/250 | 908 | 656 | M16x2 | 250 | 16 | 6 | 148 | 534 | 1570 | 7K/ | 32.8
| F] X et %E ' Pl I ! ,f« : 9 TH.LHB.007 | FBJLW-40.5/400| 908 | 656 | M16=2 | 250 | 20 | 6 148 | 534 | 1570 | 7Redh| 32.8
- ﬁth = ﬂ & % RS 8-18 10 | TH.LHD.007 | FBJLW-40.5/630 | 908 | 656 | M20=x25 | 250 | 24 | 7 148 | 534 | 1570 | 7RK&/h| 33
| -., il +
; Ry £ Ty 6~10 _ E0d0+0 11 | TH.LHA.030 |FBJLW-40.5/100[993 | 741 | M16x2 | 250 | 12 | 6 148 | 619 | 1810 | 8K7/)| 36.8
e, = R a L 10, 5KV
L T gt N ol ! 12 | TH.LHA.031 | FBJLW-40.5/250 (993 | 741 | M16x2 | 250 | 16 | 6 148 | 619 | 1810 |8Xk7/]| 36.8
__.- T | bt .-.\_:. b ﬁh-::;:..-\ﬁ-. 3. -..IJ
L kg | B[ ed = s i - ;”“ 13 | TH.LHB.022 | FBJLW-40.5/400(993 | 741 | m16=x2 | 250 | 20 | & | 148 | 619 | 1810 |8k7/v| 36.8
| [ — P, ...-"'-: i d
] T 13 = TR R ol (110 #94 14 | TH.LHD.022 | FBJLW-40.5/630 (993 | 741 | M20=25 | 250 | 24 | 7 148 | 619 | 1810 |8Xkv]| a7
gl i A v el o " ]
"’I 2l o Hr ! rereceys B Tane F I EEE ] 15 | TH.LHA.032 | FBJLW-40.5/100 [ 1078 | 826 | M16=2 | 250 | 12 | & 148 | 704 | 2010 |9Ke/)v| 40.8
.l{;-::..,.-_ . - . 1EL .n. L — - —-—
=] = DRI Oy Fadhed —t= e = i 16 | TH.LHA.033 | FBJLW-40.5/250 [ 1078 | 826 | M16x2 | 250 | 16 | & | 148 | 704 | 2010 |9Ke/v| 40.8
=3 "u " <]
= £ 2 .._.,'{ | A 12 " A 1| : '-'F'i'll 17 | TH.LHB.023 | FBJLW-40.5/400 | 1078 | 826 | M16x2 | 250 | 20 | 6 148 | 704 | 2010 |9Xke/dv| 40.8
I | iro : o Pintr & g '_"" I ! | ' 2 1
L ” : 1 ! q[ﬂ;. A : b3 = & 13 18 | TH.LHD.023 | FBJLW-40.5/630 | 1078 | 826 | M20x2.5 | 250 | 24 | 7 | 148 | 704 | 2010 |9Xked| 41
1353 oo | oy, ~ :
= " = = El | B 6~10 _ Sed0+10 19 | TH.LFB.008 |FBJLW-24/400 |618 | 366 | M16x2 | 150 | 20 | & 70 286 | 750 |aKalh| 85
40, ok 4 - B :
s e : D 20 | TH.LFD.008 |FBJLW-24/630 [618 | 366 | M20x25 [ 150 | 24 | 7 | 70 | 286 | 7s0 |akah| o
II: Exk2h7E 964 _ EREERT (RFEE)
Full protection of sealing ring kv Mounting flange dmenamna[l.qmpped by user) E: KSR "T" EARPE. THEEPARRENRERE &,

84 1TiIANHUA TIANHUA 85



Mm% 0317-3628666 fE¥. 0317-3626666 FEARFFE BE#i - th5689@ 163.com

FEES

MERITERBMBEEN Change especially electricianoutstanding supplier

13703332099 Mik: www.cnthdg.cn

B MERT(24~40.5kV/800~1250A)

Outline dimensions

D
t. -I.!ﬂl-
= f | -l‘zlﬁ e
i i | » BB E=EEERIE (24~40.5kV/800~1250AZ iz EE )
8 = _ c:‘ . Aluminum flanged porcelain Bushing outline dimensions(24~40.5kV/800~1250A draw-lead type bushing)
.I-“'""'-. Eﬁﬁkff-% - _'"'
"‘:_:-' _.. 1'1|j EI_I:'E'[!?;-E]'E]\' Y . 3 1';'- - [ .,—j-rDimﬂ.n sions) % ;T, ..‘_-]:rf"l-'ﬂ.'-;:] = Fo
i : e = - Opening distance &2 < Fe I
P M Soequenco Model creep .o weight
09 B Il ity Bl Md o©d d1 do | pa ||dletance |SHISIS g,
e A Direction
f e I T 1 | TH.LHE.001 | FBJLW-40.5/800 | 863 [ 565 | M24 | — | 250 | 30 | 10 | 148 | 449 | 1320 |6AX5/)| 319
ISl v r | A o 2 | TH.LHF.001 | FBJLW-40.5/1000| 868 | 565 | M30 | 27 | 250 | 35 | 11 | 148 | 449 | 1320 |exksi| 32.6
- H ! - - i -
(Bt T ) L I - . $210 By 3 |TH.LHG.001|FBJLW-40.5/1250| 868 | 565 | M33 | 30 | 250 | 40 | 12 | 148 | 449 | 1320 | &XK5/| 33
-~ L L _‘ e J E.e._.;: .
e il X R sz | |1 ::% - 4 | TH.LHE.003 | FBJLW-40.5/800 | 948 | 650 | M24 | — | 250 | 30 | 10 | 148 | 534 | 1560 |7Hkes| 37.9
= L iy Bleedscrew 85 |10 e 5 | TH.LHF.003 | FBJLW-40.5/1000| 953 [ 650 | M30 | 27 [250| 35 | 11 | 148 | 534 | 1560 |7skerh| 38.6
= e tee=tY G EE@ ! | . 6 |TH.LHG.003|FBJLW-40.5/1250| 953 | 650 | M33 | 30 | 250 | 40 | 12 | 148 | 534 | 1560 | 76| 39
o] p ERETT M B
g \ 7l R - 3 &-H. 7 | TH.LHE.013| FBJLW-40.5/800 |1033| 735 | M24 | — | 250 | 20 | 10 | 148 | 619 | 1800 |87/ 43.9
j- ey s 6~10 <ed+10 8 | TH.LHF.013 |FBJLW-40.5/1000[1038| 735 | M30 | 27 | 250 | 35 | 11 | 148 | 19 | 1800 |8k7:| 44.8
= = | v : e
= sl | = FE S g0 d0=143 9 | TH.LHG.013 | FBJLW-40.5/1250 [1038| 735 | M33 | 30 | 250 | 40 | 12 | 148 | 619 | 1800 |gk7/\| 45
t ~ P A i - It . g 8900 10 | TH.LFE.013 | FBJLW-24/800 | 658 (360 | M24 | — | 190 | 30 | 10 | 108 | 286 | 830 |azcap| 12
el P J o - o i W 17 =
ot ™ o Fen | s I e P -—3 11 | TH.LFF.013 | FBJLW-24/1000 | 663 | 360 | m30 | 27 |190| 35 | 11 | 108 | 286 | 830 |azcamn| 125
(1 g% o alls 0 920 M2 || gy
TS e > bl JL 12 | TH.LFG.013| FBJLW-24/1250 | 663 | 360 | Mas | 30 | 190 40 | 12 | 108 | 286 | 830 |ascarn| 13
it . .f ot i i wwire, "l _:._: __:__:-_\_-_:,_ = ol V= Ll - .
= ] ; | N i . = 13 | TH.LFE.021| FBJLW-24/800 | 758 | 460 | M24 | — |250| 30 | 10 | 148 | 344 | 1050 |ggcans| 22
! | |k 2 L
Vot L 1 _E:: ;:E__!-;-__ : - Pk 14 | TH.LFF.021 | FBJLW-24/1000 | 763 | 460 | M30 | 27 | 250 | 35 | 11 | 148 | 344 | 1050 |4kqis| 225
o Y I i = = =
" i..-.' I'.*. = h'::l
$135 - —f :;.q;-}a.' 6~10 J*;a.;'[r-m 15 | THLFG.021| FBJLW-24/1250 | 763 | 460 | M33 | 30 | 250 | 40 | 12 | 148 | 344 | 1050 | 4cass| 23
=0 ] & _"'\-\. o
d0=148 r1 { | | l d0=108 d: REEN “T" RARPE, TREEARREZURTRESS.
I: E5BARRS 995 $ERERT APED)
Full protection of sealing ring d0=108 Mounting flange dimensions(Equipped by user)
86 TIANHUA TIANHUA 87




.IiE
i‘.:.?

RS

HUMIESHERE change oipocially olectricianautsitanding supplier

I EIE: 0317-3628666 {f§¥H: 0317-3626666

B MR (12~24kV/315~1250A)

Outline dimensions

- Sl
o —
et Bleedscres

'\-\.‘. T
| o'}
o 1] b N
- i -
_I'_ . .-
I LR
=
= mne
I 1 1 |
J LM
J5~E304
| !..;_'.;,_ 2 IF
1] el w o] = 2

88 TIANHUA

rEw e

]
e
—
T
]
_r_:.I;
i ¥ i
(x|
i
=

B . .
12.5| 25
A 1t el
- = Ii—_.-‘ [ : '-.-t-d:-r
gl:..: — " d:-\..l ._:..:F.
. s Fa
£ |
€3 oty 3151
I AL
;T -—lg;_ Blecdscres
| il
'lﬁ - i ..” Il - -
el "*'%wi.i'-' N W
o T 2 | 4 i =213
1 r 14
-.l_.j .:" E \._-1 -’.'
el ' ke
M
S 100~ B304
L<En 12 %
Lol mn g 4
ﬁmui ‘ . | 4-215
-\.'I-'\.....-u-.ﬁ. o
o - I :'. ol
. ) 2 =
o | [5] 8 '
b ||| By
—
= 300~12504
- A
800~ 12304 A Direction

B=[0 _ '-f‘\-"i:ll|l:
=020 A48

e o 1 L

TERERT (BPEL)
Younting flange dimensions
(Equipped by user)

FAZH: 13703332099

Fa4k: www.cnthdg.cn BB#f: th5689@163.com

BRI E=EEERY%E (12~24kV/315~1250AZ T EE)

Aluminum flanged porcelain Bushing outline dimensions(12~24kV/315~1250A Rod type bushing)

fe < (Dimensions) ‘ﬁ!j ﬁ ﬂrlif:"; FeE
Sequence 11" RN Cas b
Number Model M il e - » destance
1 TH.LDA.013 | FED-12/315 501 | 131 30 | M12 116 |60 | 69 | 6 | 70 | 146 (280 |34 | 4.3
2 | TH.LDB.0OZ | FBD-12/400 | 527 | 136| 35 | M16 15|60 | 69 | & | 70 | 146 [280 |3 | 4.7
3 TH.LDD.002 | FEBD-12/630 527 | 136 | 35 M20 115 | 60 69 | 7 70 146 (280 |3 |53
4 TH.LDE.001 | FBD-12/800 603 | 166 | 45 | M24 160 |95 | 99 | 10 | 108 | 146 | 310 |34 | 11.3
5 TH.LDF.002 | FED-12/1000 13 | 171 | 50 K30 27 | 160 | 95 99 11 108 | 146 [ 310 |3 | 13
6 | TH.LDG.002 | FBD-1211250 | 613 |171| 50 | M33 | 30 |160 |95 | 99 | 12 | 108 | 146 | 310 |38 | 13.7
7 TH.LFA.016 | FBD-24/315 541 1131 | 30 | M12 115 |60 | 69 | 6 70 186 [ 320 |34 | 4.7
8 TH.LFE.006 | FBD-24/400 567 | 136 | 35 | M16 15|60 | 69 | 6 70 186 | 320 |3m |5
9 | THLFD.006 | FBD-24/630 | 567 [ 136 | 35 | M20 M5 |60 | 69 | 7 | 70 | 186 | 320 |3ff |55
10 TH.LFA01T | FEDW-24/315 | 541 | 131 | 20 M12 125 | 60O 69 | 6 7o 186 | 440 |3X2/h| 5.2
11 TH.LFB.00T | FEDW-24/400 | 567 | 136 | 35 M16 125 | 60 69 | B 70 186 | 440 |3X2/M 5.6
12 | TH.LFD.007 | FBDW-24/630 | 567 | 136 | 35 | M20 125|160 | 69 | 7 T0 186 | 440 |3K2/ 6.2
13 | TH.LFE.001 | FBOW-24/800 | 643 | 166 | 45 M24 190 (95 | 99 | 10 | 108 | 186 | 570 |3X2/| 13.8
14 | THLFF.006 | FEDW-24/1000| 653 | 171 | 50 M30 | 27 |190| 95 | 99 | 11 | 108 | 186 | 570 |3:K2/ 15.3
15 | TH.LFG.006 | FBDOW-24/1250 | 653 [ 171 | S0 | M33 | 30 | 190 |95 | 99 | 12 | 108 | 186 | 570 |3:Kk2/ 16.2
16 TH.LFA.018 | FEDW-24/315 | 641 | 131 | 20 M12 150 | 64 69 | 6 70 286 | 750 [4X4/ 9
17 TH.LFB.00% | FEBDW-24/400 | BBT | 136 | 35 M6 150 | 64 69 | 6 70 286 | 750 [4Xk4/ 9.5
18 | TH.LFD.009 | FBDW-24/630 | 667 | 136 | 35 | M20 150 (64 | 69 | 7 70 | 286 | 750 |44 10
19 | TH.LFE.007 | FBOW-24/800 | 743 | 166 | 45 M24 190 (95 | 99 | 10 | 108 | 286 | 830 |4X4/| 15.8
20 | THLFF.007 | FEDW-24/1000| 753 | 171 | 50 | M30 | 27 | 190 |95 | 99 | 11 | 108 | 286 | 830 [4K4/ 17.5
21 | THLFG.007 | FEOW-24/1250 | 753 [ 171 | S0 | M33 | 30 | 190 |95 | 99 | 12 | 108 | 286 | 830 |4:kd/| 18.8
22 TH.LFE.022 | FEDW-24/800 | 848 | 211 | T6 M24 250 [ 135 99 10 | 148 | 344 | 1050 |44/ 22
23 TH.LFF.022 | FEDW-24/1000 | 853 | 211 | 76 M0 27 | 250 (135 99 | 11 148 | 344 | 1050 |44/ 25
24 | TH.LFG.022 | FBDW-24/1250 | B53 | 211 | 76 M33 | 30 [ 250|135 99 | 12 | 148 | 344 | 1050 [4Kd4/h| 26
25 | THLFE.Q05 | FEDW-24/800 | 843 | 166 | 45 | M24 190 |95 | 99 | 10 | 108 | 386 | 1250 |6:k6/1 20.5
26 | THLFF.014 | FEDW-24/1000| 853 | 171 | 50 | M30 | 27 | 19095 | 99 | 11 | 108 | 386 | 1250 |6K6/ 23
27 | THLFG.014 | FEDW-24/1250 | 853 | 171 | S0 | M33 | 30 | 19095 | 99 | 12 | 108 | 386 | 1250 |66/ 24
TIANHUA 89

£ B0

et
)




.IiE
i‘.:.?

 SRIEES

TIANHUA BLECTRIG

- A

HUMIESHERE change oipocially olectricianautsitanding supplier

B SMERT(12~24kV/2000~5000A)

0317-3628666 %3 : 0317-3626666

Outline dimensions
FRREE S _ $00 _
: B b . ) #170 _
gihs , 4 e
'II' i ] i-#18 i - b-u12 g1
- = 5 #l :
i e 1o =rrire - k=18
‘.ﬁd__ .|..-I ! S ! '
-C;. ] { ' :\-1-. ’ P —'-l-.:.- i .I |_'_| |
o 2000~ 40004 ' t'wm' 2
%, W kel o3 AE 5000 = 8d0#10
S —— A Directica A
= Bleedscrew M00~31500  d0=108
éé Eﬁ EEERAR
L W § /| Flange mounting bolts 2 $110 g
i — i " 3 $1%0 _
Rl — | preesy ) #166 _
S —— T 2 G4 T
= e | B e e 6-18
T : " _ ! ! 1 !
| R B < ERRART e E'*]".f ' It
- | L& 0il terminal o~ 5.3 B
- Tffi 2 3 S ed0+10
i =Tv e ' e asthe e :
i g B0 b BER R 1000~50004 d0=130
B L e Flange mounting bolts : 10 )
£ E: A 4 B #210 5
= | B S——— : #15] .
A . 5 5y SME| ] e
. i [ — % L #40
= o e iy I 11 I
Pa | | ™1 BT i | ELEES—1 Ll
| . T ", " E&f i LIy — — i
E ¥ * 0il terminal f~10 23y B 818
R o S0 _
Bl 44, 2000~30004  d0=148
": E?F%TF.&E" :F‘?_F-'-'::E:-E SEEERTI(EFEE)
Full p protect 1on of seali Ing I]]]&', Ma igram o of terminal direction Younting flange dimensions(Equipped by user)

90 TIANHUA

HARZR:

13703332099

Pl 4k -

www.cnthdg.cn BB#f: th5689@ 163.com

B iRIE=EEERYE (12~24kV/2000~5000AZ T EE )

Aluminum flanged porcelain bushing outline dimensions(12~24kV/2000~5000A Rod type bushing)

R sf(Dimensions) ﬂ'ﬁ" aﬁ.:f:rﬂ BE .. K&
opening distance creep J’ *d weight
d1 d3 g0 h oo b
1 |THLDJO01 | FEO-1272000 722 |241|120] M42 | 38 |160| 95 | 99 |100| 50 | 15| 80=85 |14 | 14 [ 108 | 146 | 310 (34| 18.6
2 |THLDLOM | FBD-123150 | 727 |241|120] M48 | 42 1EEI| 95991100 50 | 16 | 80=85| 14 | 15| 108 | 146 | 310 |34 4| 20.8
3 | THLFLO001 | FBOW-242000 | TE2 |241|120) M42 | 38 191}‘ 95|99 |100( 50| 15| 80=85| 14| 14 | 108 | 186 | 570 |3k2: 21.4
4 | THLFLOM | FBOW-2473150 | 767 |241(120| M48 | 42 19D| 95|99 1100{ 50 | 16 | 80=x85| 14 | 15| 108 | 186 | 570 |3:xk2/ 23.8
5 | THLFMO0E| FEDW-24000 | B42 |2T6[155] M52 | 48 21][!‘115 119|120 60 | 18 [100=100| 18| 16| 130 | 186 | 510 |3k2/4 325
6 |THLUFMO001 | FEOMW-245000 | 902 |276|155] M56 | 52 Eﬂﬂlﬂﬁ 119(150] 50 | 20 (100100 18 | 18 | 130 | 186 | 510 |3x2:44 35.5
T | THLFWO00T | FBOW-242000 | 942 |2T76]155| M52 | 48 200‘115 119(120] 60 | 18 (100100 18 | 16 | 130 | 286 | 770 |dXd4:4 37.5
8 |THLFN.00G | FBOW-2455000 | 1002|276{155| M56 | 52 200'115 119|150| 50 | 20 [100=100 18 | 18 | 130 | 286 | 770 |[4X4:N 41.5 E
9 |THLFJ002 | FBOW-2472000 | BE62 |241|120] M42 | 38 191}‘ 95|99 |100( 50| 15| 80=85| 14 | 14 | 108 | 286 | 830 |4Xx44y 24.4 '-E
10 | THLFLOOS | FBOW-2473150 | BET [241|120) M48 | 42 19D| 95|99 |100{ 50 | 16 | 80=x85| 14 | 15| 108 | 286 | 830 |4x4:4 28.3
11 |THLFJO00G | FBONY-242000 | 932 (249|111 | M42 | 38 25!)‘135 99 [100| 50 [ 15| 80=85| 14 | 14| 148 | 344 | 1050 [4XK44y 29
12 | THLFLOOE | FEOW-2473150 | 937 (249(111| M48 | 42 25':!'135 99 1100 50 | 16 | 80x85 | 14 | 15| 148 | 344 | 1050 [4k4qy 32
13 | THUAO0MS | FBOAW-244000 | 1002 | 266[145| M52 | 48 250‘135 134[120| 60 | 18 [100x100 18 | 16 | 168 | 344 | 1050 [4X4y 33
14 |THLRLO06 | FBOW-24/5000 | 1062 |266]145) M56 | 52 250'135 134|150( 50 | 20 |[100=10y 18 | 18 | 168 | 344 [ 1050 [4Kd/ 34
15 |THLFLO004 | FBOW-2472000 | 962 |241[120| M42 | 38 190‘ 95| 99 |100{ 50 [ 15| 80=x85 (14 |14 | 108 | 386 | 1250 |BAGY 28
16 |THLFLOOT | FBOW-2473150 | 967 (241 12ﬂ| M4 | 42 190' 95| 99 [100]| 50 | 16 | 80x85| 14 | 15| 108 | 386 [ 1250 |6K6D 31

#E: REEM “T" KARPFE. TRESFPAEREHICAESR,

TIANHUA 91




1
ﬁ%% M RYE: 0317-3628666 fXIl: 0317-3626666 #AXH: 13703332099 Fik: www.cnthdg.cn BB#i: th5689@ 163.com
TIANHUA ELECTRIG

METHETWEEEN Change eypecially eloctricianoutstanding supplies

B SMEZRT(24kV/I6300~8000A)

Qutline dimensions 120 B - 1. = -
T = | |
_ EI'D N o o — i
. I - ot 1218 r— » 9-218
L » - — @ -
1- [ .-'..:". E
- py S = 2 |
= "“ ! %l
{— i !
i
i -8 TSR AR
B0 "|_ W F5He A Direction
- Bleedscrex EExRAR y ]
S M Plai soirtine holts EERNMPEE Silicone shield sleeve
ﬂ i ! ; dlER | .GJ."I[ ”:I-| EHIL LS
oy 4 | B/ i 8TH.048.010-6300~8000A
i —~ T ) )
q.l.ﬂ-.:' = ¥ :;
= s, 8250 ’ | BRRRET
< i 0il terminal 2L
S T TR il B0 EEERYE (24kV/6300~8000AZ T EE)
1 4% : 15 " *"t iR ‘]:*; _ Aluminum flanged porcelain bushing outline dimensions(24kV/6300~8000A Rod type bushing)
i gram of termina ction —
a2 Fik fle | lagram of terminal direction R M T _ o
4 [Pt < P iy § B R sr(Dimensions) FFFL  arcing R & Fis % B
..i.--:-,--: :.'H-.!--.n:. . EU'JEI‘ICE o Eﬂﬂd-:_l m] distance !:{EEF Ehlgld 'ﬁ'i'E‘ig-h[
. 1 9135 ) 2;:3 } Rumber H h2 h3 Md od 1 do ha EAace (kg)
_ &l | K ) 8181 - 1 | TH.LFP.001 |FEOW-24/6300| 912 | 266 | 145 | Me0x2 | 56 | 16 | 22 | 148 | 236 | 750 | 3kan| 49.5
= ] - -
e ; | TH T .
/L 1 phns . "“ﬂ’“ 2 2 | TH.LFQ.002 [FBOW-2417000| 917 | 266 | 145 | Mesx2 | 60 | 18 | 26 | 148 | 236 | 750 [3xam| s3
- . . &0 &
= 1218 el = “Trr 8-18 3 | TH.LFQ.001 | FBOW-24/8000| 917 | 266 | 145 | M70x2 | 65 | 20 | 30 | 148 | 236 | 750 |3X3| 58
- L= ' 1 : !
1 ¢ ¥ | ! I | i . 4 TH.LFP.002 |FEBDW-24/6300| 1022 | 266 | 145 | ME0=2 | 56 16 22 148 344 1050 | 44/ 60
: i s i P i
T:;:[T il = 7| ” 3 | TH.LFQ.003 |FBOW-24/7000| 1027 | 266 | 145 | M65x2 | 60 | 18 | 26 | 148 | 344 | 1050 |4&k4/| 65
- _ 10~ = !
<ed0+10 6 | TH.LFG.004 | FBOW-24/8000 1027 | 266 | 145 | M70=2 | 65 | 20 | 30 | 148 | 344 | 1050 |4Kk44| 70
I: EHELHPE EEHIRT (RFEE) i REEN “T" RERPE, THEZARREURNTRESS.
Full protection of sealing ring Mounting flange dimensions (Equipped by user)

92 TIANHUA TIANHUA 93



 SRIEES

TIANHUA BLECTRIC

MERITERBMBEEN Change especially electricianoutstanding supplier

B 5MZRT(40.5kV/800~1250A)

Outline dimensions

— — 1-
! A
@d . £
AT T 1
[ H'Lﬂﬁ:‘
== Md  Bleedscrew
¢dd % b I
= {
i i -ﬁ‘
‘ e T
s
g T
_'r....'.\:. . :”-_;_. i
== = -.i-.“ 'l:' ---- t
[ = 9250
1 - e 15
| . I 'I
- = o5 e
e | =
=2
- =AH THES o135
. ;
= tl | E——
- -l ==
Y ¥ ¥ 2@ AT r_t
2-214 15
40

[l & Eepp
Full protection of

94 TIANHUA

sealing ring

g . 0317-3628666 {5H. 0317-3626666

| 4-215
P
i el
=
1
Al
A Direction
. $240 _
. 6210 P
3 #1831 _
8-M12 _ 160 _
E | e -
1 a1t |
SR AN SEN
I l- ; ."':_.:_:IZ = Pl 55 |
6~10 T <ed0H0
TEEERT(EFPES)

Mounting flange dimensions

Equipped by user)

FARFF: 13703332099 [il: www.cnthdg.cn BBF#Hi: th5689@ 163.com

FiTEEPE
Parallel silicone shield sleeve
8TH.048.060-800~3150A

BiEiE=EEERY%E (40.5kV/800~1250AZ T EE)

Aluminum flanged porcelain bushing outline dimensions(40.5kV/800~1250A Rod type bushing)

R$© B orcng RS
i ik r 2 e 2 F(Dimensions) I arcing & &% EiE
Spquenco é;;ﬂ hi:el Opening distance Er:.:;ge shield weight
MHumber y Trinhs distance

Md : ' d0 h1

(kg)

1 |TH.LHE.116| FBOW-40.5/800 | 958 | 216 | 88 | M24x15 | — | 99 | 10 | & | 148 | 449 | 1320 |6X5/)| 31.4
2 |TH.LHF.116| FEDW-40.51000| 963 | 216 | 88 | M30=x15 | 27 | 99 | 11 | 8 | 148 | 449 | 1320 |6X5/) 33
3 [TH.LHG.116| FBDW-40.5M1250| 963 [ 216 | 88 | M33=x1.5 | 30 | 99 | 12 | 8 | 148 | 449 | 1320 |[6XKS| 33.7
4 |TH.LHE.117| FBDW-40.5/800 [1043| 216 | 88 | M24x15 | — | 99 | 10 | & | 148 | 534 | 1560 |7X6| 35.7
5 |TH.LHF.117| FBOW-40.511000[1048| 216 | 68 | M30x15 | 27 | 99 | 11 | & | 148 | 534 | 1560 |7K6/)| 37.5
6 |TH.LHG.117| FBOW-40.5/1250|1048| 216 | 88 | M33x15 | 30 | 99 | 12 | &8 | 148 | 534 | 1560 7K€\ 38.4
7 |TH.LHE.118| FBDW-40.5/800 |1128| 216 | 88 | M24x15 | — | 99 | 10 | & | 148 | 619 | 1800 |[8XT| 40
8 |TH.LHF.118| FEDW-40.51000(1133| 216 | 88 | M30x15 | 27 | 99 | 11 [ & | 148 | €19 | 1800 |BX7h| 42
9 |TH.LHG.118| FBOW-40.51250(1133| 216 | 88 | M33x15 | 30 | 99 | 12 | 8 | 148 | 619 | 1800 |BK7/| 43.1

E: KEEN “T" ARRPE. THEEARRZURTRHET &,

TIANHUA 95




R
%% THMRIA: 0317-3628666 fXI1: 0317-3626666 #HAEH: 13703332099 Fit: www.cnthdg.cn EB#i: th5689@ 163.com
TIANHUA ELEGTRIG

METHEITEREMBEN Change eypecially leciricianouistanding supplier

B 5MEZRT(40.5kV/2000~5000A)

ine di niE—mEERYE ( FTIVEE )
Outline dimensions ~ B R .in; — 5 R‘ 40.5[(\/){2000“5000;\%: L
e nif _ b Aluminum flanged porcelain bushing outline dimensions(40.5kV/2000~5000A Rod type bushing)
i I I"ﬂg
' \ o Mgk FA
oo ) 1 28 Esi(Dinenslons) il )
L 1 Model it
‘ ' % A * Y ®d d1 d3 d4 B b t B1xB2 D d0  hi
L }
e Bleadscrey
oy, 9000~40004 1 | THLHJ.103 |FEOW-40.52000] 1037 | 249[111| M42 | 38 |250|135| 99 [100]| 50 | 15 | 80x85 | 14 | 14 | 148 | 449 | 1320 | 654 | 44.1
R = -
#df g Eﬁr I
' il . B s 2 |THLHL.103 |FROW-0.53150| 1042 |249(111 | M48 | 42 |250]135| 99 [100] 50 | 16 | 80x85 | 14 | 15 | 148 | 449 [ 1320 | g5y | 47.2
.;'_.\,'.\,'_... -'.fr: I‘!,I. _. o h ol ]] =
= e 4-918 3 | THLHM. 101 | FEDW-40.54000| 1127 [285[137| M52 | 48 |280| 165119120 | 60 | 18 [100=100] 18 | 16 | 180 | 445 | 1280 | sk5 | 65
o ST i
s '."
T - i = 4 |THLHN.101 |FEOW-40.55000| 1187 | 285(137| M56 | 52 |280|165|119 [150| 50 | 20 [100x100| 18 | 18 | 180 | 445 | 1280 | szksen | 70
..... Taie =
== S || R = - —B— D ¥ 5 | TH.LHL.104 |FBOW-052000( 1122 [249[111| Maz | 38 |250[135| 99 |100| 50 | 15 | soxas | 14 | 14 | 148 534 | 1560 | 7ceq: | 20.1
(B - ShE 3¢
L2 | || Bl £ + S LLHL. 1 * 76 | 52,
vy 1 ; T TITE. 6 |THLHL.104 |FEDW-0.53150| 1127 |249[111 | Md8 | 42 |250]135| 99 [100]| 50 | 16 | 80x85 | 14 | 15 | 148 | 534 | 1560 | 7kesh | 52.7
G - ooy, $d 1 ; J t}_ilqir-r:-nql
e 11 7 | THLHM.102 | FBOW-40.54000| 1212 | 285137 | M52 | 48 |280|165|119 [120] 60 | 18 [100%100] 18 | 16 | 180 | 530 | 1520 | 7ked | 73
W : 2FFEFEE
i 50003 i P
! 13 Diagram of terminal direct 8 LHN, 272 | 285|137 | Ms6 | 52 |280]165]|119|150| 50 | 20 |100x100{ 18 | 18 | 180 | 530 | 1520 83
¥ 1 , . . LdErdas 01 Lermand ITECLT0 TH.LHN. 102 | FEDW-40 55000] 1 1 [X] i 114 |1 100=1 1 1 1 1 T &
W <1 AR A Direction
PP el | - 4100 9 | TH.LHJ.106 |FEOW4052000| 1207 | 249|111 | M4a2 | 38 |250|135| 99 |100| 50 | 15 | 2085 | 14 | 14 | 148 | 619 | 1800 | 8k7ih [ 54.1
£ « - o 2 ) 260 }
2 | b8 i #210 . - ~
N -li]ll k:EJ- #d3 o181 il [ #220 ) 10 | TH.LHL.106 |FEDW-055150| 1212 | 249|111 | Mas | 42 |250|135| 99 [100| 50 | 16 | 8oxss | 14 | 15 | 148 | 619 | 1800 | &7 | 58.1
= = 12 5 8160 5 2 #1% B
'l T - . - B )
= 440 | ; ' o S L LN #dl - 418 Wil - - 11 | THLHM, 103 | FEDW-30.54000| 1297 | 285(137 [ M52 | 48 |280|165(119 (120 60 | 18 |100=100{ 18 | 16 | 180 | 615 | 1760 [ 87 | 81
| I e ] ]
. i b ! ILEN| I S 1N i EEEE— ' =R
i A B R I T J | L iy
B = ' 1 91 gy o |EzzZ - . P ‘ 12 | TH.LHN.103 FBDW40.55000( 1357 285|137 | MS6 | 52 |280( 165|119 [150 50 | 20 [100x100] 18 | 18 | 180 [ 615 [ 1760 gk7h | 96
, — : - .
-.]1[_ 5~10 h o K ]E' 'H.-:_ifl s {g-':‘[br“] 5] a=18
- - - ikt - - = - o, el
I 5EELRDS 2003158 d118 A LEAE i i i REEM ‘T RERPE, TRESARREURTRETS.
Full protection of sealing ring Mounting flange dinensions(Equipped by user)

96 TIANHUA TIANHUA 97



WMERITERBMEEN Change especially electricianoutstanding supplier

g . 0317-3628666 {5H. 0317-3626666

B SMERT(24~40.5kV/10000~25000A)

QOutline dimensions

Al
A N
! i
I = <
1
. Bdd |
] > = C
4 | 3
- 1]
—i.:":li—
ot 4 i 0218
L %1 - %J.
e 2l 1
) e :7—'-_\: _ ‘?:
- | $dl
I o ' !
511 ‘ (1
T B
8| _| 9d3 tl '
i |
— S EHEEEES I
e ' =]
=]
oL 1
T 1 I
|
i B b
] 4 I i ] o 8413 i
ey ¥ S - # e e i
== L :-r:: Lot v ﬁ: . :':-“-T'.‘,JI |
] l 1 | Jl L 2 L] 3 1
A b | k) Eic
1] 150 | = |4 = "
] 17 03
98 TIANHUA

A2
i e =
A .
= 4+ .I o
1 :
;
L] o !
i
C
150 W
"'.. . "'54]“" —i.:":li— —I-:\'J]i— _...'f'l:l._
I 4-218 |2-218
- 1 v
e | -t
b
= ]
E Ear il l?l
95 , 535
¥
(2 (3
R
o6 _

_ @0 ___ nl-M6
| - ! |
- —

30 ! RS, n1-20
TAEERT(RPESR)
Mounting flange dimensions(Equipped by user)
-8
F. ] L
. :".-
.:._'.I ] _.l
i |
r -
-
i = 1:i:l
05

PAZR: 13703332099 Wit

ER#i: th5689@ 163.com

www.cnthdq.cn

g ffg
bas| - - -uis

™

W EEIE=FEERIE (24~40.5kV/10000~25000A i EE )

Aluminum flanged porcelain bushing outline dimensions(24~40.5kV/10000~25000A High current bushing)

s ol
II'—' o

dox T FIM

R~F(Dimensions)

L

T £

ol Cpenng Gestance

anng

fgie

Ouicioor creep chield weight

42  d3 | o terming emind 45 g OSGN00 {kg)

1 THLFRO001 |FBOW-2010000] 1105 | 460 | 320 | 175 | 470 | 80 | 330 | 365 | 460 | 425 | 12 25 | AUGE | 04 | 380 | 300 | 1080 (435 140
2 | THLFS001 IFWN-WIZEWI 1105 | 460 | 320 | 225 | 520 | 100 | 380 | 415 | 510 | 475 | 16 | 25 | ANC3 | D2 | 430 | 300 | 1080 [4x34| 170
3| THUFTOO! |FBOW.Z0ME000] 1105 | 460 | 320 | 330 | 570 | 130 | 430 | 465 | 560 | 525 | 16 | 25 | AZC1| D3 | 480 | 300 | 1080 |sk3h| 200
4 THLFU.001 Imem 1105 | 460 | 320 | 385 | 670 | 140 | 530 | 565 | 660 | 625 | 18 | 30 | A2IC2 | D4 | 580 | 300 | 1080 lsxah| 260
5 THLFVO01 |Fanw-m-?5-um 1165 | 520 | 389 | 500 | 770 | 180 | 630 | 665 | 760 | 726 | 20 | 30 (AC3I | D5 | 680 | 300 | 1080 [4k1h| 335
6 | THLHROO1 |Fauw¢5::mn- 1280| 485 | 320 | 175 | 470 | &0 | 330 | 355 | 460 | 425 | 12 | 25 [AWCZ| D1 | 380 | 450 | 1530 [6k5:H| 170
T THLHS 001 |FB-EI'N-35f125l:ﬂ 1280 485 | 329 | 225 | 520 | 100 | 380 | 415 | 510 | 475 | 16 | 25 | AUCS | D2 | 430 | 430 | 1530 [eksd| 210
8 | THLHT.O0M |me-.'sﬁ.r:m 1280| 485 | 329 | 330 | 570 | 130 | 430 | 465 | 560 | 525 | 16 | 25 [AXC1 | D3 | 480 | 450 | 1530 650 240
g TH.LHLL G0 |FELD‘H-35-'.E'EIII:] 1280 485 | 320 | 385 | 670 | 140 | 530 | 565 | 660 | 625 | 18 | 30 |AZICZ| D4 | 580 | 450 | 1530 |[6ksd| 320
10 | THLHV.OH |FED'|I'I’~35Q500IJI 1330| 535 | 389 | 500 | 770 | 180 | 630 | 665 | 760 | 725 | 20 | 30 | AZC3| D5 | 680 | 450 | 1530 [eXksd| 400

E: THESEPRREVNERES&.

TIANHUA 99



FBES

HTMTRBHER change erpocially electricianautstanding Lupplier

B MR (1kV/630~6300A)

QOutline dimensions

22D

A L
i
] 'ihli B U050 v
I [
_— 1. ’ __.Ml
} e kel
= 0% §~10 -
— o |
'I.
. 2-2]3
b s
o | - s S
tl
=2
B B
T 1.1 )
B304

100 TIANHUA

I EIE: 0317-3628666 f§¥H: 0317-3626666

Pl
- 4 et i
L
o &2 i<l -
T 1 |I I
!
'
ol AE A Direction -
o)
#d0 . {:
- & N0 fu o
: .. k]
f & 1 :-] i iy
i~ 21501 g123p B0~ 30000
Dimensions of opening i,
i il i
=y
i i -
N B I B
= 1 13 ‘ - =
J Iy |
|
! - - 1
b3 L
- - B hs A
1000~ 31504 §000~ 50004

B B Direction

| -
E

AL 13703332099 Mik: www.cnthdg.cn EBfi: th5689@&163.com

el ): v

B IETFIEBRIE (1kV/630~6300AT 2 IEZEE)

=4

YT 1E90°

Dry type Resin bushing outline dimensions ( 1kV/630~6300A plate connected bushing )

st (Dimensions)

BixB2 B3xB4 b3xbd
1 |THFAD.003| BFG-1/630 |255[104| 71 | 20 | 43 [ 43 | 40x80 | 13 | 40| 8 [30x58 25 | 10 [50x70| 45 | 35 | oo | 1
> |TH.FAD.004| BFG-1/630 |255[104| 71 | 20 | 43 | 423 | 40x80 |13 | 40| & [30x58[ 25 | 10 [s0x70| 45 | 35 | 00 | 4
3 |tHFaro0s|BFG-1/1000(267[111| 78 | 30 | 55 | 55 | 80x80 | 13 | 45 | 10 [50x60|22x26| 10 [80x80| 57 | 35 | o | 2
4 |mHFaro0s|BEG-1/1000{267[111] 78 [ 30 | 55 | 55 | 80xe0 | 13 | 45 | 10 [s0x60|22x26| 10 |80x80| 57 | 35 | 90 | 2
5 [TH.FAH.003|BFG-1/1600|267| 11| 78 | 36 | 70 | 70 | 80x80 | 13 | 45 | 12 |S0x60|22x26| 12 [B0x80| 72 | 35 | 0° | 25
6 |tH.FaH004|BFG-1/1600{267|111| 78 | 36 | 70 | 70 | 80xe0 | 13 | 45 | 12 [s0x60]22x26 12 [80x80| 72 | 35 | 90° | 25
7 |trras00s|BFG-1/2000| 287|111 78 | 42 | 70 | 70 | 100x100] 13 | 45 | 12 [s0x60|22x26| 15 [80x80[ 72 | 35 [ 0 [ 35
8 [mH.Fasc0s|BFG-1/2000(287| 111 78 | 42| 70 | 70 [100x100[ 13 | 45 | 12 [s0x60|22x26| 15 |80x80| 72 | 35 | 90° | 35
o [THFAL003|BFG-1/3150|287[ 111 78 [ 48 | 70 | 70 |100x100| 13 | 45 | 16 [50x60]|22x26| 20 |80x80| 72 | 30 | 0° [ 45
10 |TH.FAL.004| BFG-1/3150|287|111| 78 | 48 | 70 | 70 | 100x100| 13 | 45 | 16 EGKEEIIE'EKEE 20 |B0=x80| 72 | 30 | 90° | 4.5
11 [TH.FAM.041| BFG-1/4000| 364|148 [ 115| 52 | 80 | 80 [125%125| 18 | 60 | 20 [75x85/40x45| 20 | @130 | 82 | 35 [ 0° | 85
12 |TH.FAM.042| BFG-1/4000 {364 | 148| 115| 52 | 80 | 80 | 125%125 18 | 60 | 20 |75x85|40%45| 20 | @130 | 82 | 35 | 90° | 85
13 |THFAN.O1|BFG-1/5000|364|148| 115| 56 | 80 | 80 |125x125| 18 | 60 | 20 |75x85|40x45| 20 | @130 | 82 | 35 | 0° | 9
14 |TH.FAN.012| BFG-1/5000 | 364 148| 115| 56 | 80 | 80 | 125x125| 18 | 60 | 20 |75x85|40xa5| 20 | @130 | 82 | 35 | 90° | 9
15 |TH. FAP001| BFG-1/6300|414|168|135| 56 | 80 | 80 | 140x155| 18 | 50 | 20 |75+106|40=45| 20 | ®130 | &2 | 35 | 0" |10.5
16 | TH. FAP.002| BFG-1/6300 | 414|168 135| 56 | 80 | 80 | 140%155| 18 | 50 | 20 |75x105|40x45]| 20 | ®130 | 82 | 35 | 90° |10.5
E: ARIEE AT RENNTRESR.
TIANHUA 101




 SRIEES

TIANHUA BLECTRIG

HUMIESHERE change oipocially olectricianautsitanding supplier

B 5MERY(3kV/1000~5000A)

Outline dimensions

I EIE: 0317-3628666 {f§¥H: 0317-3626666

B Bl -
b _
| T T oS0 #d0
i, I 1
49D 5 & L/ @
| =
t #
1
1% 1 5 Y . ~_ fel
| B .
o = EEFARY
= =22 2S- o Dimensions of opening of tank
o e T 810
I = - e : :
‘ | Br by
b oty 2013 ;;l-r e gi-_ﬁ
- {1 tl |
= | I J L 1
b B3 _ _ b3
. B
s 1000~3150A 5000
B
102 TIANHUA B Direction

FAZH: 13703332099

T o

Fa4k: www.cnthdg.cn BB#f: th5689@163.com

HEE

T 90°

B HIETFIIEER Y% (3kV/1000~5000A 2= ZEE )

Dry type Resin bushing outline dimensions ( 3kV/1000~5000A plate connected bushing)

e R=t (Dimensions) e Wi
Seqerce {48 Code  HYEModel rinal eaht
b H h2 h3 d di B1xB2 B3xB4 B3xbd i

1 |THrero01 | BFG-3/1000 |352(136]103| 30 | 78 | 55 | soxs0 | 13|45 | 10| s0x8s | 45 |[10|130| 57 |175| o | 3
2 |THFEBFROOZ [ BFG-3/1000 |352(136|102) 30 | 78 | 55 | 80=80 | 13 | 45 | 10 | S0=85 | 45 10 (130 57 | 175 | 90 3
3 |THFBH.001 | BFG-3/1600 |352|136(103| 36 | 86 | 70 | 80x80 | 13| 45| 12| sox8s| a5 | 12140 72 |165]| 0 | 4
4 |THFBH.002| BFG-3/1600 |352|136|103| 36 | 86 | 70 | 80x80 | 13 | 45 | 12 | s0x85 | 45 |12 |140| 72 | 165 | 90 | 4
5 |THFBL001 | BFG-3/2000 |372|126[103| 42 | 86 | 70 [100x100] 13 | 45| 12 | s0x85| a5 |15|140| 72 [185]| 0 | 5
6 |THFBULO02 | BFG-3/2000 |372|136(103| 42 | 86 | 70 [100x100| 13 | 45| 12 | 50=85 | 45 | 15140 72 [165]| 90 | 5
7 |THFBLO01 | BFG-3/3150 |372|136[103| 48 | 86 | 70 [100x100] 13 | 45| 16 | s0x85| a5 | 20140 72 [155]| 0 | &
8 |THFBLO02 | BFG-3/3150 |372|136(103| 48 | 86 | 70 [100x100| 13 | 45| 16 | s0x85 | 45 |20 |140| 72 [155| 90 | &
9 |THFBN.002 | BFG-3/5000 |424|148[115| 56 | 86 | 80 [125x125| 18 | 60 | 20 | 75x85 | 40xa5 | 20 [140| 82 [125| 0 | 11

10 |THFEN.003 | BFG-3/5000 |424|148|115| 56 | 86 | 80 [125x125| 18 | 60 | 20 | 75=85 | 40=45 | 20 |140| 82 | 125 | 90 | 11

i THIEEAEREHNN TGS,

TIANHUA 103




i
%ﬁ% I EIE: 0317-3628666 f§¥H: 0317-3626666 FTAEHF: 13703332099 RMik: www.cnthdg.cn BB#i: th5689@163.com

TIANKHUA ELECTRICG
HTMTRBHER change erpocially electricianautstanding Lupplier
- Bl - -
~ Bl _ 4-H10X 50 &40 = = b i
5 M &, e |
[ g L.
' ‘ ! pas b7 | ] e 1 h
o e i i =& o fek
'|"I13 | : 5 i 1 g E L 3 1
ML
' 1 . 1
(- 1 i 1 | 1 Ml
l %0 B304 \H 1000~ 16003 .ﬁ,’ % Kl
- - A Direction =l A Pl
= g EFAR 4 i R
d Digensi ”'l. o £ tank T — -:il A A2 §~10
— ] = imensions of opening of tan - - #40 _ S K] o
o b A edl - - — N0 T - i
N.I Kz X | 8.7 O ul > : [ % i
S %% §~10 : - #d2 | , N ! I s o o i B¢
— e | 1 ,.. o ey i = =
L i L e = v I B 150
= o "t i | ik Y El ¥ t 8 = ——
‘ ‘__ 1 '_*'E'dj | \‘ | ':.-., ::l i ﬁ
e wE - \ " ~ - Pl -
8 | o BEFARS W L W
A1 : timinsnons of opeaing of lank
AR
i S - g
] A Direction ] *HHE!“TE%E?% 1 NSkV!GSON‘I GUDAE%?-QE;%EE )

H Hﬁﬂ'ﬁ?iﬁﬁ%ﬁ?ﬁ ( 1 kVﬁ 000.-.._,31 5UAEE4@ E?ﬁﬁg ) Dry type Resin bushing outline dimensions (1~3kV/630~1600A screw connected bushing )

Dry type Resin bushing outline dimensions ( 1kV/1000~3150A T type connected bushing ) Hi% TI

5 i<t (Dimensions) F#. arcing RE gy

Sequence {£S5Code  #EModel opening distance CTEED \aighy
Humber distanon (ka)
dl |« BixB2 b ] = I h1 g

: 11 = ¥
Rt {Dimensions) FFL cr:ﬂ.fp

i

siing | ©F weight
d1  d2 d3  B1xB2 mdn : dlz:;n [hg} 1 |TH.FAD.OOS | BFG-1/630 |241| 90 | 57 |M20=2.5| 20 | 43 | 43 | 40=xB0 | 40 | & |50=70| 45 | 26 | 35 | 1.3
1 TH.FAF D0 BFG-1/1000 201! 30 | 55 | 50 | 55 | soxg0 | 10 57 16 17 2 |TH.FAF009 | BFG-1/1000 |255| 99 | 66 |M30=1.5| 30 | 55 | 55 | 80=80 | 45 | 10 |80=80| 57 | 26 | 35 | 2.3
2 TH.FAH.009 BFG-1/1600 201 36 | 70 | 65 | 70 | 80=80 | 12 72 35 2.2 3  |THFAHO012 | BFG-1/1600 (255| 99 | 66 |M33=1.5| 36 | 70 | 70 | 80=80 | 45 | 12 |80=80| 72 | 26 | 35 | 2.8
3 TH.FAJ 00T BFG-1/2000 221 | 42 | 70 &5 | 70 |100=100] 12 72 15 3 1 4 |THFBFOO5 | BFG-3/1000 |315]| 99 | 66 |[M30=1.5| 30 | 78 | 55 | 80=80| 45| 10 | 130 | 57 a8 | 175 | 3.3
4 TH.FAL.007 BFG-1/3150 221 48 | 70 | 65 | 70 |100x100| 16 72 30 4 5 |TH.FBH.004 | BFG-3/1600 |315| 99 | 66 |M33=1.5| 36 | 86 | 70 | 80=80 | 45 |12 | 140 | 72 | 86 | 165 | 4.3
E: THREEFRREVNRERESR. F: THIERARRENERES .

104 TIANHUA TIANHUA 105



n
ﬁﬁ% WM BIE . 0317-3628666

TIANHUA BLECTRIG

HUMIESHERE change oipocially olectricianautsitanding supplier

3], 73
- - a
i I T !-
- LN [ |
e e
i I s i
o 4
4
T =
1 - =
— 8l ! .
‘ o ol .f 'I
= A i ¥ {:-’ i I
p— o ' {-410X50 g
o [ e
i Lo ! o
] ; =
= =l =
Y e
LN f—4 '
= nam) A 15, ' 4= -
11 ! & :
| 13
s g1
L=k H i N oy B T o
E¥FA: g (1) Dimensices of opening of task ]

m s TF=lEERY%E (10kV/315A

Dry type Resin bushing outline dimensions ( 10kV/315A)
R < 3016 FEFL F 3

£ H: 0317-3626666

T1]
et I
- .
s M
) i o ¥
.'.‘Ih.—-—Fr.'
S e i '
! fk:: b
e
b L i
¥
5
5
80
f
Lo gpg
%] i
R i
o) #i0

lla:a -

W2X LT3
= =

A HHEA (N)

e (Dimensions) s i istlance -5 |.§
G £ 2Code (Dimensions) Opening  arcing distance creep weight
Number H h2 do hi distance

1 TH.FDA.0D1 BFG-10/315 355 100 72 178 530 W 1.9
2 TH.FDA.002 BFG-10/315 279 62 72 178 530 N 1.8

106 TIANHUA

A H: 13703332099

i i i
') T
. 12
ramr
i
1 £ r
- . X L —
} i
+ Y o r -
e
= T L )
= 1 e £l
s - e
o=t
413

o | [}

m ST

Ptk : www.cnthdg.cn BB :

¥ | 51 .

EERJE (35kV/

Dry type Resin bushing outline dimensions ( 35kV/315A)

- JE- o

315A)

th5689& 163.com

[''H]
4 e
=
=i
| 5 i
ok === 5
i T : ——
= T
L 1 F
7 " _'
et . - LT .
L3 - ﬁ.-;-\l
AN H
! H
I re
L
LI

]

T

=
24

- -
11

Lquence  Code Model Epeing [dizlnes) e I chleld rod  flange '|;h§}'
H h2 h3 Md do h1 mode mode '

1 TH.FHA.005 BFGPW-35/318 580 | 122| 40 | M12x1.75 | 105 375 1256 BAB W S 10.3

2 | THFHA.008 BFGPW-35/315 504 | 84 | 2 | M12x1.75 | 105 | 375 | 1256 | 8&X8&) N S | 103
3 | THFHA.011 |BFGW-35/315| 580 | 122| 40 | M12x1.756 | 105 | 365 | 1256 | 8Xx9:) W P 9.5
4 TH.FHA.012 | BFGW-35/315| 504 | 84 | 2 | M12x1.75 | 105 365 | 1256 89 N P 0.5
5 TH.FHB.001 | BFGW-35/400 ) 610 | 137 | 55 M1G=2 105 365 | 1256 8294 W P 11
6 | TH.FHD.001 | BFGW-35/630| 610 | 137 | 55 | M20=2.5 | 105 | 365 | 1256 | 8Xx9) W P 12
7 TH.FHA.013 | BFGW-35/315| 660 | 122 | 40 | M12=1.75 | 105 445 | 1530 | 10&k11:) W P 10.9
8 | THFHA.014 |BFGW-35/315|584 | 84 | 2 | M12x1.75 | 105 | 445 | 1530 | 10K114 N P | 109

£ BSRmPHRTEREREEN,

TIANHUA 107




FEES

WMERITERBMEEN Change especially electricianoutstanding supplier

B SMEZRT(10~35kV/250~315A)

QOutline dimensions

]

- Lt:.ﬂ"l'
| ﬂ
I."'I.'d"'\-_rl..
lﬁri _qél
] i
i .Il-.n...l
L Ry i
| | e
2 Lozl B
= P e
SR 1 g
- ] e et
- . 5
B ey PR e
R I o
o . Ten [ ]
oo | e
bt | il
i ok — wil
| [] " i
Lt Lt T ] =
~B——fits] | R
o L i
e, 15 E b
o e
' ' ol '
1
. 1l: E5ExEPE
Full protection of sealing ring

108 TIANHUA

g . 0317-3628666 {5H. 0317-3626666

FARFF: 13703332099 [il: www.cnthdg.cn BF#Hi: th5689@ 163.com

e B E AT E AR AN R R E T I
1, FTHUTR L o o T R RO 8 R B R D

70
C=(Vv = 260)X— + 300
53

V—RERhERE, RAEkV:
E‘—ﬁ}ﬁﬁmﬂfﬂlﬁlm+ mﬁmmn
2. PTEER E  E E )  LEER T T B () B
1
1.1 =H=10""
mEECEFGHEEE, R4m
Cp— R i AR IR I R (G B, B {Tmim,

AR ERED DT IR W AR AN, mHiRE
Wi, WeREHETR.

'E'. = O ox

The lightning protection distance can be calculated as follow:

1. Standard lighining protection distance can be calculated by the
lightning impulse withstand voltage as follow.

70
=(y - X— + 300
C=(v - 260) =

V—lightning impulse withstand voltage,unit kV.
C——=3tandard lightning protection distance,unit mm.

2. Modified lightning prolection distance can be calculated by the
altitude of the product installed as follow.

1
E H = c- I —
11 -H=10"
H——the altitude of the product installed, unit m.
Cy—lightning protection distance at altitude, unit mm.,

This method is only used as a preliminary calculation of lightning
protection distance, if any standard can be found, please refer to the
standard calculation,

BN EENEEERIE (10~35kV/250~315A)

Lightning protection bushing outline dimensions ( 10~35kV/250~315A)

e -
Sequence £ S Code & E-Model
Humber

1 TH.EDA.004 | BJLEB-10/315 49 4

HiE TH )
Rt (Dimensions) F¥F. arcing JRE

Opening distance  creep
H d1 dd - d0 h distance

305 | 115 | 48 | 115 | 50~70 | 65 122 320 35

TH.EFA.004 | BJLB-20/315 51 4

365 | 115 | 48 | 115 |s0~120| 65 | 182 | 380 | 3ms:

TH.EFA.008 BJLB-20/315 51 &

375 | 115 | 48 | 115 |50~120| &5 | 192 | 430 | 4

375 | 115 | 48 | 115 | 50~120| 65 192 430 32N

TH.EFA.020 | BJLBW-20/315 | 53 12

375 | 135 | 48 | 115 | 50~120| 65 192 490 IX 2

2
3
4 TH.EFA.016 | BJLBW-20/315 | 51 16
i
6

TH.EFA.024 | BJLB-20/315 53 4

505 | 115 | 48 | 115 [H20~2100 70O 322 550 45 4

f TH.EFA.028 BJLB-20/315 53 18

505 | 135 | 48 | 115 [120~210( 70 322 810 750 4

8 TH.EHA.004 | BJLB-35/315 | 55 4

550 | 175 | 48 | 200 [170~2200 105 | 328 930 7 G

9 TH.EHA.006 | BJLB-35/250 55 8

756 | 175 | 71 | 200 [170~3000 105 447 1160 Qi

E: THEEPRRENNERE &

TIANHUA 109




R -
%ﬁﬁ M BiE: 0317-3628666 fE¥: 0317-3626666
TIANRUA ELECTRIG

METHEITEREMBEN Change eypecially leciricianouistanding supplier

— M
i . + .
T ' Tt
L . —
g iy
S B
s e u

' ¥ty retetel 3kV/250~630A  1KV/250~B30A 10X 105
= e et wmill | (DIN42539) (DIN42530) £ s
e - ; = - Square steel
oS e, 610 :
. -. - & 1 ..'\-'. L I :
S :.:.1--:'.... ! | | wd
I e e oscee B / g
2 ' Il
4 ! d A
= L e I | ] T IF.E'E
- - | T
= g
P 1 _'I'—-_ ) EETD P4
i g

Dimensions of opening of tank

BDINEIFEERY% (1~3kV/250~630A)

DIN standard bushing outline dimensions (1~3kV/250~630A)

FARFF: 13703332099 [il: www.cnthdg.cn BF#Hi: th5689@ 163.com

1 Bl - -
B -
'| ~ 1 rd | ]
I ‘ o
) V. i-edi ~ PO
- = i |-|E_r.-,,-' -
] 1 !
- L . . | |
: 10y 0~ 4500
10 107
Sgmre steel
Bl
. [ = b b P
: pals v e
ot} —-—
—[ 1 r" - .-.‘:-_.' :
1 . D - : fewnit b
.-i:" i . b * [ v
i jrrd =,
TkV/1000~3150A o TR LS el 1000~ 31504 13004
(CHM42530) ] ety E e h &7
1 e | it i B 410 - §
1 ) P i
! ] I T . ‘:,:-" 1., "
= el Pk - .
- iz I L “y/ ! 51 .
FKVA000~45008 |~ et | ] !
(DiN4253) L3 | | -3l
L 10004 200043001

B DINEREERYZE (1~3kV/1000~4500A)

DIN standard bushing outline dimensions (1~3kV/1000~4500A )

FsTDimensions)

8

Hi 1

¥

i - s R =f(Dimensions) -:F- ) d?""ii""l éﬂ;l E ,_..:. ” x.f. ;Fm
a::j::ir;ie Code Madel Suiinlh Piinbee distance Shield ka)
M d d0 h1
i TH.DAA.001 | DIN-1/7250| 2056 | 62.5 | 28.5 | M12x1.75 50 60 50 28 49 | 55 |[1ipg 1
2 TH.DAD.001 | DIN-1/630 | 260 78 43 M20x2.5 70 85 70 45 59 70 1ipgl 2.4
3 |TH.DBA.001|DIN-3/250| 272 | 875 |28.5| Mi2x175 | 75 | 70 | &0 | 39 | 89 | 120 |1m4| 1.5
4 TH.DBED.001| DIN-3/630| 318 | 103 | 43 M20x2.5 91 85 70 45 89 120 [144=) 2.9

d2 I
1 | THOAFGOT | DIN-1/1000 | 322 | 58 | 1T |B~10] M30x2 | 90 | 110 | 90 | 14 | 6060 | 26x26 | 10 |[—| 50 [ 56 57 75 [14pg| 55
2 |THODALOOT | DIN-1/2000 | 404 | 63 | 22 |8--16] M42x3 | 104 | 125 104 | 14 |100x100| S0x40 | 15 |100| 60 | 70 | 5B | 70 [18s| 12
3 |THDAL00T | DIN-1/3150 | 434 | 68 | 27 |8—~16] M48=3 [ 125150 125 | 14 [120x120( 60x40 | 15 {110 60 | 90 [ 57 | 75 |14 165
4 |THOBF0O01 | DIN-3/1000 [ 374 | 78 | 17 |6~10] M30x2 | 110 [ 110| 90 | 14 | €0x60 | 26x26 [ 10 |—| 50 | 56 | 87 | 120 |14%| 6.5
5 |THODBLOOT | DIN-3/2000 | 454 | 83 | 22 |8—~16] M42=3 | 125125104 | 14 [100x100{ 50«40 | 15 [100| 60 | 70 | 89 | 120 144 135
6 |THDBL.001 | DIN-3/3150 | 467 | 88 | 27 |8—16| M48x3 | 143 [ 150 | 125 | 14 [120%120] 60x40 [ 15 | 110 | 60 | 20 [ 88 | 120 14| 18.7
7T | TvoeM.001 | DIN-3/4500 (6025 101 ( 30 |10 zul MS5=3 | 170 [ 160 |——| 18 |150:150] T0xT0 | 20 | 160|100 ) 119 | 95 | 125 |14p4] 335

H: TUERATREMUHERE"R,

110 TIANHUA

H: TREEAERREVWRERE~&.

TIANHUA 111




n
-N-N s
%ﬁ% FHHE IS 0317-3628666 {5H: 0317-3626666 AL 13703332099 Mik: www.cnthdg.cn  BB#fi : th5689&163.com
TIANRUA BLECTRIG
PBEMIESEBEERS change orpocially electricianautatanding spplior ” :
: LT 6 .
U | o 2 v
o > L )
- .I' ...l | u%-g-f t.-rl [
*h T e i B _
1': f ']._,_" ' *' g }:{
= 0405 a1 | EARI g 6-H10X58
Prcetens - ey et W R _ ] 2l40+0. 5 '
I7 | .7 BGIEy | el i 1 = _ '
o T R = o i " | G0N
| R g N i) =
M Sy -+ A [T = 6l @l
| L e | Bt ' TR T TR AT _
R —4—all Ha | P el s
B b B0 A =V 44 | ot W SV il g i R - 3 N A=/ &
"‘i"_"z :f:;j"‘- o] | L) Vel e AT s el i -
- Rhoys | Dol e e e - * ) WS If |
[ = = sFeTy i . 1 .Iu.l:l £ g ) [ 4|
B B e HEE 21320.5 _,:“ J ....*E{ZZ?- 1': ' i ! |
1 r | s _ : T S S0 A =l Ve s "‘" 'l:::u =
f . T BETA 5T s oat of spenisg o e ., A T e g T o '_vh L o N
3 1 & 131058 == U12X65
FE = <3 flf—t‘ 12340, 5 $123~9130
i - o - "I- | A Fha o= I_ @], o]
[] DIN ?E*EE%R‘ % ( 12”36KV)’250M630AEF'-EI E%) ' i 2501 MY 9504 33
. . ) . . ' - e B
DIN standard bushing outline dimensions ( 12~36kV/250~630A Draw-lead type bushing ) u
11 : GoalEd B T T . :
e e #HEFAR T Dimensions of opening of tank
R rDimensions) Fil  arcng
EITEERY EF T
BDINEIREERIE (12~36kV/250~630A . EE
di d2 di h1
DIN standard bushing outline dimensions ( 12~36kV/250~630A Rod type bushin
1 |TH.ODA0OZ | DIN-12/250 | 367 | 250 | 65 | M12x1.75 | 140 | 12 | 74 | 51 | 146 | 70 | 78 | 174 | 300 [20n 42| 5 9 ( ypP g)
2 |THDDD.002 | DIN-12/630 | 400 | 246 | 65 | M20x25 | 150 | 20 | 88 | 60 | 174 | 70 | 92 | 174 | 310 [28n | 7.1 _
) T FsF(Dimensions)
3 |THDFA00Z | DIN-24/250 | 457 | 340 | 80 | M12x1.75 | 145 | 12 | 74 | 51 | 146 | 100 | 78 | 249 | 440 |3fa x| 6.8 o 8E
4 |THOFD.002 | DiN-24/630 | 490 | 336 | 80 | mz0x25 | 160 | 20 | 88 | 60 | 174 | 100 | 92 | 249 | 460 |3 z| 9.3 Number Model > o
5 TH.DGA.0O2 | DIN-36/250 | 55T | 440 g0 M12x1. 75 155 12 T4 51 146 | 200 T8 349 | 610 [49b x| T.8
G TH.DGD.002 DIN-36/630 615 461 100 MZ0x2.5 180 20 a8 G0 174 200 a2 354 G670 dmﬁl‘- 12 1 TH.DDA QDT | DIN-12/250 42? 125 G0 M12x1.75 140 T4 51 146 70 T8 174 300 2$¢ 5.3
7 |THOFAO04 | DIN-24/250 | 457 | 340 | 80 | M12x1.75 | 155 | 12 | 74 | 51 | 148 | 115 | 78 | 249 | 480 |afp | 7.5 2 |TH.DDD.001|DIN-12/630| 475 | 140 | 75 | M20x2.5 | 150 | 88 | 60 | 174 | 70 | 92 | 174 | 310 |28 8
& |THDGA009 | DIN- : 1
DIN-36/250 | 562 | 445 | 80 | M12x1.75 | 190 | 12 | 74 | 51 | 148 | 200 | 78 | 356 | 950 |6# ] 15 3 |TH.DFA.001 [DIN-24/250| 517 | 140 | 60 | m12x1.75| 145 | 74 | 51 | 146 | 100 | 78 | 249 | 440 |agp 4] 7.2
9 |TH.ODGAO11 | DIN-36/250 | 589 | 472 | 80 | Mi2x1.75 | 175 | 12 | 74 | 51 | 148 | 230 | 78 | 374 | 1150 (o x| 20
10 |THDGAO14 | DIN-36/250 | 662 | 545 | 97 | mMi2x1.75 | 190 | 12 | 74 | 51 | 148 | 200 | 78 | 437 | 1030 [ste | 17 4 |TH.DFD.001 (DIN-24/630| 565 | 155 | 75 | M20=25 | 160 | 88 | 60 | 174 | 100 | 92 | 249 | 460 (3544 10.4
11 | THODGA.015 | DIN-36/250 | 557 | 440 | 80 | Mi2x1.75 | 170 | 12 | 74 | 51 | 145 | 200 | 78 | 349 | 720 |59 2| 15 5 |TH.DGA.001 |DIN-36/250| 617 | 140 | 60 | M12x1.75| 155 | 74 | 51 | 146 | 200 | 78 | 349 | 610 |45 45 8.3
12 |TH.DGA.D16 | DIN-36/250 | 662 | 545 | 95 | M12x1.75 | 180 | 12 | 74 | 51 | 145 | 200 | 78 | 439 | 1320 (1190 24 6 |TH.DGD.001|DIN-36/630]| 690 | 175 | 75 | M20x2.5 | 180 | 88 | 60 | 174 | 200 | 92 | 354 | 670 |48 4] 13.5
13 |TH.DGD.003 | DIN-36/630 | 642 | 488 | 100 | m20x2.5 | 175 | 20 | a8 | 60 | 175 | 220 | 92 | 381 | 1100 |9 2| 24 5 617 | 135 | 55 1 74 | 51 200
TH.DGA. 010 | DIM-36/250
14 |TH.DGD.004 | DIN-36/630 | 721 | 542 | 140 | M20x2.5 | 190 | 16 | 74 | 71 | 112 | 200 | 78 | 388 | 1200 [sdh &| 21 M12x1.75 | 190 146 78 | 354 | 950 |6 Gy 12.5

12~36kV/250A(DIN42531)

112 TIANHUA

12~36KkV/G30A(DIN42532)

TIANHUA 113




Pl

METHEITEREMBEN Change eypecially leciricianouistanding supplier

g . 0317-3628666 {5H. 0317-3626666

B HMERT(12~52kV/1000~3150A)

QOutline dimensions

: _ 60 _ .
e %5, 5
1
.'!l_ i L
=24 pot i
W, -y ﬁ.:E 4214 | E‘;%
}_'_" .H.- !
10004
ey EI:HIIIL
1 i:ﬂ"'_f-ﬁi .
g | a8y A& A Direction
o I
I -I . e .
; Niete B Y
e L by 0005
[ el | 'ﬁu:{f_ _ y
';-‘_,- __ -\._: 15 s
e = Y
’ B it 1T fo s ¥ : AN -
: T S-M12X 70
W Ke #dl iz ot
[ d0=133
.‘\-1 sia I i
AR oy bl el T
e Al 1 : [ ] e 0 ol | I
P L) 8l 640 ) 1800.5
o T-. _|:i- i 3 |'.| 1
% 843 )
= e L% R
I 4 i IIIL“IIH.!-::':TD
e 80=115
' (. PPN
Illd = = Fi P W |

114 TIANHUA

Dimensions of opening of tank

214 .

31304

12~36KV/1000~3150A
(DIN42533)

S52KVA000~-3150A
(DIN42534)

FARIEHF: 13703332099 RMik: www.cnthdg.cn

Ei#i: th5689@ 163.com

DIN standard bushing outline dimensions (12~52kV/1000~3150A)

y
Y

Elodel

FEr{Dimensions)

i
il
Opening destar

i

BDINEIFEERIYE (12~52kV/1000~3150A )

3l

h

:::' '.'.'13|;_'|T'|t

(kg

1 TH.DDF.001 | DIN-12/1000| 637 | 175 | 85 | 100 | 10 M30=2 170 ) 108 | 225 | &5 115 | 166 | 340 |28 18
2 |TH.DDJ.OO1 | DIN-12/2000| 737 | 205 | 115 | 120 | 15 M42x3 170 | 131 | 235 | 85 | 135 | 167 | 350 24| 23
3 TH.DDL.OO1 | DIM-1243150| 772 | 295 | 125 | 120 | 15 M4gx3 170 | 131 | 235 | 85 135 | 167 | 350 |24 29
4 |TH.DFF.001 | DIN-24/1000| 722 | 185 | 85 | 100 | 10 M30x2 185 | 108 | 225 | 155 | 115 | 241 | 500 [3@<=| 18
] TH.DFLODT | DIM-24/2000| 822 | 215 | 115 | 120 | 15 Ma2x3 210 | 131 | 235 | 155 | 135 | 242 | 500 |3fqs=| 29
6 |TH.DFL.001 | DIN-24/3150| 857 | 225 | 125 | 120 | 15 Magx=3 210 | 131 | 235 | 155 | 135 | 242 | 500 (3| 33
T TH.DGF.001| DIN-36/1000) 852 | 210 | 85 | 100 | 10 M30x2 175 | 108 | 225 | 220 | 115 | 346 | 640 (4| 22
8 |TH.DGJ.001|DIN-36/2000] 952 | 240 | 115 | 120 | 15 M42x3 230 | 131 | 235 | 220 | 135 | 347 | 750 (48] 35
g TH.DGL.001| DIN-36/3150 | 98T | 250 | 125 | 120 15 Mdgx3 230 | 131 | 236 | 220 | 135 | 347 | TR0 (45| 40
10 |TH.DJF.001 | DIN-52/1000| 1012 | 280 | 100 | 120 | 10 M30x2 250 | 131 | — | —— | 135 | 432 | 950 |G| 36
11 |TH.DJJ.0O1 | DIN-52/2000| 1112 | 310 | 130 | 120 | 15 Ma2x3 | 250 | 131 | — | — | 135 | 432 | 950 || 45
12 |TH.DJL.001 | DIN-52/3150] 1147 | 320 | 140 | 120 | 15 M48x3 250 | 131 | — | —— | 135 | 432 | 950 |G| 50

E: THESEPRREVNNERE &,

TIANHUA 115




R

ﬁ@ ﬁ i BiE: 0317-3628666 fEIL: 0317-3626666
TIANRAVA ELECTRIG
HEHEIEKBHEEMN Chongo especially elociricianoutstanding supplier

FARFF: 13703332099 [il: www.cnthdg.cn BF#Hi: th5689@ 163.com

811.5
j }- 1..-..._. I
-0 Siee #46
.. 4-813 i i d iy
(' I S T [ormd
| | i
¢fi':| I | = - 7 Eﬂﬂ?
& = = . aarthing Lerminal
ED, HIPNHP N U = RIS a2
H= HHEED ! ! it _ . o — i
T L - - bl s oy
& 1 AR (Wopias: T
i l | S " i : . i 2 v.'- :-. ; dg. .ab.; 36
= =k 2] L= --F.J..?d]r o5 N E%] e g '
T o e o = M12x1.75
o3 Ul 1 6~10 6i3 10 =
e ' ) e HEFART i
= T = 7 T AEfiAT
= O 2 T ., ! vl
r 1 1 L T L) ! 1T 1 y
el M M -
r =
- LY T —
J15~6304 S00A A% ~
1T 1

BANSIEIREERY%E (1kV/315~800A)

ANSI standard bushing outline dimensions(1kV/315~800A)

BANSIETEERYZE (15~27kV/50A)

ANSI standard bushing outline dimensions(15~27kV/50A )

1 2% i
o =] = - R s}H{Dimensions) FI  acing RE E
e e opening distance creep weight

Sequence

] vic istance (ko) A _ _ = .
Number Code Maodel - ) E— T distance (kgq) [ £ 78 R s}{Dimensions) ﬁ:;{:g?[_‘ 6 % B
Sequence = BElles || clebp . waight
1 TH.MAA 001 | ANSI-1/315| 155 | 84 33 [M12=1.75| 48| ©14 | 335 3 36.5 | 30 35 | 0.45 HisnEar Model = g = distance  shield '-'.l-".[.‘,l;::
2 | TH.MAB.001 | ANSI-1/400| 204 | 107 | 53 | M16x2 | 92| ¢24 | 68 5 71 a8 | 50 | 1.5 ) ST T i vy o = s o .
S Bhimeiciiod] Fotducsodinso Biell Wil I o0 o o] B i [y : A Bl B 2 TH.MFA.001 ANSI-18/50 541 184 101 214 480 Bif 3.5
4 TH.MAE.001 | ANSI-1/800| 250 | 107 53 | M24x1.5 | 92 |[4=P13| 68 5 71 38 50 2.9 3 TH MEALOD1 ANSI-27/50 e o i ” i =y :

E: MTHEEFBRENNERESE.

116 TIANHUA

iE: THIEEPRRENRERE .

TIANHUA 117




REES

TIANHUA ELECTRIC

METHEITEREMBEN Change eypecially leciricianouistanding supplier

g . 0317-3628666 {5H. 0317-3626666

B sRT(1~3kV/200~3150A)

QOutline dimensions

A
L e
I +.'_-i'...‘:... ‘:”.'--'i"_h ) g-d]
= AT BT e
Vo e
= =] i .:H:" S I |
) < #dd
i i
i o
= __ __‘ 1[:1
B
1 1 L 1|
2500~3150A

118 TIANHUA

et

-

L

-I—'F_ -'\-lll-
fed | Lq

k| ."'
s $< b
] | P
= [ Tamar
AL X
F 4 &
o <

Yomad | e

J 1 L

T

W
200~2000A

Al A2

A A Direction

A
¢d0
ra
$dd
#dl
e
f~10
= 4EFART
] Dimensions of opening of tank
¢d3
3213
i L H
s
E I
s 1
o= L
g \ Gl
! .
B3

— -

Bl B direction

Ad

FEARZESRF: 13703332099 Mik: www.cnthdg.cn

Ei#i: th5689@ 163.com

BASEITEERYZE (1~3kV/200~3150A )

AS standard bushing outline dimensions (1~3kV/200~3150A)

R sF(Dimensions)

Model
dl d2
1 THGAADDT |AS-1200 (212 93 | 40 | MI10=15 | 51 | @14 | 45 | 3% | BXE | & Al | 58 | 65 [14pg] 0.5
2 TH.GAADDZ | AS-1/315 (212 93 | 40 | M12=1.75 | 51 | P4 | 45 | 39 | 2x25 | & Al | 58 | &5 |1 0.6
3 | TH.GBAODT |AS-3315 |279| 116 | 44 | MI2x1.75 | 76 | 914 | 70 | 58 | 3x45 | & Al | 48 | 80 | 95 |1fn) 0.8
4 TH.GBC.001 | AS-3500 (259( 126 | 54 M1G=2 76 | Pid T | 58 | HMx45 | 8 Al 48 | B0 | 95 |18 1
5 |TH.GEBDOO1 |AS-3630 339 151 | 68 | M20=25 | 96 | @14 | 99 | &80 | 51X55 |10 Al | 72 | 80 | 90 |1ipfx) 1.5
3 TH.GEFO01 |AS-31000(350| 171 | 88 | M24=15 | 96 | @14 | 99 | 80 | S51X55 |14 Al 72 | B0 | %0 (18| 1.5
7 | THGBG.OD1 |AS-31250 |404 | 216 | 135 | M33=15 | 96 | @22 | %9 | 80 | 51456 |15 A | 72 | B0 | %0 [14Rd| 18
8 |THGBJOO |AS-32000|479| 232 | 127 | M36x2 | 127 [4XD14| 108 | f0 | 100100 | 14 Az | 80 | 80 | 110 |19 2.5
8 | TH.GBK.OD1 |AS-3/2500 | 569| 293 | 188 | M45=2 | 142 [2X@22| 123 | 105 | 64x130 | 16| 20 | 35 | A2 | 95 | 70 | 120 14| 3.5
10 | TH.GBL.ODT |AS-33150 | 560 203 | 188 | Md8x2 | 142 [2XD22| 123 | 105 | S4=130 |14 248 | 38 | A2 | o5 | 79 | 120 [1fhz] 4

E: THIERPFPRREWNCRES &,

TIANHUA 119




g . 0317-3628666 {5H. 0317-3626666

3
|:'=||:;__|
FEH=
TIANHUA ELECTRIG
METHEITEREMBEN Change eypecially leciricianouistanding supplier

B SR T(12~36kV/315~630A)

QOutline dimensions

A - bl

! 014
i
AN . ¢
= -
i B% e ! b
"_"-". ____ -- ":"_.- '1_|':':|
' | A Direction
= TR 6l
== 6~10
1 ,:: (2,
I s _T-'-‘.": ..'-...-.'-." .l
A | [ 0
<ol K 0as p
[ |
—
| |.. . ‘r’
l 'I;.".-_:-\]-__._l.:ah'i-'
o P
= (| AEMTILATY
| S B . Dimensions of opening of tank

Md

120 TIANHUA

FEARZESRF: 13703332099 Mik: www.cnthdg.cn

RHiDimansions)

BASEITEERY%E (12~36kV/315~630A)

AS standard bushing outline dimensions (12~36kV/315~630A)

Ei#i: th5689@ 163.com

Model
Md
1 TH.GDA.001 AS-12/315 | 420 | 173 | 49 | M12%1.75 | 108 | 83 | 486 | 32x36 60 |17 [ 280 | 344 4
2 TH.GDA.002 AS-12/315 | 425|172 | 48 | M12x1.75 | 108 | 83 | 73 | 39x42 50 | 169 | 275 | 34 4
3 TH.GDC.001 AS-12/500 | 430 | 177 | 53 | M16x2 | 108 | 83 | 73 | 39ma2 60 | 169 | 275 | 3% 4
4 TH.GFA.001 AS-24/315 | 465 | 171 | 47 | M12x1.75 | 108 | 83 | 73 | 39xa42 50 | 210 | 355 | 4 | 45
5 TH.GFA.002 AS-24/315 | 505 | 170 | 46 | M12=1.75 | 108 | 83 | 73 | 39ma2 80 | 251 | 435 | s 5
6 TH.GFA.003 AS-24/315 | 460 | 172 | 48 | M12%1.75 | 108 | 83 | 45 | 32x38 50 | 212 [ 3v0 | a4 | 45
7 TH.GFA.004 AS-24/3156 | 500 | 171 | 47 | M12x1.75 | 108 | 83 | 46 | 32x36 80 | 253 | 420 | sipsg 5
8 TH.GFC.001 AS-24/500 470|176 | 52 | Mi16x2 | 108 | 83 | 73 | 39x42 60 | 210 | 355 | a4 | 45
9 TH.GFC.002 AS-24/500 | 510 | 175 | 51 | M16x2 | 108 | 83 | 73 | 39maz 60 | 251 | 435 | s 5
10 TH.GGA.001 AS-36/315 | 593|219 | 58 | M12x1.75 | 127 | 102 | %0 | 3ax40 g0 | 292 | 470 | Ssi &
11 TH.GGA.002 AS-36/315 | 683 | 217 | 56 | M12x1.75 | 127 | 102 | 90 | 38x40 g0 | 384 | M5 | oM 8
12 TH.GGA.003 AS-I61315 T3 | 283 | 55 | M12=x1.75 | 150 | 133 | 103 | 38X40 B8 | 398 | 90 T 7
13 TH.GGC.001 AS-36/500 o998 | 224 | 63 MiGx2 | 127 | 102 | 90 | 384D B0 | 292 | 470 Sip s &
14 TH.GGC.002 AS-36/500 | 688 |222| 61 | MI6x2 | 127 | 102 | %0 | 38xd0 80 | 384 | M5 | SR 8
15 TH.GGC.003 AS-36/500 768 | 288 | 60 | M16x2 | 150 | 133 [ 103 | 3840 98 | 398 | M0 Tip 42 7
16 TH.GGD.001 AS-36/630 | 603|220 68 | M20=x25 | 127 | 102 | 90 | 38x40 80 | 202 | 470 Sip g &
17 TH.GGD.002 AS-36/630 | 693|227 | 66 | M20x25 | 127 | 102 | 90 | 3840 80 | 284 [ 15 ol g
18 TH.GGD.003 AS-36/630 | 773 | 293 | 65 | M20=25 | 159 | 133 | 103 | 38xd40 98 | 398 | ™0 TG 7

E: THEEARRENRERE .

TIANHUA 121




RS

HUMIESHERE change oipocially olectricianautsitanding supplier

Md
A | -
|
sy 1 g
1 - i 1
H 1.F . = 1‘[}
Hh 2 . ey R 23 e
-.;.:.:.-\. ﬂ..._._'!.\.- i g -\_..l_:.|5.|
red AT, Bl bt
et _,: = 2 -
= el o
‘r"" '."l" - - :l o Frm s
g - ey ] LB L e
e % ¥ —p e B
-:u:-- __.-_j- r“'".._ ﬂ%-’:_:'ﬂ-
e ok =i I
oy e I#I{“ i 252
By .-. & = ]
_ 1 i 1 _ — af
4t o | = L L
G A !
W et S o .
||'=|.-|-l ’ p...=; ' a ::'1._. o
i %yt ] I | S
= - b~10 :
1 ' :
k= o W
I < I T 12 =
‘ M12X1, 75 i
—_—— 2 ——

B ZIEEBR Y% (35kV/100A)

R IE

MI2X1. 75

Wall bushing outline dimensions(35kV/100A)

5
S{: LIRS
Humhﬁr

£ SCode

# EModel
hd

d1

d3

Wounting flange dimensions

R (Dimensions)

ds

A Direction

3=

b
d3
@l

(Equipped by user)

i 2
Fil

: 0317-3628666 {§H: 0317-3626666

F30

L arcing [E&
opening distance creep

distance

g
shield

35KV ~ih 3§

i
weight
(kg)

1 TH.QHA.001 | BCW-35/100 [ 960|400 45 210|140|210| 255 12 | 150 | 436 | 1380 |7%6/| 30
2 TH.QHA.002 | BCW-35/100 [ 976|400| 45 | M16=2| 210| 140|210 | 255 150 | 436 | 1380 |76« 30
3 TH.QHA.003 | BCW-35/100 (1086 495 | 45 | M16=2 | 210100170215 105 | 451 | 1210 |6k5)| 27

F: THESPERERN RS,

122 TIANHUA

www.cnthdg.cn BB#f: th5689@ 163.com

FAESF: 13703332099 Rk
o
.
yny,
g | B
' ki B
= TR il
N n
L [
I | :..?" I
F- '
5 I I = =
BRARF

W g EERYE (1kV/315~630A)

Wafer type bushing outline dimensions(1kV/315~630A)

.......

gl
f~10
.
I
0y ]
b
i
-y .
-
h ! d
(.
K -
4
Dimensions of opeaing of ftamk

mE Fa o

quifﬁm £ 2Code D cirinihg distance Eﬁn

Humbaer h3 Md d1 4o h1 distances
1 TH.A8A TO1 BFA-1/315 155 | 40 25 [M12x1.75 56 | 65 | 55 | —— 30 53 65 1) 0.4
2 | THAAB701 | BFA-1/400 [180| 50 | 35 | M16x2 | 76 | 95 | 80 |—| 50 | 53 | 75 [1ms| 1.1
3 | THAAD.701 | BFA-1/630 [180| 50 | 35 |M20x25| 76 | 95 | 80 [——| 50 | 83 | 75 |14 1.2
4 | THAAATS1 | BFD-1/315 [153| 60 | 30 [M12x1.75| 54 | 65 | 55 [®14| 30 | 40 | 45 |1m%| 05
5 | THAAB751 | BFD-1/400 [183| 74 | 44 | M16=2 | 75 | 95 | 80 [@20| 50 | 40 | 45 |1mg| 1.2
6 |THAAD.751 | BFD-1/630 [191| 76 | 46 |M20x25| 75 | 95 | 80 |®24| 50 | 40 | 45 |1m%| 1.3

e THIEREASRENRE RG>,

TIANHUA 123




3

ﬁ% ﬁ i BiE: 0317-3628666 fEIL: 0317-3626666
TIANRUA ELEGCTRIG
METHEITEREMBEN Change eypecially leciricianouistanding supplier

N Bl

Woare W10, 53T
1 ars TE ML), 001

]
i

=i -
1 1 am - y "',
NI : -:__J_‘ B WU-12 5% %90
fe %o TEL ML, )
- I] = - i) _ LB 1
A M
N ) 2w T ' iy
£lh ! i L &
Number
1 TH.YAB.001 SM-20 20 5 17 15 MG x 8 1
2 TH.YAB.002 SM-25 25 & 19 15 ME x 8 1
3 TH.YAD.001 SM-30 30 10 32 27 MEx 10 1
4 TH.YAD.002 SM-35 35 10 32 28 MEx10 1
5 TH.YAD.00D3 SM-40 40 10 40 a3 MBx 10 1
G TH.YAD.004 SM-50 S0 12 a5 29 M10x15 5
7 TH.YBE.OD1 SM-60 60 13 46 a4 M10x 15 5
a8 TH.YBE.OD2 SM-75 75 15 a0 35 M10x 15 5
] TH.YAD.005 SM=-T100x35 as 7 33 26 MBGx 8 1
10 TH.YAD.006 SM-7105x38 38 10 33 27 ME x & 1
11 TH.YAE.001 SM-T110x45 45 10 42 az M&x 10 1
12 TH.YAE.002 SM-7120x50 50 12 46 as M10x 15 &
13 TH.YBF.001 SM-7120x52 52 12 52 42 M10x15 5
14 TH.¥BF.002 SM-7120x= 60 60 12 54 40 M10x15 5

#F: THEEABERXEUNEHRBRES.
124 TIANHUA

FEARZESRF: 13703332099 Mik: www.cnthdg.cn

B BT

Ei#i: th5689@ 163.com

MNS & 5
vy | BE RE &R e

DD xL s I.I -.::1?: c:ﬂ.‘?‘ Usrbrela

1 TH.YAB. QD3 & 20w 30 ME = B 1 1 TH.YAD.QD9| ©40x30 | M10x10 1 1 0
2 TH.Y AC. 001 30 x25 ME x B 1 2 TH.YAD.D10| $40x40 |M10x 10 1 1 80
3 |TH.YAC.002 | $30x30 | MB8x10 1 3 TH.YAD.O11| ¢40x50 [M10x15| 5 2 80
4 | TH.YAC.003 | 4$30=x40 | M8x10 1 4 TH.YBD.004| 4$40x60 |M10x15| 5 2 105
5 TH.YAD.0O7 2d0x40 [M10x10 1 5 TH.YAE.0Q05| 450x50 | M10x15 5 2 115
6 |TH.YAD.008 | $40x50 |M10x15| 5 [ TH.YBE.OO8| ¢50x60 |[M10x15| 5 2 125
Fi TH.¥ED.001 A0 =80 [M10x15 2 7 TH.YBF.009 | 460x60 | M12x15 5 2 135
8 TH.¥BD.0D2 2d40=xT0 | M10x15| 10 B TH.YBF.0O10 | $60x70 [M12x15 5 2 150
9 TH.YBD.0D3 a0 =80 [MI0=20| 10 9 TH.YBF.011| ¢60x80 [ M12x20 10 4 170
10 | TH.YAE.QD03 250x50 |[M1DOx15| 10 10 TH.YBF.012 | $60=x90 [ M12x20 10 4 185
11 | TH.YBE.OO4 | $50x60 |M10x15| 10 11 TH.YBF.013 | $60x 100 M12x 20| 10 4 200
12 | TH.YAF.001 | $60x40 [Mi2x10| 10 12 | TH.YCF.002| $60x120|M12x20| 10 5 220
13 | TH.YAF.Q02 d60x50 |MI12x15| 10 13 THYCF.003 | ¢60x 130 M12x 20 10 5 250
14 | TH.YBF.003 | $60x60 |Mi12x15| 10 14 | TH.YCG.001| ¢ 70130 | M12x20]| 15 8 290
15 | TH.YBF.004 B0 | MI2x15| 10 15 THYCG.002| 4 70x 140 M12 % 20 i5 8 300
16 | TH.YEBF.005 26080 [M12x20| 10 16 TH.YCH.001| $480x130|M16x 25| 20 T 280
17 | TH.YBF.006 26030 [MI12x20( 10 17 TH.YCH.OD2| $80x 140 M16x 25| 20 T 310
18 | TH.YBF.007 | $60x100 | M12x20| 10 18 | TH.YFH.001 | $80=x300| M16x25| 35 9 425
19 | TH.YCF.001 FE0x120 | MiGx25] 10 19 TH.YGH. 001 $80=320 M1G6x 25| 35 9 450
20 TH.YGH.002| OO0 < 350| M16x 25| 35 17 T20

E: THAREARREURERBE. 21 TH.¥YJJOD1 | OBS <430\ M16=x 20| 35 31 1180

TIANHUA 125




—

SRS

TIANHUA BLECTRIG

HUMIESHERE change oipocially olectricianautsitanding supplier

B ER5F

ol
Bl

-

6

I EIE: 0317-3628666 {f§¥H: 0317-3626666

@47
2-921

b2

—

]

]
kst |

A H: 13703332099

N ER5TF

Fa4k: www.cnthdg.cn BB#f: th5689@163.com

i

#dl

! AT

¥r
Al
shnckir

L BEDISNY

o 3 3 4L B 4 T
BB F3 jr Wy LMWMREE sR=ssnmnE kLT rrt &
BEW EW BME HE BE smooowme faowwhke | w9 B
Croopagn  Anng Hosgh  Deamoior  Canthinge F M B 0 Ed iRt it
detnnon dEtneD [mm ) ofshedd stongh i - " '.,I'_:___" e ""Jﬂ_l 2 vaHCing
[ e ) [ Frea ) | rem ) [kN ] i E{:}' | ';1"1:,31? '::Iﬁ‘? r"'l"iﬂ"j o
TH.YEQ.001| 57-1 356 | 165 | 229 | 146 | 125 | 70 | 50 | 120 | 155 | 15 | 100 | 5.2
TH.¥YGR.001| 57-2 559 | 241 305 | 154 | 12.5 100 70 160 | 205 22 100 | 9.0
TH.YHS.001| 57=3 Ta7 311 381 165 12.5 125 95 200 260 30 200 | 11.0
TH.XJT.001| 57-4 1016 | 368 432 | 178 | 125 | 140 | 110 | 230 | 340 44 200 18
TH.YLU.001| 57-5 1143 | 438 508 | 184 | 125 | 160 | 130 | 265 | 380 44 200 18

F 5 f: B 5

o ek Code Model
1 TH.YBK.001 ED-1 a0 458 100 9% 20 22 12
2 TH.YBH.001 ED=-2 75 38 B0 Fi 42 20 10
3 TH.YBG.001 ED=3 65 34 70 G5 36 16 i
o TH.YAF.004 ED-4 50 26 G0 55 a0 16 (]

) ]

1 TH.YE.J.001 EX-1 a0 45 85 55 2 12
2 TH.YBGE.002 EX-2 i 37.5 TO 45 20 10
3 TH.YBG.003 EX-3 65 325 G5 40 16 B8
o TH.YAF.00% EX=4 50 25 55 35 16 (-]

126 TIANHUA

TIANHUA 127




 SRIEES

TIANHUA BLECTRIG

HUMIESHERE change oipocially olectricianautsitanding supplier

B 10~66kVPIMERESZRHESF

I EIE: 0317-3628666 {f§¥H: 0317-3626666

FE:HEEEEE  Main performance parameters
1 0~66 KV 5 5 3 HE 48 % F

B

U

i« =
Coda

¥Rt
e

Standand

B

Mo

& =

Frung

B E

We AW
i A

Rated Canbboeor Torsional Croop

YN

ki

1 S
iy MEhE R
(o5 v = O

nd-d2

#0

=1 lay

IMT IR

EE miE &

i codo TS i T T e

1 TH.YEP.001 C3301 ZS5-10/5L 1 10 5 230 75 40 28 6
2 TH.YEP.002 3302 Z25-10/4 2 10 4 230 75 40 28 6

3 TH.YGT.001 C3303 Z5-20/10 4 20 10 400 150 75 50 18
4 TH.YGS.001 3304 Z5-20/8 3 20 8 400 150 75 50 14.5
5 TH.YGS.002 C3305 25-20/8 3 20 g 400 150 75 50 14.5
& TH.YGU.001 C3306 Z5-20/16 4 20 16 470 150 75 50 20
7 TH.YHW. 001 C3307 Z25-20030 4 20 a0 470 150 75 S0 32
8 TH.YJW.001 C3308 |ZS-20/30-G| 4 20 30 £75 170 100 70 326
9 TH.YHW.002 C3309 |ZY-200200K| 5 20 20 400 150 75 50 31 |RE20xN
10 TH.¥YJS.001 C3310 Z5-35/6L 6 35 & 3 648 170 100 70 17
11 TH.YJS.002 C33n Z5-35/8 4 35 8 2 625 170 100 70 16
12 TH.YJQ.001 C3312 | ZS-35/4K 5 35 4 1.2 648 170 100 70 12

128 TIANHUA

W 10~66kVPIMERSZHB LS F

FTER~ Qutline dimensions
10~66kVF 5h i e % &F b 4 F

A H: 13703332099

Fa4k: www.cnthdg.cn BB#f: th5689@163.com

nl-dl

b

i ik T3l LB T
HFB 8 g8, o EE &K — E—
1 TH.YEP.001 | C3301 | 220 [140] 125 | 2 | 10 | 386 2-M8 15 ©55 | 4-M10 | #HiligeR
2 TH.YEP.002 | C3302 | 210 | 140 | 123 2 10 | 36 2-M8 12 130 | 2-912 o B
3 TH.YGT.001 | C3303 350 [ 180 ]| 224 | 4 | 15 |o140]  4-mi2 20 | ©210 | 4-018 | #HilgR
4 TH.YGS.001 | C3304 | 350 | 165 | 217 4 15 | 76 |2-M12 (BM16) 14 @180 | 4-014 | F2Hohs
5 THYGS.002 | C3305 | 350 | 165 | 217 4 15 76 [2-M12 (hmig)| 14 D180 | 4-014 |FE2HHEBNE
6 TH.YGU.001 | c3306 | 350 | 190] 218 | 5 | 15 |®140]  4-m12 20 | @210 | 4-d18 | iR
7 TH.YHW.001 | C3307 | 400 | 205 | 222 5 15 [P 4'I:I| 4-M12 25 250 | 4-18 ﬁ;@ﬁ:ﬁg’;
8 TH.YJW.001 | c3308 | 450 (205 | 272 | 5 | 15 |o140]  4-m12 25 | o225 | 4018 | #Wiligw
g THYHW.002 | C3309 | 370 | 210 | 206 4 20 |DP225 4-D18 20 225 | 4-918 T il gz fis
10 TH.YJS.001 | c3310 |420 | 165 308 | 7 | 15 |®140]  4-m12 15| @140 | 4-M12 | wiligeRe
11 TH.¥JS.002 | ¢3311 |4z0 | 165 306 | & | 15 [®140]  4.m12 14 | @210 | 4-014 il g T
12 TH.YJQ.001 | c3312 | 420|150 300 | 7 | 12 [®140]  4-014 14| @140 | 4-014 | wiligR

TIANHUA 129




B D TiE&inF

RS

PBEMIESMHERS Change otpecially electricianoutstanding supplior

DT&& % T

DT connecting terminals

28

hodal

DT Es 38 F

Rt (Dimensions )

L

Specification mark

I EIE: 0317-3628666 {f§¥H: 0317-3626666

1 8TH.053.031 DT-16 8.5 10 G 68 28 16
2 8TH.053.032 DT-25 8.5 11 7 Fit 34 18
3 8TH.053.033 DT-35 10 12 8.5 80 36 20
4 8TH.053.034 DT-50 10 14 10 a0 40 23
5 ATH.053.035 DT-70 12 16 11.5 a5 42 26
6 8TH.053.036 DT-95 12 18 13.5 105 46 28
7 BTH.053.037 DT-120 14 20 15 112 48 30
8 8TH.053.038 DT-150 14 22 16.5 120 50 34
2] 8TH.053.039 DT-185 17 25 18.5 126 55 ar
10 8TH.053.040 DT-240 17 27 21 136 60 40
11 8TH.053.041 DT-300 17 az 23 160 G0 50
12 8TH.053.042 DT-400 21 34 26 168 65 50
13 8TH.053.043 DT-500 21 38 29 190 75 60
14 8TH.053.044 DT-630 45 35 220 85 80
15 B8TH.053.045 DT-800 50 38 260 a5 100

130 TIANHUA

FTAESF: 13703332099 MiE: www.cnthdg.cn BB#fi: th5689@163.com

B EIJREIRY®

d3
d2
d1
RS [ A 1
' H2
R H1
B2 B1 LR, |- L. .' H3
— F . Rﬁ- |
2 1

A& b1 @2 i N 2 M3

dz2 d3 g 3
1 8TH.050.031 18 38 48 10 15 30 20 25
2 8TH.050.032 24 44 54 10 15 30 20 25
3 8TH.050.033 34 54 65 10 15 30 20 25
4 8TH.050.034 45 B5 75 10 15 31 20 26
5 8TH.050.035 B0 B0 a0 10 15 32 20 27
B 8TH.050.036 40 ] 70 10 15 31 20 26
i 8TH.050.037 B2 a2 a2 10 15 32 20 27
8 8TH.050.038 57 7 87 10 15 a2 20 27
g 8TH.D50.039 67 a7 a7 10 15 32 20 27
10 8TH.050.040 47 67 77 10 15 31 20 26
11 8TH.050.041 32 He 62 10 15 30 20 25
12 BTH.050.042 36 56 66 10 15 30 20 25
13 8TH.050.043 52 72 82 10 15 32 20 27
14 8TH.050.044 a0 100 110 10 15 33 20 28
15 8TH.050.045 93 113 123 10 15 34 20 259
16 8TH.050.046 122 142 152 10 15 36 20 31
E: TREEARREMRTRETS.
TIANHUA 131




L
*m .q it iE: 0317-3628666 {&J: 0317-3626666
TMANKUA BLECTRIG

METHETWEEEN Change sypecially eloctricianoutstanding suppliers

XERS

TIANHUA ELECTRIC

BT B, mREIEXRE

—

. —
L IFED

= - -

1
l |
\ . |
1 - " |
= : I |

= .d:-h,, | 5=
.
r

LITiE © " BARENEEES,
M EERSERESHESIFRER.

Ta creata “inlernational quality, excallanca® businass philosaphy for
e company. Ahsays riady 1o working with
YU B win—win cooparalion.

132 TIANHUA




